EEEED 023/1/5

) =f E—28 E—o8 E—o8
= i I R | R | XEe Ve wsiw | 7 wsim | ° wisiw
R (AE) =8 & RE AR % [ REGRE) | JAL 69% | 23900 | 67% | 21700 70
E A/RAC] 704 | 30400 | 58%
RRPE) =5RE RRPE SR | bl GBH) JTA/RAC| HNDOKA | OKAISG | 70" 71
INDKIX 57% 60%
EIESE : 71 60%
KER (B =& BH KR (D % 7 67% 69%
ESEIED 70% 68%
ED 694 65%
KBk (BAT) = &A1 KBk (BA) ¢ 69% 67%
VIS 70% 69%
KR (B =)l PG 66% 69%
HB)11 % 69% 68%
KB (BAEE) =)l KB (BAFE) % 69% 69%
FEES 69% 69%
KR (51 =HlEE KR (B % 69% 69%
FIEE 0% 68%
K (BA7E) =HlE& KB (BAFE) % 72% 68%
FIEEY 0% 69%
KR (BFD PXAGIE 68% 69%
iR 65% 67%
KBk (BAE) KB (BAF) % 1% 68%
iR 65% 68%
KR (BFD KR (D % HNDHKD |22, 67% 64% 64%
EREESE HNDITM | 29300 | 56% 634 59%
ESACT) KR (BAFE) 5 HNDHKD| 21,900 | 67% | 24400 | 63% | 22100  67% | 24800  63% | 22400  66%
) HNDKIX | 28500 57% | 24200 64 | 24600 _63% | 26500 60% | 23100 654
KR (FRH % HNDMSJ| 19,700 69% 19,900 69% 19,500 70% 18,300 715 22,400 65%
7 19600 | 69% | 25500 | 60% | 21000 | 675 | 20400 68% | 21,300 674
17900 724 | 18800 | 7i% | 18,700 | 715 | 19200 705 | 22100 654
18800 71% | 23100 | 64% | 19200 | 70v | 19500 705 | 18900 704
15900 | 59% | 15900 | 59% | 15900 | 59% | 15900 59% | 15300 | 6i%
16,100 59% | 16,100 | 59% | 16,100 | 59% | 16100 59% | 16100 594
22000 | 55% | 22000 | 55% | 22000 | 55v | 22000 55% | 22000 554
24000 515 | 24000 | 51% | 24000 | 515 | 24000 51% | 24000 | 5i%
20500 | 68% | 23,000 | 64% | 24000 | 628 | 22700 64% | 21.400 664
26000 59% | 23400 | 63% | 21800 | 66% | 20100 54% | 24000 624
K (B 21400  66% | 25900  50% | 33700 475 | 22300  65% | 24500  62%
33700 475 | 23800 | 63% | 23800 | 63y | 28700 55% | 33700 474
R (G =RE [21800  69% | 24100 664 | 24,100 6% | 24100 664 | 22600 684 |
26000 63% | 20900 | 70% | 20900 | _70v | 28900 _ 59% | 24000 664
K (BOE) 23500  67% | 29500 | 58% | 34200 5% | 22300 ~ 68% | 25400 | 64%
31700 55% | 24700 | 65% | 24700 | 5% | 29200 59% | 34200 524
ZEE (P8 = ZA5 7900 | 75% | 22700 68 | 31,100 57 | 23000 | 68% | 22700 684 |
24200 664 | 20400 | 59% | 25800 | 64% | 26700 634 | 31,900 564
2ER(PH) =BT 23400 66% | 21600  69% | 35700  48% | 23000 675 | 22500  68%
32900 53 | 33400 | 524 | 35000 49 | 35700 48n
EHR(PH) =FE 22700 704 35900 634 24400 684 23700 694
32900 57% | 33400 | 564 | 35000 54 | 35900 5%
21800 | 59% | 24900 | 64% | 23500 | 66% | 23500 66% | 26400 | 6i%
19000 728 | 25300 | 63% | 27,700 | 598 | 21,300 | 69% | 24700 644
R B ) =Bl [ 32800 58% | 31700 60v | 30900 61% | 30900 6i% | 32700 584 |
27000 664 | 32800 | 58% | 32800 | 58% | 29800 624 | 31,000 604
ARFTFR =L 33600  58% | 33600 | 58% | 33200  58% | 32800  59% | 33600 _ 58%
28800 64% | 33600 | 58% | 33600 | 58% | 31700 60% | 32900 584
ARFFR) = WOFH SPKHND | HNDUBJ| 33,900 _ 60% | 31,200  63% | 30300  64% | 32100  62% | 31,800  62%
UBJHND [ HNDSPK| 27,900 675 | 30200 64% | 32400 61% | 20100 654 | 20100 _65%
HARFFR SPKHND| HNDIZO | 31,500 _ 59% | 31,500  59% | 31,500  59% | 31,500  59% | 31,600  59%
IZOHND [ HNDSPK| 31,200 | 594 | 31500 59% | 31,500 59% | 31500 _59% | 31,500 | 59%
HIEGEFR) =K SPKHND | HNDOIT | 35200 | 59% 30700 64% 32000 624 29800 654 35200 504
OITHND [ HNDSPK| 33,300 | 61% | 32400 625 | 35200 59 | 28,700 665 | 32800 | 6%
ARFFR = K5 SPKHND |HNDNGS| 35100 _ 61% | 32500  64% | 32700  63% | 20400  67% | 33500  62%
NGSHND| HNDSPK| 34900 61% | 31,200 65% | 34100 624 | 27600 69 | 32600 634
ARFFR =K SPKHND |HNDKMJ| 35500 _ 59% | 31,900  63% | 31700  63% | 30200  65% | 35300  59%
KMJHND [ HNDSPK| 33.200 | 62 | 32000 63% | 36100 | 58% | 27600 684 | 31800 631
ARFFR =28 SPKHND | HNDKMI | 34,300 _ 60% | 31,900  63% | 31,000  64% | 20,800  66% | 34500  60%
KMIHND [ HNDSPK | 33800 | 61% | 30800 64y | 04700 _ 60v | 27900 8% | 32800 | 62%
ARFTR =ERE SPKHND | HNDKOJ| 33,100 _ 63% | 32500  64% | 33200  63% | 30.100  66% | 35300  60%
BRES KOJHND | HNDSPK | 34900 61% | 31100 65% | 35500 | 60% | 28700 68% | 33600 628
ARG =R GBR) | AR FFR) % | 8 SPKHND [HNDOKA| 34500 624 | 31600 | 66% | 34700 628 | 31,000 664 | 32000 | 65% |
SPKFUK | FUKOKA | 38700 | 60% | 30500 69% | 33500 65% | 26900 | 72% | 35800 634
EXIE O OKAHND | HNDSPK| 37400  50% | 32900 ' 64% | 33800  63% | 20200  68% | 35200 G625
OKAKIX | KIXSPK | 25500 | 73% | 20900 |78y | 28800 69% | 21,600 __77% | 37000 608
OKAFUK| FUKSPK | 32,100 67% | 27,700 715 | 35800 | 63% | 26300 734 | 34800 648
HEGEFR) =FE SPKHND | HNDISG | 47600 | 68% 50500 564 51300 55% | 46,600 _ 59% 50300 564
EER ISGHND | HNDSPK | 42,600 63% 51,800 55% 51,900 55% 49,900 56% 51,600 55%
[EEEES T 33800 65% | 34300  G64% | 31400 675 | 31900 | 67%
23400 74% | 31800 | 64% | 21,000 764 | 26700 70
32900 66% | 30000 | 69% | 30300 684 | 31200 68%
24200 73% | 25900 | 71% | 22800 744 | 20300 67
am =R | 32100 66% | 32200  66% | 20700  68% | 31,500  66%
FEIITE 3 32100 _66% | 20600 | 68% | 29500 694 | 30000 68%
am =g | 34200 63% | 32100  66% | 30,100 _ 68% | 33300  G64%
FIEE) 32500 65% | 28500 | 69% | 29300 694 | 30200 _68%
R =®k EiE 32100 32200 65% | 30400 675 | 30,100  68% | 31,100 | 66%
B B | Hi 36500 615 | 33000 | 64% | 32100 | 65v | 30000 68% | 29900 684
BE=EE EEE [ BE FUKHND | HNDHKD | 32,200 62% 33,700 60% 32,500 61% 30,600 64% 29,900 64%
FUKITM | ITMHKD | 22800 | 70% | 25400 | 66% | 29400 61% | 24600 675 | 24400 67
e HKDHND | HNDFUK| 35300 | 58% | 32900 615 | 31400 | 63% | 32400 | 61% | 30500 648
HKDITM | ITMFUK | 29400 | 61% | 25400 66% | 23900 68% | 24500 675 | 28500 | 62%
E e FUKHND [HNDAOJ| 23000 | 725 | 23800 71% | 23800 715 | 23800 | 71% | 23000 724
FUKITM | ITMAOJ | 16,300 | 77% | 21400 | 70v | 22600 69% | 21,900 705 | 21400 708
5 CRE AOJHND | HNDFUK | 23000 724 | 23800 | 71% | 23800 715 | 23800 _ 71% | 23000 724
AOJITM | ITMFUK | 20400 | 724 | 21,700 705 | 21,700 __70v | 21500 705 | 21,700 | 70%
HR(FE FUKHND [ HNDMSJ| 21000 | 74% | 21800 | 73% | 21800 | 73% | 21800 _ 73% | 21000  74%
= MSJHND | HNDFUK| 21,000 74% | 21,800 _ 73% | 21800 | 73% | 21,800 73 | 21000 _ 74s
MSJITM | ITMFUK | 21,700 | 71% | 25900 _ 65% | 25900 _ 65% | 25700 658 | 25900 | 5%
HR(FE FUKHND | HNDAXT| 30800 | 50% | 28500 | 62% | 25300 675 | 25000 _ 675 | 20300 _ 61%
= AXTHND | HNDFUK| 30300 | 60% | 32300 575 | 26500 | 65% | 25000 674 | 30300 60%
AXTITM | ITMFUK | 22200 675 | 23300 66% | 22300 67% | 21,800 8% | 23300 | 66%
FUKHND [HNDGAJ| 26500 | 60% | 27,000 59 | 24200  63% | 24300 | 63% | 25500 | 6i%
FUKITM | ITMGAJ | 23600 | 65% | 25800 | 61% | 25700 61% | 26600 60% | 25700 6i%
GAJHND | HNDFUK| 23600 | 64% | 2600 605 | 26200 60% | 22700 654 | 24600 634
GAJITM | ITMFUK | 24800 |63y | 25200 625 | 25200 62 | 24300 _63% | 25200 | 62%
KHND [HNDKMQ| 26600 | 63% | 27200 625 | 23500 68 | 23200 8% | 26,100 | 64%
HNDFUK | 24,100 | 67% | 26,600 | 63% | 24700 | 66% | 23,200 | 68% | 25100 | 65%
EmES [ JTA/RAC]| OKAMMY| 26,900 __52% 26,900 | 52% 26,800 | 52% 26,400 | 53% 26,900 | 52%
EES JTA/RAC| OKAFUK| 26800 _ 52% | 25900  53% | 25500  54% | 26400  53% | 26,800  52%
[ mz | JTA | JTA/RAG| FUKOKA | OKAISG | 27,100 574 | 27,100 575 | 27000 57 | 27,100 | 57% | 27100 574 |
BiER | JTA/RAC OKAFUK| 27,000 57% 27,100 | 57% 27,100 | 57% 27,100 | 57% 27,000 | 57%
ESEEDEN E3.3E HNDKMQ| 28400  64% | 22300 715 | 21,700 _ 72% | 22200 _ 715 | 23100 _ 70%
I [KMQHND|HNDMMB| 22300 | 71% | 23000 | 705 | 23700 705 | 23400 705 | 23100 _ 70%
R =@ ES-FIE] [MMBHND| HNDOKJ| 31,000 | 65% | 29400  67% | 20400 | 67% | 29,900 _ 66% | 29400 _ 67%
L5 [ OKJHND [HNDMMB| 25800 71% | 30100 | 66% | 31400 __ 64% | 31,100 _ 65% | 20400 675
H#BI=L8 ES- 3 [MMBHND| HNDHIJ | 32300 __ 64% | 31,300 | 65% | 31,300 _ 65% | 31800 64% | 31,300 654
RES | HIJHND [HNDMMB| 26,000 | 71% 32000 | 64% 33300 | 62% 33,000 | 63% 31,300 | 65%
RS 371k [MMBHND| HNDIZO | 35500 __ 59% | 33600 | 61% | 32500 624 | 34300 _ 60% | 33600 _ 61%
HER | IZOHND |HNDMMB| 28700  67% | 36400  58% | 36400  58% | 36400  58% | 36400 _ 58%
Rl =l 3Tk [MMBHND| HNDMYJ | 35500 | 61% | 34700 | 62% | 34000 _ 62% | 35200 _ 61% | 34600 _ 62%
HALSE | MYJHND |HNDMMB| 27,100 | 70% | 40500  55% | 41,400  54% | 41,500  54% | 39,800  56%
R@H=FE &j [MMBHND| HNDISG | 47.300  62% | 49700  60% | 50,500 | 59% | 48800 _ 61% | 50,300 _ 59%
BESR ISGHND |HNDMMB| 42,600 _ 66% | 51,700  58% | 53,100  57% | 52800  57% | 51,600  58%
TEIT= /N FCIES AKJHND 20900 61% | 22500  70% | 22100 715 | 21400 7% | 21900 _ 71%
N 21900 7% | 23100  70% | 24400  68% | 22500 _ 70% | 22700 _ 70%
BI=mra 181 AKJHND 31,100 63% | 26200  69% | 23700 _ 72% | 24600 715 | 26500  69%
K ‘SHMHND 30200 644 | 30100 644 | 30300 | 644 | 32000 | 624 | 31,800 | 624
BT AKJHND [ HNDOKJ] 33200 61% | 20600 65% | 20800 | 65% | 29100 664 | 28300 678
S OKJHND | HNDAKJ] 25,800 | 70% | 30200 65% | 32100 | 63% | 30200 654 | 20600 654
FEITTE 3 AKJHND | HNDIZO | 33,900 60 | 36000 57% | 36,000 | 57% | 36400 574 | 36000 57
HE5E IZOHND | HNDAKJ| 28,700 | 664 | 36400 574 | 36400 57% | 36400 57 | 36400 | 57%
RI=#0 A)FE AKJHND | HNDMYJ| 36,900 58% 34,100 61% 34,400 61% 34,400 61% 33,400 62%
HALSE MYJHND | HNDAKJ| 28600 | 68% | 39300  55% | 39500 | 55% | 39800 554 | 39400 5%
EN=EE % AKJHND | HNDISG | 45500 63% | 49900 59% | 50900 | 58% | 46400 624 | 49200 604
EEE ISGHND | HNDAKJ| 42200 | 65% | 50500 59% | 51.200 _ 58% | 5100 _58% | 51,200 | 58%
EIESUEN KUHHND [ HNDKMQ| 26,000 | 65% 21900 71% 21300 724 20900 724 22700 704
AN 23200 | 69% | 22700 | 70% | 21,500 | 71% | 22100 | 71% | 23200 _ 69%
gk =R KUHHND | HNDOKJ| 28600 66% | 29,000 _ 66% | 29000  66% | 28600  66% | 29,000  66%
e OKJHND [HNDKUH] 27,600 | 68% | 20800  65% | 29200 | 66% | 20800 654 | 30400 64%
=55 KUHHND | HNDHLJ | 20,800 _ 65% | 30,900 _ 64% | 30,900  64% | 30,500  65% | 30,900 6%
EE% HIJHND [ HNDKUH| 27.800 | 68% | 31,700 | 63% | 31100 64% | 31700 63% | 32.300 | 62%
Higt= KUHHND | HNDIZO | 33000 _ 60% | 33600  60% | 32300  61% | 33300  60% | 33200  60%
HES5E IZOHND [HNDKUH| 30500 | 63y | 36400 564 | 36400 564 | 36400 568 | 36400 | 50%
EIESEAT] KUHHND | HNDMYJ| 31,700 | 64% 34600 60% 33800 61% 34200 614 33800 614
LSE MYJHND [HNDKUH| 28900 | 67 | 36,700 58% | 37000 | 58% | 40200 54 | 33300 568
HE=FE HIERSE KUHHND | HNDISG | 44,900 _ 63% | 47,900 _ 60% | 49500  59% | 45800 62 | 48300 _ 60%
EER GHND | HNDKUH | 40,800 66% 47,900 60% 48,700 60% 51,500 57% 50,100 59%
WIE=/MR BEF OBOHND 20800 60% | 23800  68% | 24600 675 | 21,600 715 | 22200 _ 70%
AN 21500 | 71% | 22700 | 70% | 21,700 | 71% | 22200 | 70% | 22300 | 70%
WL OBOHND 33200 6% | 30900  63% | 32300 625 | 20300  65% | 20400  65%
[T} OKJHND 25700 | 70% 29,800 | 65% 29,400 | 65% 29,900 | 65% 29,200 | 65%
WIS OBOHND 3 56% | 36400 50% | 35800 5% | 36400 564 | 35900 574
HES 1ZOHND 28,600 664 36,400 564 36,400 56% 36,400 56% 36,400 56%
BES OBOHND 36900  57% | 35400 | 59% [ 36900  57% | 34900 = 60% | 34000 | 61%
EITE S MYJHND 27,000 | 69% | 39,600 | 544 | 38600 | 564 | 40200 | 544 | 39,000 | 554
3 OBOHND 45500 | 624 | 51200 | 575 | 53400 564 | 47.900 _ 60% | 50300 588
wER ISGHND 41800 65% | 50800  58% | 50300 | 58% | 51500 | 57% | 50800 | 58%
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B DHND [ HNDOKJ
‘OKJHND [ HNDHKD
WE=LE HKDHND [ HNDHIJ
HIJHND
EE=HE HKDHND!
HKDITM
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ER=LS FE AOJHND
HE HIJHND
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AR=EE LT HR (RE
KB (5
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HKDHND | HNDKMQ!
KMQHND] HNDHKD | 2
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MSJHND | HNDOK.J
‘OKJHND [ HNDMS.J
MSJHND | HNDHIJ
HIJHND [HNDMSJ |
MSJHND | HNDUBJ

UBJHND [ HNDMSJ
MSJHND | HNDIZO
IZOHND [ HNDMS.J

MSJHND [ HNDTKS
TKSHND [ HNDMSJ
MSJHND [ HNDTAK |
TAKHND [ HNDMSJ
MSJHND [ HNDKCZ
KCZHND [ HNDMSJ
MSJHND [ HNDMYJ
MYJHND [ HNDMSJ

MSJHND | HNDKKJ
KKJHND [ HNDMSJ
MSJHND | HNDOIT
OITHND [HNDMSJ| 1
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73%

73%
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74%

73%
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73%
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73%
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)00 69%

00 74%

100 69%

500 74%

/00 2% | 2 400 68%
73| 22600 73| Le00 74|

23500 8% | 24400 67 | 23000 8% | 24000 oes

22,000 73% | 22600 735 | 22600 73% | 21800 74

26,100 68% | 24200 67 | 23000 8% | 24400 67%

24000 724 | 24000 725 | 24000 724 | 23200 734

22800 718 | 23300 705 | 23,100 708 | 23300 704

26000 724 | 24000 725 | 24000 724 | 23200 734

500 | 73% | 21,500 | 73% | 21,500 | 73% 800 72%

500 58% 500 56% | 44.600 60% 300 56%

[ 47200 574 | 48900 564 | 46,900 574 | 49000 504 |

15500 76% | 15500 764 | 15500 76% | 14800 774

(16,500 7% | 16500 745 | 16,500 745 | 15300 764

400 773 | 28400 61 | 25400 65% | 25000 6o | 25400 658
900 73n | 25,100 6% | 25100 6o | 24700 | 66n | 26400 614
400 715 | 30300 5o | 27300 3% | 26900 6an | 27.300 63
500 724 | 27,000 4% | 27000 64t | 26,600 | ods | 30300 5ou
000 71s 600 654 | 24500 698 | 25900 | 674 | 24500 oo%
100 7% | 75100 68y | 24600 69% | 25600 | 68 | 27.900 o5%
600 664 | 30,100 563 | 30100 5% | 30,100 | 56% | 30,100 5o
100 8% | 28400 60% | 20,000 605 | 26600 | 60s | 30,100 5%
300 68 | 24400 65\ | 24400 65 | 24400 o5 | 26400 654
300 73w | 20300 724 | 20300 72 | 20300 | 7% | 19300 734
300 73n | 20300 724 | 20300 724 | 20300 | 7%v | 19300 734
200 74 | 19500 7% | 19500 73 | 19500 | 73 | 19200 7an
200 74 | 19500 7% | 19500 73 | 19500 73 | 19200 7a%
300 74 | 20300 738 | 23100 69% | 23100 6o | 19300 7an
300 74 | 23,000 695 | 23000 60% | 23,000 6o | 19300 7an
000 75, | 19500 74t | 19500 743 | 19500 74t | 10,000 755
000 75, | 19500 74 | 19500 743 | 19500 7an | 18000 75
800 60 | 25,100 638 | 25100 63 | 25,100 63 | 25100 3%
800 764 | 20500 75% | 20600 754 | 20,800 75 | 19800 704
800 764 | 20600 75% | 20600 754 | 20,600 | 75% | 19800 o4
700 75v | 20500 743 | 20500 74t | 20500 | 74n | 19700 754
700 75w | 20500 743 | 20500 74 | 20500 74 | 19700 754
400 osn | 25600 64 | 23400 678 | 23400 67 | 26900 6z
200 75v | 22000 745 | 22000 74t | 22000 | 74n | 21200 754
200 75v | 22000 745 | 22000 74 | 22000 | 74n | 21200 754
900 724 | 25,100 674 | 26800 6% | 26,800 | 66% | 26800 o4
800 70n | 20800 75% | 20600 754 | 20,600 | 75 | 19800 764
800 764 | 20600 75% | 20600 75w | 20,600 75 | 19800 764
900 62 | 27,600 638 | 27600 63 | 27,600 63 | 27600 3%
800 7on | 22600 724 | 22600 724 | 22600 7% | 19800 764
500 724 | 26000 63% | 28400 624 | 28000 63 | 26100 634
800 70n | 22600 724 | 22600 724 | 22600 7% | 19800 764
700 71n | 20000 624 | 29100 624 | 28800 6z | 29300 61
200 75v | 22000 745 | 22000 74t | 22000 | 74n | 21200 754
900 70v | 27200 6% | 27500 6o | 27200 66 | 27.300 6os
200 75v | 22000 745 | 22000 74t | 22000 | 74n | 21200 754
900 70v | 26400 675 | 26400 67 | 26,400 675 | 26700 o4
700 66 | 45700 6% | 46500 57 | 43900 | 60n | 46300 o4
7900 65% | 46700 | 57% | 47200 574 | 46400 ses | 49000 55 |



ezl:) AXTHND | HNDKMQ 70% 68% 68% 70%
E2l) 00 70% | | 0% 705 | | 70%
AXTHND 00 59% | 59% 60| 2 63%
SHMHND | HNI | 26,700 60% | 2 61% 59% 59%
BE=FEL AXTHND | HNDOKJ| 23,600 65% | 2 64% 64% 60%
(JHND | HNDAXT | 22,100 67% | 2 64% 64% 60%
HE=LEH HERE AXTHND | HNDHIJ | 28,200 59% 62% 62% 58%
LB JHND | HNDAXT | 24000  65% | 2 62% 62% | 2 58%
RE=WOFH BEE | S FH AXTHND | HNDUBJ | 26,900 63% | 2 68% 65% | 2 62%
LWOFHE B3] UBJHND | HNDAXT| 25,000 | 66% | 2 67% 65% | 2 63%
HE=HE ERE | S FH AXTHND 300 59% 57% 57% | 2 57%
IPNAGIE) AXTITM 00 69% | 2 69% 69% | 2 65%
HER [ ZZ(CRE 1ZOHND 59% 57% 57% 57%
PG 1ZoImMm 67% | 2 68% 68% | 2 66%
HE=EH HERE R CHE XTHND 70% | ¢ 69% 69% | 2 70%
[ FH KSHND 70% | ¢ 69% 69% | 2 70%
HE=B0 BEE FH \XTHND 70% | ¢ 69% 69% | 2 70%
I FH "AKHND 70% 69% 69% | 2 70%
HE=BH EE FH \XTHND 7% 70% 70% | ¢ 7%
EHE FH KCZHND 7% 70% 70% | ¢ 7%
E =8 ERE | S FH AXTHND 7% 70% 70% 1%
PG AXTITM 67% | 2 66% 66% | 2 66%
EXTES [ ZZ(CRE MYJHND T | 70% 70% | ¢ 7%
PG MYJITM 67% 66% 66% 66%
HE=LAM FERE | ®RR(CHE) | JAL [ JAL [AXTHND 62% 69% 68% | 2 62%
EZYE (HE KKJHND 66% 70% 69% | 2 64%
HE=X5 wERx [ ZZ(CRE AXTHND 62% | 2 66% 69% | ¢ 58%
G2 AXTITM 69% | 2 0% 708 | 2 63%
E3:E 3 [ ZZ(CRE OITHND 60% | 2 66% 68% | 2 60%
PG OITIT™ 67% | 2 69% 70% 61%
HE=RE wERE [ ZEZ(CRE AXTHND 64% | 2 68% 7% 63%
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wL=HE HLSE (FHE)| JAL JAL _|OBOHND| HNDIZO [ 29.600 64%  JK7K:29,300, £:31,500, 1:31,800. H:31.400
] CRE) [ JAL JAL | IZOHND [HNDOBO| 30,600 63%  #:31,100, 1:31,200. H:32,900
wIL=H0 LS (FE)| JAL JAL _[OBOHND|HNDMYJ[ 29,100 66% H:31,600 0,600
NI CRE) | JAL JAL | MYJHND [HNDOBO| 28,300 67% :28,600, £:30,800, 1:28.900. H:33,300
FL=HE HILSE CRHE)| JAL JAL _[OBOHND| HNDISG 42,500 65%  H:45.400, 7KA:43,100, $:47,100, 1:47,700, H:44,500
RiEH CRHE) | JAL JAL | ISGHND |HNDOBO| 42,700 65% | 5:45,600, /KK:43,000, $:47,500, F:44,800, H:50.100
AR =/ AR S CRE)| JAL JAL _[HKDHND |HNDKMQ| 21,800 67%  H:22,500, £:22,600. £:22,100. H:23,600
IMAFE CRE) | JAL JAL _[KMQHND|HNDHKD| 22,000 67%  £:23700, 1:20,600. H:23,50
AT =FE Ll BAESE CRHE)| JAL JAL [ HKDHND | HNDOKJ[ 25,900 66%  :26,600, 1:24,900, H:27.20
[EMES CRE) | JAL JAL | OKJHND [HNDHKD | 25,800 66%  H:26,000, %:26,300, +:24,700. H:26,200
EEE=L5 BAESE CRE)[ JAL JAL _[HKDHND | HNDHIJ 25,800 66%  H:26,400, /KA £:25,700, £:26,800, H:26,200
L& CRE) [ JAL JAL | HIJHND [HNDHKD| 26,000 66% A H:26,400, £:26,800, 1:25000
HE=HE HfER [HECHHE)| JAL JAL _[HKDHND | HNDIZO 27,400 63%  F5:28,200, £:27.600, £:28,500, H:30,100
AER(EFFD [ JAL JAL _| HKDITM | ITMIZO 24,100 66%  H/k#:23,800. A £:25,600, H:26,600
HE FR(PHE)| JAL JAL [ IZOHND |HNDHKD [ 29,400 60%  H:29,600, £ 1:30,200. H:30,300
AER(EFFD [ JAL JAL | 1ZOITM | ITMHKD | 23,000 68%  A:23,900. £:25,000, :25,50!
EfE=H0 BWEER [ERCRE)| JAL JAL _[HKDHND | HNDMYJ| 27,600 65%  %:29,800. 7,800, H:32,10
AER(EFFD [ JAL JAL | HKDITM [ ITMMYJ | 25,200 63%  A:27,000. £:27,100, H:28.101
WIS [RERCHE)| JAL JAL _[MYJHND | HNDHKD| 27,100 65% :29.400, £:27,900. H:29,100
g =t M HEEHE  [HER(RE)| JAL JAL [ HKDHND | HNDKKJ 28,600 66%
EAMFE |[HECHE)| JAL JAL [ KKJHND | HNDHKD| 27,700 67% 7,900, £:28,500, 1:27,600, H:28,600
HEE=K% HEXE [EZECHE)| JAL JAL _[HKDHND | HNDOIT 21,900 73% EB:22,
ABR(FFH | JAL JAL | HKDITM | ITMOIT 26.200 63% 4,700, 7%:26,500, £:27,900. 1:28.900. H:30,700
A% [ER(EE)| JAL JAL [ OITHND |HNDHKD[ 21,900 73% £+ H:22,500
ABR(FFH | JAL JAL | OITITM | ITMHKD 24,100 66% | H7k:23,900, A:24,800, %:28,300, £:29,100, H:26.300
HEE =R WEERE  [ER(RE)| JAL JAL | HKDHND |HNDNGS| 22,400 74% %+ H:23,000
ABR(FFH | JAL JAL | HKDITM | ITMNGS 24,200 70 7K:26.000, £:25,000, 1:26,500. H:27,500
RBEFE  [ER(RE)| JAL JAL | NGSHND | HNDHKD | 22,400 74% %1 H:23,000
ABR(FFH | JAL JAL | NGSITM | ITMHKD 23,800 70 7K:24,700, £:25,800, 1:25,600. H:23,600
HEE=RX WEERE  [ERCRE)| JAL JAL | HKDHND | HNDKMJ | 22,400 73% % H:23,000
ABR(FFH | JAL JAL | HKDITM | ITMKMJ 27,400 64%  K:29,200, H:30.200
BEAE  [Ez(RE)| JAL JAL | KMJHND | HNDHKD | 22,400 73% % H:23,000
ABR(FFH | JAL JAL | KMJITM | ITMHKD 25,000 67% | H7k:23,400, A:24,300, %:28,600, £:29,000, H:26.600
EHEE = WEEHE  [ER(RE)| JAL JAL [ HKDHND | HNDKMI 22,400 73% &t A:
ABR(FFH | JAL JAL | HKDITM | ITMKMI 27,300 64 Bl
EEHE  [ERCRE)| JAL JAL | KMIHND |HNDHKD | 22,400 73% &1 H:23.
ABR(FFH | JAL JAL | KMITM | ITMHKD 26.200 66% A 7k:23,400, A:24,300, %:29,800, £:30,300, H:27.800
HE=ERS WEERE  [ER(RE)| JAL JAL | HKDHND | HNDKOJ| 22,400 74% %1 H:23,000
BR(FA)|  JAL JAL _| HKDITM | ITMKOJ | 26,600 67% _ A:28,400, £:26,900. £:28,900. H:29,700
EREH [EZzPH)| JAL JAL | KOJHND | HNDHKD | 22,400 74% %1 H:23,000
KER(BFD [ JAL JAL _| KOJITM | ITMHKD | 25,800 68%  A:26,700, % £:28,100, H:26.100
HEE=H1E EHEERE [HER(RE)| JAL JAL _[HKDHND | HNDISG 41,400 63% _ 1:44,300, £:44,500, +:44,400. H:45,100
RiEF [ERCEHE)| JAL JAL [ ISGHND |HNDHKD| 41,500 63%  J5:44,400, £:46,100, £:43,700. H:45,900




HH=/R (BE)| JAL JAL | AOJHND |HNDKMQ| 14,800 77% £+ H:15500
(FE) | JAL JAL _|KMQHND|HNDAOJ[  15.300 76% @+ H:16.500
EHR=miLEE ()| JAL JAL [ AOJHND |HNDSHM| 26,600 64%  K:27,700. £ 1:30,100, H:29.800
(FE) | JAL JAL | SHMHND [ HNDAOJ[ 28,600 61% 5 £:29.400, 7:28,800, & H:30.100
HH=MEWL CRE) [ JAL JAL | AOJHND [ HNDOKJ| 22,200 70% | H:21,100, A:22,900, £:23,200, + H:23,000
(FE) | JAL JAL | OKJHND [HNDAOJ[  24.400 67%  #:25,200, & H:23,500
EH=L5 CRE) | JAL JAL _[AOJHND | HNDHIJ 24,600 67% B 7K:24,500, A%:26,500, +:23,800, H:23,400
(FE) | JAL JAL | HIJHND [HNDAOJ[  26.200 65%  H:26,100, £:26.900.
BEHR=LOFEH ()| JAL JAL | AOJHND [ HNDUBJ| 253800 68%  5:23,900, A
(FE) | JAL JAL _| UBJHND [ HNDAOJ| 26,200 67% _ A:26,600, £:29,200, £:25,900, H:28,100
EH=HE = CRE) [ JAL JAL__|AOJHND [ HNDIZO | 28,200 61%  F:26,100, /K:27,900, % +:28,600, H:28,700
ABR (B | JAL JAL [ AOJITM | ITMIZO 20,300 71% B 7K:18,400, &:18,500, £ + H:18.800
SFE) | JAL JAL | IZOHND [HNDAOJ| 28,700 61% 5 /KA T:28,600. & H:29,500
D[ JAL JAL | 1ZOITM [ ITMAOJ [ 16.900 75%  A:19,300
HEH=05 )| JAL JAL [ AOJHND | HNDTKS [ 20,300 2% & 1,300
FIE) [ JAL JAL | TKSHND [HNDAOJ[  20.300 1% & 1.300
HH=mh FE) |  JAL JAL [ AOJHND | HNDTAK|  20.200 7% & 0,500
FIE) [ JAL JAL | TAKHND [HNDAOJ[  20.200 73% &+ H:20.500
HH=mA FE) | JAL JAL [ AOJHND | HNDKCZ | 20,300 73 :21,300, 1 H:24,100
FIE) [ JAL JAL | KCZHND [ HNDAOJ[  20.300 73% &+ H:24.000
HH= FE) | JAL JAL [ AOJHND | HNDMYJ| 20,000 74 >
D[ JAL JAL | AOJITM | ITMMYJ | 19,800 70 K:
FE) | JAL JAL | MYJHND [HNDAOJ| 20,000 74 & £ H:20,500
D[ JAL JAL | MYJITM [ ITMAOJ [ 17.400 74 ] 7,600, 7:19,800
EHx=1AM FIE) [ JAL JAL [ AOJHND | HNDKKJ 21,800 74 E X
)| JAL JAL | KKJHND [HNDAOJ[  21.800 74 e+ H:22,
EH=KS FIED [ JAL JAL | AOJHND | HNDOIT | 21,700 73 > £ H:22,500
D[ JAL JAL | AOJITM | ITMOIT | 22.400 68" 7K:19,300, A:19.400, £:22,500, £:21,800. H:22.600
FIERD [ JAL JAL | OITHND [HNDAOJ| 21,700 73% | ®= 1 H:22.500
D[ JAL JAL | OITITM [ ITMAOJ [ 18.800 73% A 7K:17.000, A% H:19,400, £:20.200
EH=KK FE) | JAL JAL | AOJHND [HNDNGS| 23,200 73% 2+ H:24,000
D[ JAL JAL | AOJITM | ITMNGS [ 18.800 76%  A:18,900, £:19,600, £ H:19.400
)| JAL JAL | NGSHND [HNDAOJ| 23,200 73% %t H:24,000
D[ JAL JAL | NGSITM | ITMAOJ [ 16.900 78%  A:19,300, £:17.300, £ H:17.000
EH=EX FE)| JAL JAL | AOJHND [ HNDKMJ| 21,800 74% 2+ H:22,600
D[ JAL JAL | AOJITM [ ITMKMJ [ 22,400 70% | A:22,500, & £ H:22.800
FE) | JAL JAL | KMJHND [HNDAOJ| 21,800 74% &+ H:22600
[ JAL JAL | KMJITM [ ITMAOJ | 19,700 73% :16,500, A:18,900. +:20,100
AHR=Ek JAL JAL _[AOJHND | HNDKMI [ 21,800 74% £+ H:22,600
JAL JAL | AOJITM [ ITMKMI | 23,500 68% A JK:18,800, :18,900, %:23,700, & H:23,800
JAL JAL | KMIHND [HNDAOJ[  21.800 74% %+ 0:22.600
JAL JAL | KMITM [ ITMAOJ | 20,900 72% A 7K:16,500, :18,900, F:21.400
EHR=-ERS JAL JAL _[AOJHND | HNDKOJ[ 23,200 73% %1 H:24,000
JAL JAL | AOJITM [ ITMKOJ | 21,700 72% 1,200, :21,300, % H:22,000. £:21,800
JAL JAL | KOJHND | HNDAOJ| 23,200 73% :
KER(FFH | JAL JAL | KOJITM | ITMAOJ 19,000 76%  F7K:18,900, K:21,300, &+ H:19,200
JAL JAL | AOJHND [ HNDISG | 38,100 65%  H:41,000, #:39,900, £::43,100, + H:42,500
JAL JAL | ISGHND [HNDAOJ| 39,800 64% #:42,700, +:42,200. H:43,900
JAL JAL | MSJHND [HNDKMQ[ _ 14.800 7% 4
JAL JAL _|KMQHND|HNDMSJ| 15,300 76% 4
JAL JAL | MSJHND [ HNDOKJ| 23,400 68% o
JAL JAL | OKJHND [HNDMSJ| 23,200 68% £:19,900. £:20,100
JAL JAL | MSJHND | HNDHIJ | 24,300 67% | H A:24,700, £:25.000, £:24,000, H:23,600
JAL JAL | HIJHND [HNDMSJ| 23,700 68%  F:20,700, £:20,400, +:20,500, H:23,500
JAL JAL | MSJHND [ HNDUBJ| 26,000 67%  7:26.700, $:28,000, H:27.80
JAL JAL | UBJHND [HNDMSJ| 26,400 67% | B £:23,100, :26,800, %:25,600. H:27,800
) JAL JAL | MSJHND | HNDIZO | 26.400 63%  F:26,500, A:28,100. £::28,300. +:26,800
|3 CB JAL JAL | IZOHND [HNDMSJ| 26,400 63% A% 123100
ABR(FFH | JAL JAL [ 1ZOITM | ITMMSJ 22,300 68%  H:22,800, K:22.400. £:24,400. 1:26,500
ZiR=1& R CRE) | JAL JAL | MSJHND | HNDTKS [ 19,300 73 >t H
R CRE) | JAL JAL | TKSHND [HNDMSJ[ _ 19.300 FETE
ZiR=a R CRE) [ JAL JAL | MSJHND [ HNDTAK| 19,200 74 LA
R CRE) | JAL JAL | TAKHND [HNDMSJ[  19.200 P 9,500
ZiR=@ HH(PE) | JAL JAL | MSJHND [HNDKCZ| 19,300 74 $:20,300, & H:23,100
R CRE) | JAL JAL | KCZHND [HNDMSJ[ _ 19.300 P
=iR=#b HECHE)[ JAL JAL _[MSJHND [ HNDMYJ[ 19,000 75% E
|3 CRE) [ JAL JAL | MYJHND [HNDMSJ[ _ 19.000 5% &
ARFF|  JAL JAL [ MYJITM | ITMMSJ 22,800 66%
ZiR=4AM FR(PHE)| JAL JAL [ MSJHND | HNDKKJ 19,800 76% &
SRR CRE) | JAL JAL | KKJHND [HNDMSJ[ 19,800 76% &
ZiR=K% FR(PHE)| JAL JAL [ MSJHND | HNDOIT 19,700 75% &
[ CRE) [ JAL JAL | OITHND [HNDMSJ[ 19,700 75% %
ABR(FFH | JAL JAL | OITITM | ITMMSJ 24,200 66%
ZR=Ri& EE JAL JAL | MSJHND |HNDNGS| 21,200 75% &1 H:22,000
b JAL JAL | NGSHND [HNDMSJ[ _ 21.200 75% %+ H:22.000
JAL JAL | NGSITM [ ITMMSJ | 21,900 72% | A H:22,400, :22,000, %:24,800. £:26,600
ZIR=RX JAL JAL _[MSJHND | HNDKMJ| 19,800 76% &+ H:20,600
JAL JAL | KMJHND [HNDMSJ| 19,800 76% =1 H:20,600
D[ JAL JAL | KMJITM [ ITMMSJ [ 25,500 66% _ 1:26,000, A:25,600. £:27,600. £:29,700
ZIR=E )| JAL JAL [ MSJHND | HNDKMI 19,800 76% &1 H:22,600
| JAL JAL | MSJITM | ITMKMI 26.300 65%  H7K:21,900, A:22,000, £+ H:28.400
FIED [ JAL JAL | KMIHND [HNDMSJ| 19,800 76% =1 H:22,600
| JAL JAL | KMITM | ITMMSJ 24,800 67%  H:22.400. 7K:21,900. A:22,000, %:26,900, +:29,000
)| JAL JAL | MSJHND [ HNDKOJ| 21,200 75%  ® 1 H:22.000
D[ JAL JAL | MSJITM [ ITMKOJ [ 24.400 69%  H7K:24,300, £ H:26.700., +:27.000
FE) | JAL JAL | KOJHND [HNDMSJ| 21,200 75% + 8:22,000
D[ JAL JAL | KOJITM [ ITMMSJ [ 24.400 69%  H:24.800, 7K:24,300. £:26,700. 1:28,800. H:24.600
=R=%AE )| JAL JAL | MSJHND [ HNDISG | 40,400 63% B %:43,300, £ H:42,700
HR(BE) [ JAL JAL _| ISGHND | HNDMSJ| 40,400 63% | H£:40,000, £:39,500, H:43.600




BE=/M PREES CRE)|  JAL JAL | AXTHND |HNDKMQ| 17,200 70%  # 1 H:18,300
INEASE CRHE)| JAL JAL _[KMQHND| HNDAXT |  17.100 70% &+ H:17,500
ME=FaE RS CRBE)| JAL JAL | AXTHND |HNDSHM| 26,800 50%  +:26,300, H:25,500
HEES CRE)|[  JAL JAL _| SHMHND | HNDAXT | 26.800 59% 5,500, H:26.300
FE =M EFE CRHE) | JAL JAL [ AXTHND | HNDOKJ| 22,800 66%  :23,000, 1
[T (FE) | JAL JAL | OKJHND [ HNDAXT [ 24.300 64%  2:26,600.
HRE=L8 TREFE CHED|  JAL JAL | AXTHND | HNDHIJ | 28,200 59% :28,100, N
L5 CRHE)| JAL JAL | HIJHND | HNDAXT|  27.100 60%  H:27.300, N
ME=WLAFE R 5 CRHE) | JAL JAL [ AXTHND | HNDUBJ| 26,900 63%  7K:27,900, N
B JAL JAL _| UBJHND | HNDAXT | 28,100 62% _ A:28500, £ N
ME=HE HF JAL JAL [ AXTHND | HNDIZO 26,800 50%  +:22,500, H:23,900
JAL JAL [ AXTITM | ITMIZO 22,100 66%  H 7KA:20,200, £+ H:20,900
JAL JAL | IZOHND | HNDAXT | 26,800 59% |+ H:24,700
JAL JAL | 1ZOITM [ ITMAXT [ 21.000 67% 4
ME=F5 JAL JAL | AXTHND [ HNDTKS | 20,200 70%
JAL JAL | TKSHND [ HNDAXT [ 20.200 70% 4
FE=5k JAL JAL | AXTHND [ HNDTAK| 20,200 70%
JAL JAL | TAKHND [ HNDAXT [ 20.200 70% 4
ME==4 JAL JAL [ AXTHND | HNDKCZ | 20,300 71%
JAL JAL | KCZHND [ HNDAXT [ 20.300 %4
FRE =10 JAL JAL | AXTHND [HNDMYJ| 20,400 1%
JAL JAL | AXTITM | ITMMYJ | 20,600 67%
JAL JAL__| MYJHND [ HNDAXT | 20,400 1%
JAL JAL | MYJITM | ITMAXT | 20,500 67% JKA:20,700, & H:21,000, £:21.200
FE =4t JAL JAL [ AXTHND | HNDKKJ 28,500 62% & 1:22,400, H:24.40
JAL JAL _| KKJHND [ HNDAXT | 27.200 64% % £:22,100. H:24.40
RE=X% JAL JAL__| AXTHND [ HNDOIT | 29,300 61% F:28 K:28,700, £:30,800, £:24,000, H:24.400
JAL JAL | AXTITM | ITMOIT | 23,200 64% A 7KA:20,100. & H:23.800, £:23,000
JAL JAL | OITHND [HNDAXT | 29,600 60%  :29,000, £:31,000. + H:24.000
JAL JAL _| OITITM | ITMAXT | 22,900 64% A KA:21,100. & H:24.200, £:23.800
E=RE JAL JAL | AXTHND |HNDNGS| 29,400 62% B /%:28,500, £:30.900, 1:23,600. H:24,000
JAL JAL | AXTITM [ ITMNGS | 20,600 72%  #:22,100, +H:21,800
JAL JAL__|NGSHND [ HNDAXT | 29,800 62% 5 :28,900, %:31,800, T H:24.000
JAL JAL | NGSITM | ITMAXT | 20,600 72% _ #:22,100, £:20.500. H:21.800
ME=REX EPY:ES JAL JAL [ AXTHND | HNDKMJ| 29,400 61%  7%:28,500, £:30,600. F H:24,000
JAL JAL | AXTITM [ ITMKMJ [ 23.800 66% =t H:24.500
AR JAL JAL | KMJHND | HNDAXT | 30.200 60% | A 7:29,000, /K:30,100, %:30,100, £:23,700, H:24.400
JAL JAL | KMJITM | ITMAXT [ 23.200 67% @+ H:23700
ME==5 EP:ES JAL JAL [ AXTHND | HNDKMI 29,000 62% B K:27.700, £:30,100, + H:23,200
JAL JAL | AXTITM | ITMKMI | 25,000 64% A 7KkA:20,600. £ H:25.700, £:26.200
ST JAL JAL | KMIHND | HNDAXT [ 28,900 62%  §:29,400, K:28,100, %:29,700. + H:23,200
JAL JAL | KMITM | ITMAXT | 22,500 68%  AJKA:19,600, £ £ H:23.000
HEH=ERS EPY:ES JAL JAL | AXTHND | HNDKOJ| 19,700 75% £+ H:20,800
JAL JAL | AXTITM | ITMKOJ | 23,500 68%  AsKA:23,000, £t H:24.100
ERG3 JAL JAL | KOJHND | HNDAXT [ 19,700 75% £ H:20,800
JAL JAL | KOJITM | ITMAXT | 23,100 69%  H/KA:23,000. £ H:24,000, £:22.800
ME=R1E FREF JAL JAL [ AXTHND | HNDISG 41,100 60% £ H:38,200
HiER JAL JAL _| ISGHND | HNDAXT| 39,100 62%  H%:41,100, £:38,300
TEE=HE EER JAL JAL [ HNAITM | ITMIZO 26,400 61% B /K7A:25,000, % H:29.000, £:29,600
HER JAL JAL | 1ZOITM | ITMHNA | 26,200 61% A KA:26,400, % H:29,600, £:30,100
&=l EER JAL JAL [ HNAITM | ITMMYJ 25,900 60%  #:30,400, + H:30,500
HALLISE JAL JAL | MYJITM | ITMHNA 25,800 60% % H:30,300, 1:30.50(
EE=K% EER JAL JAL [ HNAITM | ITMOIT 28,500 58% B JK7K:26,300, %+ H:32.200
A5 JAL JAL | OITITM | ITMHNA 28,100 58%  HJK7A:26,500, £+ H:32.200
EE=Rik EER JAL JAL [ HNAITM | ITMNGS 25,800 66%  #:30,800, +:31,500, H:30,500
RIS JAL JAL | NGSITM | ITMHNA 25,300 66%  7%:25700, £:30.400. £:32,300. H:30.200
TEE=FX EEH JAL JAL | HNAITM | ITMKMJ [ 29,000 60% | 4 H:33,200, F:33,400
AR JAL JAL | KMJITM | ITMHNA [ 28,500 61% £ H:33.400
EE=2k EER JAL JAL [ HNAITM | ITMKMI 30,200 58% 7k X:25,800. £ + H:33,400
JAL JAL | HNAFUK | FUKKMI | 25,400 68% 7
ST JAL JAL [ KMITM | ITMHNA 29,300 60% k:
JAL JAL _| KMIFUK | FUKHNA| 24,100 70% 7
EE=ERS EER JAL JAL | HNAITM | ITMKOJ 28,700 62% 7
BERES JAL JAL [ KOJITM | ITMHNA [ 28,300 63% 7
[IIAINA iz % JAL JAL [ GAJHND [HNDKMQ[ 15,500 67% :
INEASE JAL JAL _[KMQHND|HNDGAJ| 15,900 67%
Witz =Ml iz % JAL JAL [ GAJHND | HNDOKJ| 17,800 69%
i LI 5 JAL JAL [ OKJHND | HNDGAJ| 18,200 68%
W =IE8 Iz JAL JAL | GAJHND | HNDHIJ 21,500 63%
LEB% JAL JAL | HIJHND [HNDGAJ[  18.500 68%
WL =L OFE Iz JAL JAL | GAJHND [ HNDUBJ| 20,200 68% & . £:22,600, £:21,800. H:21,500
N=EZE JAL JAL _| UBJHND | HNDGAJ| 21,000 67% & . £:24,300, £:21,500, H:23,600
Wi =HE iz % JAL JAL [ GAJHND | HNDIZO 21,000 63% F:21,100, +:22,600. H:21,800
JAL JAL _| GAJITM | ITMIZO 24,700 61% A 7KA:22,800. & H:25.100, £:27,000
HE JAL JAL | IZOHND |HNDGAJ| 21,400 62% % +:21,800, H:22,200
JAL JAL | 1ZOITM | ITMGAJ | 24,200 62% _ +:24,700
=858 iz % JAL JAL [ GAJHND | HNDTKS [ 18,300 68%  :19,800, +:19,900. H:19,500
EER JAL JAL | TKSHND [ HNDGAJ| 18,700 67% % +:19,100, H:19,500
Wiz == Wiz % JAL JAL [ GAJHND | HNDTAK | 18,300 68%  +:19,500, H:19,100
BIAE JAL JAL | TAKHND [HNDGAJ[ _ 19.900 65%  :21,100, £:20.600. H:21.700
Witz =#al i} Z3 JAL JAL [ GAJHND [ HNDMYJ[ 20,200 66%  +:21,400, H:21,000
JAL JAL | GAJITM | ITMMYJ | 23,700 61%  :25,600, £:26.600. H:25.700
IS JAL JAL | MYJHND [HNDGAJ| 19,600 67%  #:22,000, +:21,000. H:22,600
JAL JAL [ MYJITM | ITMGAJ 22,700 62% 7K A:22,900. £ H:25.500, 1:25,700




Wi =X% W% |[RECHE)| JAL JAL | GAJHND | HNDOIT 22,600 65%  /§:22,200, K:22,000, £:23,300, £:24,300, H:23,400
ABR (| JAL JAL | GAJITM | ITMOIT 26,300 58% B IK7:23,200, 5 H:28,300, £:28.401
A% [ER(EE)| JAL JAL | OITHND |HNDGAJ| 22,700 65%  H:22,300, K:21,500, £:22,600. £:23,100, H:23,200
ABR (B | JAL JAL | OITITM | ITMGAJ 26,100 59% B IK7K:24,300, % H:27,500, 1:28.301
itz =Ry W% [RECHE)] JAL JAL | GAJHND |HNDNGS| 22,700 67% B 7K:21,800, £:23,400, £:23,900, H:22,300
RER(BFD [ JAL JAL | GAJITM [ ITMNGS [ 23.200 67%  2:26,300, ,900, F:26,00
REBEFE  [ER(RE)| JAL JAL | NGSHND |HNDGAJ| 24,100 65% 500, +:23,100, H:24,300
ABR(FFH | JAL JAL | NGSITM | ITMGAJ 23,800 67% 4,800
iz =HeR W% [RECHE)] JAL JAL [ GAJHND [ HNDKMJ[ 22,200 66% 000, £:24,300. H:22,600
ABR(FFH) | JAL JAL | GAJITM | ITMKMJ 26,400 61% = ,600
BEAE  [EzEE)| JAL JAL | KMJHND | HNDGAJ| 23,900 64% H: 200, £:23,800, £:22,300, H:24,700
RER(BFD [ JAL JAL | KMJITM | ITMGAJ | 25,800 62%  HIKA:25.400. & £ H:28.200
Wi ="t W% [RECHE)|] JAL JAL | GAJHND | HNDKMI 22,300 66% B /21,000, £:22,600, +:23,500. H:21,500
RER(BFD [ JAL JAL | GAJITM | ITMKMI | 27.600 60% A 7kA:23,200. & H:29,900, £:31,000
EEHE  [ERRE)| JAL JAL | KMIHND |HNDGAJ| 22,900 65% B 7K:21,400, £:23,300, £:23,100, H:22,700
RER(BFD [ JAL JAL | KMITM | ITMGAJ | 26.700 61%  HKA:23.800. £ H:29,000, 1:29.50
W =ERE W% [RECHE)] JAL JAL | GAJHND [ HNDKOJ| 23,100 66%  5:21,500, A:19,800, £:23,700, +:24,300
D[ JAL JAL | GAJITM [ ITMKOJ [ 26.100 64% A 7KA:25,600. £ H:29.100, £:30.20
)| JAL JAL__| KOJHND [HNDGAJ| 23,500 66% | H:22,900, A:20,200, £:20,600, +:23,900. H:24.300
D[ JAL JAL | KOJITM [ ITMGAJ [ 26.300 64%  A7KA:26,200, £ £ H:27.300
\Lfz=a1E FE) | JAL JAL | GAJHND [ HNDISG | 35,000 63%  F54:37,900, +:38,500, H:38.100
)| JAL JAL | ISGHND [HNDGAJ[  35.400 62% _ 7:38,300, £::38,700. +:38,200, H:39,400
le=HE FFAD [ JAL JAL [ SDJITM | ITMIZO 23,600 62% B /KK:23,400, £:23,800, 1:26,100, H:22,000
A JAL JAL | 1ZOITM [ ITMSDJ [ 22,500 64%  JK7K:22.400, %:24,500, £:21,200, H:23,200
s =l AR JAL JAL [ SDJITM | ITMMYJ 20,900 65% K:20,400, £:21,500, £ H:21,000
A JAL JAL | MYJITM | ITMSDJ [ 20.800 65% A sKA:21,000, £:21,700
ie=X% WeEFE (KU JAL JAL [ SDJITM | ITMOIT 24,400 60% B 7KK:22,600, € H:25,000. 1:26,200
A% | KBRUFF| JAL JAL | OITITM | ITMSDJ 24,400 60% | J:22,600, JKA:22,100, %:25,000, £:24,500, H:25.500
e =R WeFk [KERMUEER| JAL JAL | SDJITM | ITMNGS 22,100 68% * H:22,900, 1£:24,900
RIS [ XBRUFF| JAL JAL | NGSITM | ITMSDJ 23,000 67% %:23,800, £:21,300. H:23,500
s =% meEFE (KU JAL JAL [ SDJITM | ITMKMJ 25,300 62%  +:25,700
REASE | KBRUFFH| JAL JAL | KMJITM | ITMSDJ 24,800 63% 7%:23,500, £:24,900, 1:26,900. H:25,000
e =2 W&z [XEREM| JAL JAL [ SDJITM | ITMKMI 26,500 60% 7k K:22,100, £:27,000
EESE [ KBRUFF| JAL JAL | KMITM | ITMSDJ 25,600 62% B IKA:22,200, % H:25,900, 1:28,800
WeE=ERS WaEFE (KU JAL JAL [ SDJITM | ITMKOJ 25,000 65% B /KK:24,500, % H:24,900, £:25,400
BERES [XBRUFF| JAL JAL [ KOJITM | ITMSDJ 26,200 63% & H:27,300, £:26.100
HB=HE p AR JAL JAL [ KUITM | ITMIZO 24,300 59%  H:22,800
RERFFD [ JAL JAL | 1ZOITM | ITMKIJ 21,200 64%  £:21,100, B:21.800
FB=H1l ABR (D] JAL JAL [ KUITM | ITMMYJ 20,500 64% T H:20,600
RER(FFD [ JAL JAL | MYJITM | ITMKIJ 21,700 62% | H/KA:21,800, £:21,600. £:21,900. H:22.300
HB=K5 AR JAL JAL | KJITM | ITMOIT 23,600 60% B JKA:21,800, % H:24,200, F:25,000
RER(FFD [ JAL JAL | OITITM | ITMKIJ 23,100 61% | H7KA:21,300, £:23600. £:24,100. H:24.300
HB=RE AR JAL JAL | KIJITM | ITMNGS 19,500 71% _ #:20,300, £ H:20,000
RERFFD | JAL JAL | NGSITM | ITMKIJ 20,800 69%  #:21,500, £:20.900. H:21.900
ABR(FEFD | JAL JAL | KIJITM | ITMKMJ | 24,500 62%
ABR (| JAL JAL [ KMJITM | ITMKIJ 23,200 64%  JK7K:22,700, £ H:23,100, 1:23,600
RER(FFD [ JAL JAL | KIJITM | ITMKMI | 23,900 63% A JKAK:19,500, +:24,400
RER(FFD [ JAL JAL | KMITM | ITMKIJ 23,700 63% | H7KA:20,800, £:23,600. £:24,800. H:23.900
RER(FFD[ JAL JAL | KIJITM [ ITMKOJ | 24,200 65% B 7KA:23,700, & H:24,500
ABR(FFH | JAL JAL | KOJITM | ITMKIJ 23,300 66% B KA$:23.200, £:23.400. H:24,200
A =FE L RCEE) [ JAL JAL _[KMQHND|HNDOKJ[ 20,000 69%  £:19,900, +:17,500. H:18,600
(FE) | JAL JAL | OKJHND [HNDKMQ[ _ 20.700 68% | H/KA:20.600., £:21,700. £:18,300. H:17.000
IME=IEE CRE) | JAL JAL _|KMQHND| HNDHIJ | 22,400 66% | +:17,800. B:17.600
(FE) | JAL JAL | HIJHND [HNDKMQ[  21.600 67% | H/KA:21,500, £:22,600. £:19.600. H:17.300
MME=ILOFE IMAFE CRE) | JAL JAL _[KMQHND|HNDUBJ| 21,100 70% _ A:21,800, £:23,100, £:19,800. H:23,200
=3¢ (FE) | JAL JAL | UBJHND [HNDKMQ[ _ 21.400 69%  A:21,800, £:23,900, £:21,000, B:21,600
IMA=HE IMAFE CRE)[ JAL JAL _[KMQHND| HNDIZO 23,500 62%  F:23,800, 1:22,600, H:2220
HE CHHE)|[ JAL JAL | IZOHND [HNDKMQ| 23900 62% B KA£:23,800, £:24.200. H:23.000
IME=TEE DS CRED [ JAL JAL _|KMQHND| HNDTKS [ 20,300 68% | +:17,900. B:19,500
BER (FE) | JAL JAL | TKSHND [HNDKMQ[ _ 19.600 69% _ 4:20,200, £:20,300. £:19,900. H:17.900
IME=E IS CRE)| JAL JAL _[KMQHND|HNDTAK| 22,200 65% H:23,300, £:20,300
BINE (FE) | JAL JAL | TAKHND [HNDKMQ[ 22,200 65% JKA:22,000, £:23.100, £:21,900, B:21,100
A=A INRFE CRE) [ JAL JAL _|KMQHND| HNDKCZ | 20,500 69% B KA%:20,300, £:19,000, H:21,000
B CRE)|[  JAL JAL | KCZHND [HNDKMQ[ _ 20.900 68% | H7KA:20.700, £:21,900. £:19.600. H:19.800
=L INMAFE CRE)[ JAL JAL _[KMQHND|HNDMYJ[ 23,000 65%  £:24,300, +:20,700. H:24,400
[NITE CHE)|[ JAL JAL | MYJHND [HNDKMQ[ _ 23.200 65% A +:23,300 100
A=A I CRE)|  JAL JAL _[KMQHND| HNDKKJ 23,200 68%  :24,500.
EAMFE CRHE)| JAL JAL | KKJHND |HNDKMQ| 22,200 69%  $:24,400,
IMA=K%H IMAFE CRE)[ JAL JAL _[KMQHND| HNDOIT 24,000 66%  H:23,500, . 1:22,300, H:24.700
K% (FE) | JAL JAL | OITHND [HNDKMQ[ _ 23.900 66%  :26,500.
IMA=RilE IMAFE CRE)[ JAL JAL _[KMQHND|HNDNGS| 24,300 68%  H:23,100, 4 1:22,300, H:23900
Rk CRE)| JAL JAL _[NGSHND |HNDKMQ| 24,200 68%  7K:23,500, £ . B:22,300
IMNA=FER INMAFE CRHE) | JAL JAL _[KMQHND|HNDKMJ| 23,500 68%  F:22,700, 7K:23,600, :22,400., £:23,900, +:22,300, H:22,800
REASE CRE)| JAL JAL _[KMJHND |[HNDKMQ| 24,000 67%  H7K:23,100, £:26.400. 1:24,300, B:22,700
IMNA=E IMAFE CRE)[ JAL JAL _[KMQHND| HNDKMI 22,800 68% B AR1:21,500, %:23000. H:22,300
=I5 5 CRE)| JAL JAL | KMIHND |HNDKMQ| 23,500 68% A A+:21,500, $:23,900, H:20,700
MA=ERE INMAFE CRHE) | JAL JAL _[KMQHND|HNDKOJ[ 17,500 7% __&tH:
BRES (FHE)| JAL JAL _[KOJHND [HNDKMQ[ 18,500 75% 2
MA=EE A [RGB | JTA [JTA/RAC[KMQOKA|OKAMMY| 31,600 56% K
Ea% | F# ) [JTA/RAC[ JTA [MMYOKA|OKAKMQ|  31.700 56% JK:32,000, £:34,800, H:36.300
IMR=FIE M [ERCRE)| JAL JAL _|KMQHND| HNDISG | 35,500 65% | H%:38,400, & H:37,100
@B | JTA |IJTA/RAC|KMQOKA| OKAISG | 31,900 59%  #:32,400, £:35.800. H:35.300
RiER RCHEE) [ JAL JAL [ ISGHND |HNDKMQ[ 35,400 65% H#: 7,200, H:38,200
JTA/RAC| _JTA | ISGOKA |OKAKMQ| 32,500 59% A% 4,700, H:36.700
=5 JTA _[JTA/RAC[ OKJOKA [OKAMMY| 29,400 54%  JKA: :36.100, £:34,000. H:32,000
JTA/RAC| _JTA _|MMYOKA| OKAOKJ| 29,400 54%  JKA#£:32,700, £:35,200. H:36.100
Il =Fia JTA _[JTA/RAG[ OKJOKA [ OKAISG 30,900 56% K:34,200. £:38,800. £:36,000, H:32,000
JTA/RAC| _JTA | ISGOKA | OKAOKJ| 31,500 55% :31,800, 7k A:34.800., £:34,700, £:36.900. H:38.800
BH=2=k =% FE JAL JAL | KCZFUK | FUKKMI 22,500 58% B KA%:22,600. £ H:23,400
S ] JAL JAL | KMIFUK [ FUKKGZ [ 22,500 58% | HsKA:22,600, £:23000, £:22,900, H:23.800




RGBT =FH |[FREH R i-a(:ﬂ&) JAL JAL | OKAHND | HNDAOJ| 29,800 66%  7K7k:30,200., £ +:30,600, H:32.900
PN D[ JAL JAL _| OKAITM | ITMAOJ | 20,200 7% _ A:22,600
EHE ) JAL JAL_| AOJHND [HNDOKA| 28,300 68%  JK:28,700, A:30,700, £:31,800, +:32,400. H:30.300
B D[ JAL JAL | AOJITM | ITMOKA [ 22,500 74% | A:22,600, % £:22,900, H:22,00
SRHR(IRER) = =R [ GRE) % FE) | JAL JAL | OKAHND | HNDMSJ| 30,000 65% _ H:26,700, 7k K:30,400. £:27,000, £:27,500, H:32,600
RS )| JAL JAL _| MSJHND [ HNDOKA| 25,500 71% :29,200, £ H:26.50
EIC IR ERET 16 EJE T ) JAL JAL | OKAHND | HNDAXT 29,700 63% :32,000, 1:26,300. H:28,100
D[ JAL JAL | OKAITM | ITMAXT [ 24.300 71% 3,700
TEFE )| JAL JAL | AXTHND [HNDOKA| 31,700 61% :32,500., £:34,600, +:28,100. H:25,900
PN D[ JAL JAL | AXTITM [ ITMOKA [ 24.300 71% s _H:24.100
PR GRE) =76 (| R D[ JAL JAL [ OKAITM | ITMHNA 29,500 66% KA:29.700, % B:34.700, £33,100
JTA JAL _| OKAFUK| FUKHNA| 32,200 64% 3 7K:33,000, 7:33.300, %:37,600, £:37.900, H:38.400
TEER JAL JAL | HNAITM | ITMOKA [ 28,600 67% A JKA:29,100, #:31,900, £:33,700, H:31,000
JAL JTA__| HNAFUK | FUKOKA| 33,500 63% _ H7KkA:34,300. £+ H:38.400
SPEE (BT =1LR2 R E[RE(HE) [ JAL JAL [ OKAHND|HNDGAJ| 25,000 65% _ JK7K:25,400, £:25,700, 1:26.200, H:28,400
RER(BFD [ JAL JAL | OKAITM | ITMGAJ [ 27.500 66%
W% [RECHE)| JAL JAL [ GAJHND [HNDOKA[ 25,700 64% _ JK7K:26,100, £:27,200, +:28,400, H:26,500
RER(BFD [ JAL JAL | GAJITM [ ITMOKA [ 26.900 67%  :29,200, £:31,100. H:28.300
PR GRE) =E IR X8R JTA JAL [ OKAFUK | FUKSDJ 30,400 65%  JK:31,400, A:30,800, £:31,300. £:31,900, H:34.400
ABR(FFH | JAL JAL | OKAITM | ITMSDJ 25,800 68%  JK7K:25,300, £:24,500, H:26,300
(=3 ] JAL JTA [ SDJFUK | FUKOKA| 30,600 65%  7K:31,300, £:32,900, £:32,100, H:31,900
ABR(FFH | JAL JAL | SDJITM | ITMOKA 25,800 68%  H:24,900
R GIRER) =/IMa P4 GRER) SR CRIE) [ JAL JAL | OKAHND [HNDKMQ[ 27,000 65%  JK:27,300, K:27.400. £:28,200, £:24,600, H:27,200
RS [RRCPHE) | JAL JAL _[KMQHND|HNDOKA| 26,200 66%  JK7K:26,600, £:27,700. £:26.400, B:24,900
RGBT =BA [FREB) % 18R JTA JAL | OKAFUK | FUKKCZ | 26,400 58%  H:26,300
= E1 5 ] JAL JTA [ KCZFUK | FUKOKA [ 26.400 58%  H H:26,300
R GIRER) =l #ﬁ(%ﬂﬁ)% 2 JTA JAL [ OKAFUK | FUKMYJ 24,600 59% T H:24,500
[T =] JAL JTA [ MYJFUK | FUKOKA| 24,500 59%
AR (PE)=FBEAB|RRCAB) X[ ERE JAL JAL | HNDKOJ | KOJASJ 27,000 65%  H:25400, K:27,200, £:29,400. £:28,800, H:27,600
RER (D[ JAL JAL | HNDITM | ITMASJ [ 26.000 64%  1:27,100, H:25,500
BEXBE | ERE JAL JAL | ASJKOJ |KOJHND| 28,800 62%  H:28,000, A:26,300. £:29,900
RER(BFD [ JAL JAL | ASJITM [ ITMHND [ 26.700 63%  £:27,600, H:26.300
RRECAR) =ERB|RRCARD | ERS JAL JAL | HNDKOJ | KOJKKX | 26,800 66% B H:25,800, A:28,300, £:30,500, £:29,900
EBEAE [ JAL JAL [ HNDASJ | ASUKKX 28,600 58%  &1:29.300
ERGR ERE JAL JAL | KKXKOJ | KOJHND [ 29,500 62% B 1 H:29,900, K:26.600, £:28,300
EBERE [ JAL JAL [ KKXASJ | ASJHND [ 28,600 58%  H H:29,300
RRECHR) =#2B|RRCABE) X[ _ERE JAL JAL | HNDKOJ | KOJTKN | 30,800 62%  H 7K:29,200, £:31,500, H:30,000
&= JAL JAL | HNDASJ [ ASJTKN [ 31.000 58% % +:31,700
JAL JAL | TKNKOJ[KOJHND| 30,800 62% | 5:30,000, K:28,300, £:31,900
RR CRHE) =k RE JAL JAL _| HNDKOJ| KOJOKE | 32,000 62% A :30.400, £:32,600, H:31,200
JAL JAL | OKEKOJ[KOJHND| 32,000 62% | 5:31,200, K:29.500, £:33,100
BR(CHB) =5 JAL JAL [ HNDKOJ | KOJRNJ 29,000 66% B H:28,000, 7:30.500, £:32,700, 1:32.100
5% JAL JAL__| RNJKOJ[KOJHND| 32,100 63%  F:31,300, A%:28,800
KR () =BEXS| AR (75 %[ E) JAL JAL [ ITMKOJ | KOJASJ 24,000 61%  HJKA:23,500
A% | ) JAL JAL [ ASJKOJ | KOJITM 24,200 61%  JKAK%:25,100, :23800, H:24,500
KR () =BRB| KR (7 %|__E) JAL JAL [ ITMKOJ | KOJKKX [ 25,100 60% B 7KA:24,600, £ H:25.400
BEXE | JAL JAL | ITMASJ [ ASJKKX | 24,000 57%
ERBR ERE JAL JAL [ KKXKOJ | KOJITM 25,700 59% % H:26,000, £:24,900
BEXS | JAL JAL | KKXASJ [ ASJITM | 24,000 57%
AR (P =B2B|XARFM %] ERE JAL JAL [ ITMKOJ | KOJTKN| 26,000 61%  HJKA:25,500, & H:26.300
wzER ERE JAL JAL [ TKNKOJ | KOJITM 27,100 59% B JKA:25,500, £:25,800
EEXE [ UAL JAL [ TKNASJ | ASJITM 26,400 57%
KR () =k B8 KR (5D %[ Bl JAL JAL | ITMKOJ | KOJOKE [ 27.200 61% B 7KA:26,700, % H:27,500
JAL JAL | OKEKOJ| KOJITM | 28,300 59% % H:28,600, £:27,000
KR () =5 JAL JAL [ ITMKOJ | KOJRNJ 27,300 62% B JK7K:26,800. & H:27.600
JAL JAL | RNJKOJ | KOJITM | 26,900 62%  A7KkA:26,800, £+ H:27.100
EE=BZXE JAL JAL | FUKKOJ[KOJASJ| 18,400 64%  H:19,300
JAL JAL | ASJKOJ | KOJFUK| 20,200 61%  £:21,100, B:19.700
BE=ERE JAL JAL | FUKASJ | ASUKKX | 19,800 61%
JAL JAL | KKXASJ | ASJFUK | 19,800 61%
wR=E8 JAL JAL | FUKKOJ | KOJTKN| 22,200 60%  H:21,700
JAL JAL | FUKASJ | ASJTKN | 22,200 60%
JAL JAL | TKNKOJ | KOJFUK | 22,200 60%  H:21,700
JAL JAL | TKNASJ | ASJFUK | 22,200 60%
1B =5 ERE JAL JAL [ RNJKOJ | KOJFUK | 23,500 62%  H:23,000
ia(:ﬂﬂi)——%xmil /%E(%KE) JAL RAC _|HNDOKA[OKAOGN| 35,300 59% K:35,700. 4
JAL RAC | HNDISG [ ISGOGN | 39,200 55%
/%E(%KE) RAC JAL _[OGNOKA|OKAHND[  33.400 61% :33.800. :33.700, £:34.200. F:36,000
RAC JAL | OGNISG [ ISGHND | 38,400 56% :38,300, 7k AK:36,500. + H:39,400
AR () =5E| SHEHR /%E(%KE) RAC JAL _[OGNOKA| OKAITM 33,700 57%  7%:34,200, £:33,600. . B:36,000
KR (1) [ 4 R%) [ JAL RAC | ITMOKA [OKAOGN| 33,700 57% _ 7%:34,200, £:33,600 . H:36,000
AR (BEE) =5 3E | KB (RFE) % :¢ﬁ(§ﬂ§) JTA RAC | KIXOKA [OKAOGN| 35600 54%  7%:36.200, £:36.000. . B:35,400
JTA RAC | KIXISG |ISGOGN | 31,900 56% _ 7K:33,200, A:34,800. £:34,100, H:31,100
SMESR /%E(%KE) RAC JTA [OGNOKA| OKAKIX 33,700 57%  7%:34,200, £:33,600. . B:36,000
RAC JTA__| OGNISG | ISGKIX 33,700 54% | :34,200, £:33,600 . H:36,000
BEE(PH) =5BE |2 EE (P & /%%(%KE) JTA RAC |NGOOKA[OKAOGN| 31,600 62% 7k k.29.600. £:32,900. +:33.100
| | 5S#;ESE [+MEE| RAC JTA _[OGNOKA|OKANGO[ 40,400 52%
L =58E ERE) | JTA RAC | OKJOKA [OKAOGN|  37.800 52%  JKA £:39,400
F(F) | RAC JTA _|OGNOKA| OKAOKJ|  37.800 52%  JKAK% +:39,400
18fE =5 E R R [ JTA RAC | FUKOKA [OKAOGN|  36.300 48%
SHMEFE [HEEH| RAC JTA _[OGNOKA| OKAFUK| 31,500 55%  JK:31,700, £:31,700, £:32,900. H:36,300
PRR) =5BE BB X[ R\  [JTA/RAC| RAC | OKAISG [ ISGOGN 12,900 69% & H:13,400, £:13.900
SMEF aiE RAC _[JTA/RAC[ OGNISG [ ISGOKA 13,500 68% | F:13,800, F:13,700, H:13,900




RECHE)=AXE E%(ﬂ&)% #(FBF) | JAL |JTA/RAC| HNDOKA | OKAUEO| 25200 60%  JK:25,600, % 1:27,600, B:25.300
%8 (AR;) [avutarc]  JAL [UEOOKA|OKAHND| 25,200 60%  7K:25,500, A:25,600. £:25,900, £:25,000, H:27,000
AR (B =AKE #E (BT | JAL [JTA/RAC| ITMOKA | OKAUEO| 21,700 61%  JKA:21,800, % +:22,600, H:23.400
#8 (M) [avutarec]  JAL [ UEOOKA | OKAITM 21,700 61%  JKAR1:21,800. & H:23.400
KB (BE) =A%E @(BH) | JTA |IJTA/RAC| KIXOKA [OKAUEO| 26,300 53% _ JK:26,400, A:27,000, £:26,800. +:28,500. H:26.200
%8 (A;) [avutarc]  JTA  [UEOOKA| OKAKIX 23,600 58%  7K:23,700., #:24,300. £:23,700, *£:24,400, H:26,100
BEE(PH) =R %8 (¥ | JTA |JTA/RAC|NGOOKA[OKAUEO| 22,300 63% _ JK7K:20,400, %:23,700, £:23,900. H:22,400
#8 (BBE) [savoramc|  JTA | UEOOKA|[OKANGO[ 33,300 45% _ JK:33.400, #:35.400, £:33,400, £:35,100. H:36.500
BE=AXE h#E (FRFR) | JTA [JTA/RAC| FUKOKA [OKAUEO| 27,200 42% 7k £:27,400, K H:27,300, 127 900
| #8 (BBHR) [avvtarac]  JTA | UEOOKA | OKAFUK 25,500 46%  JKA:25,600, %£:26,000, £
BRCHEA) =[R2 AR (D] JAL JAL [ HNDITM | ITMOKI 20,600 63% B /KA:20,800, £:22,100,
HE JAL JAL [ HNDIZO | 1IZOOKI 22,000 57%  H:22,100, /KAK:21,800, & 1
RER(FFD[ JAL JAL | OKIITM [ ITMHND | 19,500 65% A sKALE H:19,700. £:20,600
HE JAL JAL | OKIZO [IZOHND [ 21.300 58%
HHRGIRE) =38 [ AR JAL JAL [ OKAITM | ITMKIJ 24,500 69% 124,400, H:25,100
| KBR (D[ JAL JAL | KIJITM | ITMOKA | 23,200 70% _ H:22,300
BE=HIE TR RCHA)|[ JAL JAL | FUKHND [ HNDSPK| 35,600 59%  5:32,600, A:33,900, £:34,900, £:34,400. H:36.100
AR T8 %[ RR CRA) | JAL JAL _| SPKHND | HNDFUK | 34,900 60% _ 73:32.400, K:35.100, £:39.000, £:37.800, H:40.200
AHE(FE) ="F/E|[2HE (P %[ FECHE) [ JAL JAL _|NGOHND|HNDOBO| 20,900 70% >:21,400, 1,100, H:21,90
HIE%E (FE) | JAL JAL _|OBOHND|HNDNGO| 20,000 71% | #:22,000, £:20.100, H:21.80
2 E (FE) =M |25 E (hEh) %[ RR CHE) | JAL JAL _[NGOHND| HNDAKJ 20,500 71% :23,000 3,400, H:21,70
BII%E (FE) | JAL JAL _| AKJHND [HNDNGO| 19,600 72% _ £:20,300, H:21,500
B =% S CRE)[ JAL JAL [ TAKHND [HNDMMB[ 29,800 66%  7K7K:29,300, £:32,600. £:32,700
ESRIES (FE) | JAL JAL _|MMBHND| HNDTAK | 26,700 69%  A:27,200, £::30,900. +:28,300. H:31,100
EE=%#5 L CRED[ JAL JAL _| TKSHND [HNDMMB| 27,600 68%  JKAk:27.100, % +:29.900
i A 5 (FE) | JAL JAL _|MMBHND| HNDTKS | 26.800 69%  A:27,300, £:29,600, + H:28500
Koy =25 Ao CRHE) | JAL JAL [ OITHND [HNDMMB[ 23,400 75% z £ H:24,400
ESRIES (FE) | JAL JAL _|MMBHND| HNDOIT [ 23.400 5% & 4,400
R =223 Bl RIBF CRE)[ JAL JAL [ NGSHND [HNDMMB[ 23,900 76% F 5,000
2 A 5 (FE) | JAL JAL _|MMBHND|HNDNGS| 23900 76% & 5,000
REA=%iH5 AEAR R CRHE) | JAL JAL _[KMJHND [HNDMMB[ 23,900 75% 3 5,000
iR 5E (FE) | JAL JAL _|MMBHND| HNDKMJ| 23,900 5% & 5,000
B =255 I CRE) | JAL JAL | KMIHND [HNDMMB[ 23,900 75% 3 5,000
ESFIES (FE) | JAL JAL _|MMBHND| HNDKMI [ 23.900 5% & 5,000
ERS=%i5] ERE3 CRED[ JAL JAL | KOJHND [HNDMMB| 23,900 76% & 5,000
ESRIES (FE) | JAL JAL _|MMBHND| HNDKOJ[  23.900 76% & 5,000
EHR=BEAE |_#HR ()| JAL JAL | AOJHND | HNDASJ| 33,900 64%  A:35000, % 1:36.100, H:35.400
BEABR (FE) | JAL JAL | ASJHND [ HNDAOJ| 35,400 62%  [:36.100. £:35.900. H:36.600
ME=FEXXE S CRE) | JAL JAL [ AXTHND | HNDASJ| 36,900 58%  %:38,400, +:31,800, H:31,100
&= (FE) | JAL JAL _| ASJHND | HNDAXT | 35,300 60% _ J3:36.000, £:37.300, £:31,100. H:31,800
IMA=BEXE CHED|  JAL JAL _|KMQHND| HNDASJ| 30,600 64% £ 1:30,100, H:29,400
(FE) | JAL JAL | ASJHND [HNDKMQ[ _ 30.600 64%  H:31,300. +:29,400. H:30.10
Ei =g EAF ()| JAL JAL | TAKHND [HNDKUH| 27,900 67% 127, :29,800, + H:28,900
FEES CRHE)| JAL JAL _[KUHHND | HNDTAK | 25,800 69 :
R EER CRED [ JAL JAL | TKSHND | HNDKUH| 25,700 70% . H:26,700
FIEES CRE)| JAL JAL _[KUHHND | HNDTKS | 25,900 69
K5 =1k A% CRBE)| JAL JAL | OITHND |HNDKUH| 22,400 76%
FIEES CRHE)| JAL JAL [ KUHHND | HNDOIT 22,400 76%
RIG=1% RIB CRBE)| JAL JAL _[NGSHND | HNDKUH| 22,900 76%
FlIEES CRHE)| JAL JAL _[KUHHND |[HNDNGS| 22,900 76%
A= REAR CRBE)| JAL JAL _[KMJHND [ HNDKUH| 22,900 75%
FIEES CRHE)| JAL JAL [ KUHHND | HNDKMJ| 22,900 75%
== SEES CRBE)| JAL JAL | KMIHND | HNDKUH| 22,900 75%
FEES CRE)| JAL JAL [ KUHHND | HNDKMI 22,900 75%
ERE=4 ERES CRE)[ JAL JAL | KOJHND | HNDKUH| 22,900 76%
FEES CRHE)| JAL JAL [ KUHHND | HNDKOJ| 22,900 76% X
LEB=%IK LE% CHED|  JAL JAL | HIJHND [HNDOBO| 27,200 68% : . %:27,700, 1:26,000, H:30,000
LN CRHE)| JAL JAL _[OBOHND| HNDHIJ 26.400 69% H: 7K:27.000, £:28,500. £:29,000, H:26,300
Bi=%I5 EAFE CRED[ JAL JAL _| TAKHND [HNDOBO| _ 27.700 67%  £:29,900, +:28,500, H:32,400
HIEE CHE)|[  JAL JAL _|OBOHND| HNDTAK| 26,100 69% 7K K:26,400, £ H:29,700. 1:28,700
BE=%IL EER ()| JAL JAL | TKSHND [HNDOBO| 26,000 69%  JK7K:26,300, £:27.900, 1:25,700. H:30,200
WL CRE)|[  JAL JAL _|OBOHND| HNDTKS | 26,200 69%  JK7K:26.400, £:29.000, £:29,100, H:27.100
RO =%IL A% ()| JAL JAL _| OITHND |HNDOBO| 22,000 76% &
HLSE CRE) [ JAL JAL _[OBOHND| HNDOIT [ 22,000 76% %
RBE="H%I5 RIS (EE)| JAL JAL | NGSHND [HNDOBO| 22,500 76% &
R (FE) | JAL JAL _|OBOHND|HNDNGS| 22,500 76% %
BA=%IL (EE) | JAL JAL | KMJHND [HNDOBO| 22,500 76% &
(FE) | JAL JAL _|OBOHND|HNDKMJ[ 22,500 76% &
BB =55 ()| JAL JAL _| KMIHND [HNDOBO| 22,500 76% &
(FE) | JAL JAL _|OBOHND| HNDKMI [ 22,500 76% &
ERG=%L ()| JAL JAL | KOJHND [HNDOBO| 22,500 76% &
(FE) | JAL JAL _|OBOHND| HNDKOJ[ 22,500 76% &
TEI=m=h CRE) [ JAL JAL__| AKJHND [HNDTAK| 27,900 67% 428,900, 26,500, H:30.200
(FE) | JAL JAL _| TAKHND | HNDAKJ | 26,700 69%  JK7K:26.900, £:29.900, £:30,400, H:29,100
WEE=@0 CRE)[ JAL JAL | HKDHND | HNDTAK | 25,900 66% 5,400, H:30.70
(FE) | JAL JAL | TAKHND [HNDHKD [ 26.500 65% 8,500, £:27,500, H:28.200
HE=5 CRE) | JAL JAL | HKDHND [ HNDTKS | 26,000 65% £:25,800, H:28,101
BE R CRE)|[ JAL JAL [ TKSHND | HNDHKD [ 24,800 67% : :
RE(CHA) =RFR [RECRR) | &K JAL JAL | HNDHKD | HKDOIR | 18,900 67% 19, ,500, H:18,600
AR e JAL JAL | OIRHKD | HKDHND| 20,000 65% : ,00i
| R (FFH =8k | HR3kE HEE JAL JAL | OIRHKD | HKDITM | 22,400 66% _ A.24.200. £.22.500. H:23.80
(B =18 PRI R| B JTA JAL | OKAFUK | FUKTKS 26,300 59%  HIKAK:27,700, £:27.900. £:29.100, B:29,300
(TS 2R JAL JTA [ TKSFUK | FUKOKA[ 26,500 59%  H:26,800. 7K:25.400, A:25,200, £:25,400, H:26.600




EI=15 JEES JAL JAL | AKJHND | HNDTKS | 26,200 69% | #::28,000, +:26,900. H:26.800
BB JAL JAL _| TKSHND | HNDAKJ | 25,500 70% _ JK7K:25.700, £:27.600, £:28,000, H:26,900
BII=X% JENIE: JAL JAL [ AKJHND | HNDOIT 21,400 77% _ #1H:22,400
K% JAL JAL _| OITHND | HNDAKJ| 21,400 77% | #+ 0:22.400
FLIR (EBR) =B [ALIR (L BR) ¢ JAL JAL [ OKDHKD | HKDOIR 17,600 53 + H:14,600
B JAL JAL _| OIRHKD | HKDOKD| _17.600 53%  1:17,100, B:14,600
SR =B AR JAL JAL _[KUHOKD | OKDHKD| 20,200 54
JAL JAL | HKDOKD | OKDKUH| 20,200 54
JAL JAL__| KUHOKD [ OKDMSJ| 24,200 52%  5:18,000
JAL JAL | MSJOKD | OKDKUH| 21,100 58%
JAL JAL | RISOKD [ OKDHKD| 20,100 57%
JAL JAL _|HKDOKD | OKDRIS | 22,800 51%
JAL JAL__|KUHOKD [ OKDRIS | 19,800 61%
JAL JAL | MSJOKD | OKDRIS | 19,300 64%
JAL JAL_| KOJHND [ HNDAKJ| 21,900 77%
JAL JAL _| AKJHND [ HNDKOJ| 21,900 7%
Rig=1he)Il JAL JAL _[NGSHND | HNDAKJ| 21,900 77%
JAL JAL _| AKJHND [HNDNGS| 21,900 7%
REAR=1EJI| JAL JAL _[KMJHND | HNDAKJ [ 21,900 77%
JAL JAL _| AKJHND [ HNDKMJ| 21,900 7%
=g =8Il JAL JAL | KMIHND | HNDAKJ| 21,900 77%
JENIES JAL JAL _| AKJHND | HNDKMI | 21,900 7% :
RHR(PA)=XE KR CRE) % JAL JAL [ HNDKMJ | KMJAXJ 20,400 64% 0,000, %:21,200, £:21,300
KEH JAL JAL [ AXJKMJ |KMJHND [ 21,300 62% 0,000, 7K:21,200, $:20,500. £:21,000
EGAEEED JAL JAL | HNDFUK [ FUKAXJ | 28,200 55%  F:25,800, &:25,400, £+ F:28,500
XER JAL JAL _| AXJFUK | FUKHND | 30,300 51% _ F:27,100, A:26,700, £:31,200, £:27.800
KR () =XRE | X (B % JAL JAL [ ITMKMJ | KMJAXJ 17,200 57%
XER JAL JAL | AXJKMJ | KMJITM | 17.200 57%
pNHGIEE JAL JAL | ITMFUK | FUKAXJ 20,300 54%  JK7:19,900. £:20,900. H:20,100
KEH #akm JAL JAL | AXJFUK | FUKITM | 20.000 55% | AKA+ H:20.200
WREFFR) =KREHRFTH %] 18R JAL JAL [ SPKFUK | FUKAXJ 27,200 66%  A:27.500, £:28,100, £ H:28,600
RER JAL JAL _| AXJFUK | FUKSPK | 27.200 66%  A:27,500, £:30,000, + H:28,600
BEAB=AKRE| BEEXBH JAL JAL | ASJTKN | TKNOKE [ 11,900 60%
ik RERSE JAL JAL [ OKETKN | TKNASJ [ 11,900 60%
BE=FRMH | EEX [ KB JAL JAL _| TKNOKE | OKEOKA| 15,600 58%
i JAL JAL | OKAOKE | OKETKN | 15,600 58%
RRECHER) =815 JAL JAL _[HNDKOJ|KOJTNE [ 23,900 62% B K:22,300, £:24,500, H:23,100
JAL JAL | TNEKOJ [KOJHND| 23,500 63% A+ H:23,900. £:20,900. £:24,500
R CRE) =BAR JAL JAL | HNDKOJ[KOJKUM| 24,300 63% | H:22,700, A:23,600, £:25,800, £:25,200. H:23,500
JAL JAL | KUMKOJ|KOJHND| 25,200 61% A ,300, 7:22,700, %:26.300
AR () =BAE JAL JAL [ ITMKOJ |KOJKUM[ 20,400 59% B JK7K:19,900. € H:20,700
JAL JAL | KUMKOJ| KOJITM | 21,500 57%  A7KA:19,900, £:20,200
JAL JAL | OKAASJ[ASJKOJ| 26,400 54% % +:27,300
JAL JAL _| FUKKOJ | KOJKUM| 15,700 61%
JAL JAL | KUMKOJ[ KOJFUK| 15,700 61%
JAL JAL | FUKKOJ | KOJTNE | 14,800 62%
JAL JAL | TNEKOJ [ KOJFUK| 14,800 62% H
LE=RJI JAL JAL [ HIJHND | HNDAKJ [ 25,300 71% | F:25.400, JKA:25,500, %:27,600, £:28,100, H:26.700
JAL JAL_| AKJHND [ HNDHIJ | 26,800 69% | H5:27.200, £:27.500. H:26.100
=2k JAL JAL | MYJFUK | FUKKMI 18,200 64%  HIKAH:18,400. £:18,600, £:19,500
JAL JAL | KMIFUK [ FUKMYJ| 19,100 62%  HKA%:18,400, 1:18,700, H:18,600
(BB =BEXS JAL _|JAL/RAC| ASJRNJ | RNJOKA | 17,550 58%
HR=E JAL JAL | OIROKD | OKDHKD| 18,000 58% |+ H:15,000
JAL JAL _|HKDOKD | OKDOIR | 18,000 58% £ H:15.000
ESN JAL/RAC| JAL | RNJOKA|OKAASJ| 15,100 67%
] B 15 JAL JAL | TSINGS [NGSHND| 25,500 60% _ 7:25400, 7:24,900. £:27,000.
[52] JAL JAL | TSJFUK [ FUKHND | 27,600 55% | H:27,000, A:26,500, £:29,30
RRCHE | R JAL JAL _|HNDNGS| NGSTSJ 25,500 60%  F:25400, A:24,900, £:27,000,
[52] JAL JAL | HNDFUK [ FUKTSJ | 27,600 55% | H:27,000, A:26,500, £:29,30
HER(RAE)=EBEI| ABRIE | R& JAL JAL | FUINGS |NGSHND[ 23,900 62% B 7K:23,700, £:25,300. £:25,000, B:23,400
[52] JAL JAL | FUJFUK [ FUKHND | 32,000 51% | H:30,300, A:29,400, £:32,600, +:31,400. H:33.400
EEC T JAL JAL _[HNDNGS | NGSFUJ 23,900 62% B 7K:23,700, £:25,300. £:25,000, B:23,400
[52] JAL JAL | HNDFUK [ FUKFUJ | 32,000 51% | H:30,300, A:29,400, £:32,600, +:31,400. H:33.400
HR(CHA) =8I S5E3 15} JAL JAL [ IKINGS |NGSHND[ 23,000 62%  F7K:22,100, %:23,700, H:21,900
EGACEED 15 JAL JAL__|HNDNGS| NGSIKI 23,500 61 B:22,200, A:21,600. £::23,700. H:23,600
RIR () =% 5% wES 5 JAL JAL | TSINGS [ NGSITM [ 19.900 59 A 7K K:20,300, £::
[52] JAL JAL | TSJFUK | FUKITM | 20,200 53 A:21,100, JKA:
KR (FFH%E| R JAL JAL | ITMNGS | NGSTSJ 19,900 59 A 7K A:20,300. £
18 JAL JAL [ ITMFUK | FUKTSJ 20,200 53 A:21,100. JKK:
KE(FH =EBEI| ABRIE ] JAL JAL | FUJFUK | FUKITM | 22,900 52% | HIKA:21.800. £ H:23,
£ JAL JAL__|FUINGS [ NGSITM | 16,600 64% | A 7KA:17,300, %:17,400, +:17,200, H:17.700
KB (A | 8@ JAL JAL | ITMFUK | FUKFUJ 22,900 52%  HIKA:21,800, % H:23,100, £:23,800
15 JAL JAL | ITMNGS [NGSFUJ| 16,600 64 A 7K A:17,300, %:17,400, £:17,200, H:17,700
KIR () =Bk S5E3 15} JAL JAL | IKINGS | NGSITM 15,700 64 £:15,800, £:15,600
PNACIE IR JAL JAL | ITMNGS | NGSIKI 15,700 64 B %:15,800, H:16.200
i 5 JAL JAL _| TSJFUK | FUKTKS | 20,900 55%  A:23,300, kA% + H:22.300
nE JAL JAL | FUJFUK [ FUKTKS | 23,800 53%  F:26,600, KK £ +:25,200, H:25,600
3 JAL JAL _| TSJFUK | FUKMYJ| 20,350 51%
nE JAL JAL | FUJFUK [ FUKMYJ| 22,550 51%
3 JAL JAL _| TSJFUK | FUKKGZ | 22,150 51%
nE JAL JAL | FUJFUK [ FUKKCZ | 24,400 51%
3 JAL JAL _| TSJFUK | FUKHNA | 27.600 61%  H:29.400, 7/KA:28,400, %+ H:32.500
nE JAL JAL | FUJFUK [ FUKHNA| 30,500 60%  5:32,700, 7K:31.300, % 1 H:35.400
3 JAL JAL _| TSJFUK | FUKKOJ | 16.800 57% A% +:17.800. H:17.300
nE JAL JAL | FUJFUK [ FUKKOJ| 19,700 55% A% +:21,100, H:20,600
H 3 JAL JAL _| TSJFUK | FUKIZO | 23,100 51%
S E JAL JAL | FUJFUK | FUKIZO | 25300 51%




_ EEHHAA 2023/1/5
BEH
B #2i® = . 2/22-2/28 | gaim %
RR(PH) =8d SR#E(IBFR) | JAL [JTA/RAC| HNDOKA|OKAMMY| 27,000 62%  7K:27,500, A:33,000, %:29,500, +:28,000, H:25,200
S (FR%) [JTA/RAC|JAL | MMYOKA[ OKAHND| _ 27.300 62% | HK£:27.700. A:25,300. £:26,400. H:33,700
RR(HE) =%\ SP#E(IBF) | JAL |JTA/RAC| HNDOKA | OKAISG 28,700 64%  7K:27.500, #:33,500. £:30,500, £:28,600, H:27.100
ABR (BAF) | JAL JTA | HNDKIX | KIXISG 36,000 59%  F:36,200, 7K:33,400, A:37,600, £:35,500, £:36,400, H:35,100
Giag |98 (%) [JTA/RAC|  JAL | ISGOKA |OKAHND| 28,000 64%  JKA£:27.800. £:29.700. H:33.200
KR (A =% @31 | KBk (5 F[R= (HE) [ JAL JAL _| ITMHND [HNDMMB| 26,000 67%  7K:29,200, A:31,200, &: +:27,400, H:29,200
[HLIRGHTFR) | JAL JAL | ITMSPK [SPKMMB[ 25,600 67% %:25,800. 7K:29.200 +:27,100, H:23400
ZiGplFE [ERCHE)| JAL JAL _[MMBHND| HNDITM 26,300 66% 126,200, 7K:27,000. 7 £ . H:33,100
EX3 JAL JAL _|MMBSPK| SPKITM | 25,200 67% _ 7K:29,600, A:26.100.
PACEEES PN ACEIEIES: JAL JAL | KIXHND [HNDMMB[ 24,100 69%  7K:27,600, K:28,500.
ESRIES JAL JAL _|MMBHND| HNDKIX | 24,400 69%  7K:26,000, A:27.500.
K (FFH =1 [ KBR () % JAL JAL | ITMHND | HNDAKJ [ 26.200 66% :26,800., 7K:21,300, 7 . H:27,400
JENIES JAL JAL | AKJHND | HNDITM [ 25500 67%  7K:26,500, K:24,100, £:
KR (B#) =581l | KBz (B8F8) % JAL JAL | KIXHND | HNDAKJ[ 23,000 70% _ 7K:21,300, K:25,300,
JENIES JAL JAL | AKJHND | HNDKIX [ 24.300 68%  7K:24,900, K:25.200, £:
KB (A =8I [ KBk (B % JAL JAL | ITMHND |HNDKUH| 26,900 64% _ 7K:27,600, K:29,200,
FIE JAL JAL | KUHHND | HNDITM | 26,100 66% 126,000, 7K:27.000. 7 . H:28,400
KR (B#) =83 | XMk (B9F8) % JAL JAL | KIXHND |HNDKUH| 23,300 69%  7K:24,300, K:26,500. 500,
FIEES JAL JAL _[KUHHND | HNDKIX 24,000 68%  7K:25.700, #:25,600. £:27,000, £:25,800, H:27.90
KR (D) =FIE [RREH % JAL JAL [ ITMHND [HNDOBO| 25,800 66% 126,200, 7K:25,400, 7K:24,500, £:25400. H:26,700
BILH JAL JAL _|OBOHND| HNDITM [ 25,700 66%  7K:27,400, X:28.200, £:27.300, 1:26,500, H:27.400
P AGCEEE TP AC RS JAL JAL | KIXHND [HNDOBO[ 23,800 68% _ 7K:25,400, K:24,300, % H:27,500, 1:26,700
BILH JAL JAL _|OBOHND| HNDKIX [ 24,500 67%  7K:25,900, A:29.300, £:27.400, +:26,600, F:26.900
KRR (FF3) =B8R | KR (B FH % JAL JAL | ITMHND |HNDHKD | 25,000 62% _ 7K:26,300, K:26,000, £:26,300, H:28,400
BEER JAL JAL | HKDHND | HNDITM | 26.300 60% _ 7K:26.200, #:24.700, £:25,300, £:26.500.
KB (BHEE) =ERfE | KRR (RAFE) % JAL JAL | KIXHND |HNDHKD| 23,700 64%  7K:26,400, A:24,000, % 6,300,
BEESE JAL JAL | HKDHND [ HNDKIX | 25,100 62%  7K:25200, A:25,800. 6,600, H:27.600
KB () ==iR | XBR (1) 5| JAL JAL | ITMHND | HNDMSJ 24,400 62% :21,700, 7K:22,100, A:23,200. %:18,700, £:19,000, H:23,000
REE JAL JAL | MSJHND [ HNDITM | 23,000 64%  7KK:23,400, £:22,000, £:22,200, H:22,600
KB (B87E) = =iR | KB (B97E) 5| JAL JAL | KIXHND | HNDMSJ 21,200 67%  H:17.900. 7K:20,500, #:22,600. £:20,000., £:20,300. H:23,800
REE JAL JAL | MSJHND [ HNDKIX | 21,800 66%  :23,200, #:22,200, +:22,400, B:22,300
RIR (D) =18 [ KBR () % JAL JAL [ ITMIZO | IZOOKI 15,900 59% H H:15.300
[ETES JAL JAL | OKINIZO | 1ZOITM 16,100 59% B H:15,300
KR (75 =58 F & | KR (5 % JAL JAL [ ITMKOJ | KOJTNE 18,600 62%  H:19.100, 7K:19,700, A:20,400, %+ H:19,700
JAL JAL | TNEKOJ [ KOJITM | 19,700 60% | JK:20,000. 7A:19,200, £ T:20,000
AR (B =8 JAL _[JTA/RAC| ITMOKA [OKAMMY| 23,000 64%  7K:24,000, A:30,800. £:24,500, £:23,200, H:25,000
JTA/RAC| _JAL _|MMYOKA[ OKAITM | 23,000 64% B 1:23.400, /K:25,800. 30,800, £:24,600. H:27.300
AR (B == JTA _[JTA/RAC[ KIXOKA |OKAMMY[ 29,000 55%  7%:32,100, 1:31.800
JTA/RAC| _JTA _|MMYOKA[ OKAKIX | 29,600 54% | H:29,400, 7K:27.000, A:30,000, £:28,900. + H:33.800
PN ACE Bt JAL _|JTA/RAC| ITMOKA | OKAISG | 24,600 65%  JK:25,500, A:31,300. £:25,500. +:23,900. H:25.700
JTA/RAC| JAL | ISGOKA | OKAITM | 23,500 67%  +:23,400. H:27.300
AR (Bd8) =RiE |4 JTA _[JTA/RAC[ KIXOKA | OKAISG 28,200 60%  H:27.300, 7K:27.400. A:32,100, % H:27,400, 1£:31,800
EH [H@H) [JTA/RAC| JTA | ISGOKA | OKAKIX 29,500 58%  +:31,000, H:32,100
2EHE (PH) =25 [ HE (P8 H[ ARG TR | JAL JAL _|NGOSPK|SPKMMB| 24,800 66%  /K:29,100, 7#:33,400. £:27,900. +:24,400. H:19.900
ZHmpIE [REFTE) | JAL JAL | MMBSPK[SPKNGO| 25,200 65% _ JK:26,200, 426,700, £:25,800, +:24,300. H:30,600
BEE(FE) =2 |2&E(PE) F M ()| JTA [JTA/RAC|NGOOKA|OKAMMY| 23,200 67% 123,300, 7K:22,100, A& 1:32,900, H:24,800
E&% | P (FE)[JTA/RAC[  JTA |MMYOKA|OKANGO| 33,400 52%
REHE(FE) =FR1E |[LERE (P R PFE(FH)| JTA [JTA/RAC|NGOOKA| OKAISG 24,800 67%  H:24,900, 7K:23.400. A& 1:32,900, £:24,200. H:25500
RiER #& (%) [JTA/RAC| _JTA | ISGOKA [OKANGO| 32,800 57% »:32,900, 1 H:33.400
FLIR (FFm) =/ AR TR % SR CHE) | JAL JAL | SPKHND |HNDKMQ| 25,200 63%  7K:27,800, A:27,500, £:27,800, £:27,700,
IMAFE CRE) [ JAL JAL__|KMQHND[ HNDSPK| 23,700 65%  7K:25200, A:31,300, £:26,700, £:26,500,
FLIR (FFa%) =R 4R T &) 8| SR CHE) | JAL JAL | SPKHND | HNDOKJ 28,300 64 7K:29,900, 7X:31,000, £:32,100, 1:32,400,
5] CRE) [ JAL JAL | OKJHND [ HNDSPK| 29,100 63% _JK:32,400. A:32,800, £:30,50 0,000,
FIRFTFR) =L5 R FH TR R FRCHE) | JAL JAL | SPKHND | HNDHIJ 32,500 59 :32,400, 7K:33,100, A+ H:33,600, £:33,100
L5 CHED|  JAL JAL | HIJHND [HNDSPK| 30,900 61% 5 1:30,800, /K A H:33,600, %:31,400
AR B F8) =IO AL0E B Fa) %[ (FE) | JAL JAL | SPKHND [ HNDUBJ| 32,300 62%  JK:33.400, #:32,900. £:32,500. +:35,100. H:35.200
=EZE] CRE) [ JAL JAL | UBJHND [ HNDSPK| 31,000 63%  7K:31,800. A:35,200, £:31,800, £:31,600, H:32,100
IR FFm) =HZ R F TR R SR CHE) | JAL JAL | SPKHND | HNDIZO 31,500 59%
HE CRHE)|  JAL JAL [ IZOHND | HNDSPK| 31,500 59%
IR (FHFm) =K5 *L&E(%}%’»ﬁ)% TR CHHE)|[ JAL JAL | SPKHND | HNDOIT 33,000 61%  7K:34,800, A+ H:35.200, £:35,100
ARFE CRE) [ JAL JAL | OITHND | HNDSPK| 32,600 62% | H:33,000, 7KK:35,200, %:33,200. H:34,000
IR (FFm) =RG IR G TR % SR CHE) | JAL JAL | SPKHND |HNDNGS| 34,600 61%  7K:35,500, A:34,300, £:34,20
i CRE) [ JAL JAL | NGSHND [ HNDSPK| 34,700 61% :35,000, 7K:35,800, 4 . H:34.300
FLIR (B Fa) =REA[HUIR T8 8| SR CHE) | JAL JAL | SPKHND | HNDKMJ 33,600 61%  7K:36,100, A:35,900, £::
A CRE) | JAL JAL | KMJHND [ HNDSPK| 31,900 63% _ JK:34,700, A:
IR (FFm) ==W5 IR H TR % SR CHE) | JAL JAL | SPKHND | HNDKMI 32,000 63%  7K:34,200, 4
SEE] CRE)|  JAL JAL | KMIHND | HNDSPK | 29,400 66%  7K:35,200, K:
AR FT T =B R B4R (TR [ 3m CRE) | JAL JAL | SPKHND [ HNDKOJ[ _ 31.600 65% :33,300, 7K: H:41,000
ERG3 CRE)|  JAL JAL | KOJHND | HNDSPK | 31,300 65%  H:34,500, K: H:37,600
IR (BT A = P4 (BB | ALIR (3 T 50 % R CHE) | JAL JAL | SPKHND [HNDOKA[ _ 36.000 61%  JK:42,300, &
5 JAL JTA | SPKFUK | FUKOKA| 31,900 67%  JK:32,100, A
hHE(ADER) R (PIH) [ JAL JAL [ OKAHND | HNDSPK | 34,500 62%  7K:39,200, A
PN JTA JAL | OKAKIX | KIXSPK | 32,900 65%  :41,000, %
JTA JAL _| OKAFUK| FUKSPK | 31,500 68%  H:30,400, JK: . H:34,000
FLIR (T #%) =R 18 [4LIR (i T#%) 5[ 3 JAL JAL [ SPKHND | HNDISG 46,800 59%  7K:47.300, K:48,400. %
AiER 3 JAL JAL | ISGHND [ HNDSPK|  46.800 59% _ JK:47.100, #:50.700. %
18k =% 5l fHEES 3 JAL JAL | FUKHND [HNDMMB[ 32,300 66%  7K:35,500, A:39,400, %
EX3 JAL JAL _| FUKSPK | SPKMMB| __ 27.700 69% 127,900, 7K:27.200. A: . H:24,500
S FIEINET JAL JAL _[MMBHND| HNDFUK | 31,900 67%  7K:35,300, K:34,100, %
] JAL JAL _|MMBSPK| SPKFUK | 26.400 70%  F%:26,600, 7K:26,900, :28,200, £:19,800, H:27.900
&R =18J11 FeEES G JAL JAL | FUKHND | HNDAKJ [ 31,200 67% _ 7K:33400, A%:34,800, 1:34,200, H:36,100
JEIES JAL JAL _| AKJHND [ HNDFUK | 30,900 67%  JK:34,000, #:30,300. £:31,300. +:31,700. H:34.200
1EkE =gl BEFE JAL JAL | FUKHND [HNDKUH| 32,700 65%  7K:33900, K< H:36.900, +:34,100
SRS JAL JAL | KUHHND | HNDFUK | 31,000 67% _ JK:33,900. #:30.200, £:31,200, £:31,400.
[HEEETN BEEFE JAL JAL | FUKHND [HNDOBO| 32,000 65%  JK:32,400, A:32,500, £:33,700, +:34,500.
HLEH JAL JAL _|OBOHND| HNDFUK| _ 31.100 66% _ JK:35,800, A:33,400, £:32,300.
fHERE EEFE JAL JAL | FUKHND | HNDHKD | 31,900 62%  7K:33,000, A:34,200, %:33,20
JAL JAL _| FUKITM | ITMHKD | 23,200 69% :25,000, 7K:27.400, A:32,900, . H:25,600
JAL JAL | HKDHND [ HNDFUK| 31,400 63% :33,100, A:29,900, %:29,700, £:32,200, H:35,00
JAL JAL _| HKDITM | ITMFUK | 24,000 68% 5 %:26,100, /k:27,200, :29.700, £:28,800, H:32.300
B =H5% JAL JAL | FUKHND [HNDAOJ| 23,000 2% % 3,800
JAL JAL _| FUKITM | ITMAOJ | 18,500 74% A H:19,000, 7:18,900
JAL JAL__| AOJHND [ HNDFUK| 23,000 72% 2+ H:23,800
JAL JAL | AOJITM | ITMFUK | 20,400 72% | B A% 1:20,800, 7K:20.700, H:20.700
B/E= JAL JAL | FUKHND [HNDMSJ| 21,000 74% 2+ H:21,800
JAL JAL | MSJHND [ HNDFUK | 21.000 74% %+ 0:21.800
JAL JAL | MSJITM [ ITMFUK | 21,700 71% __ BAKAZ T H:25900
1B =E [HEES R(CH JAL JAL | FUKHND [ HNDAXT [ 29.800 61%  7K:29.900. 7:31,400. £:30,300, £:30,600, H:32,200
MEE [REGIH)|[ JAL JAL | AXTHND | HNDFUK | 29,200 61%  7K:32,300, A:30,600. £:27,500. £:31,200, H:30,800
ABR(FFHD | JAL JAL [ AXTITM | ITMFUK 22,200 67%  H:22,000. 7K:22,400. X:23,100, £:23,300, £:22,400, H:21.500




&k =L wEFE |[RZEH)| JAL JAL | FUKHND | HNDGAJ| 24,400 63%  7K:23900. K:24,800. £:23,100, £:26,800, H:27.800
)| JAL JAL _| FUKITM | ITMGAJ | 25,800 61% A H:27,900, kA% 126,200
)| JAL JAL | GAJHND [ HNDFUK | 22,700 65% _ JK:24,600, A:26,300, £:23,800, £:27,300. H:28.400
D[ JAL JAL | GAJITM | ITMFUK | 24,800 63% A H:29,300, K:28,300, 7:29.20
BRE=/ME JAL JAL | FUKHND [HNDKMQ| 26,400 64%  7K:25600, A H:27,200, %:24.60
JAL JAL _|KMQHND| HNDFUK [ 24,500 66%  JK:25,600, A H:27.200, %:23,60
== JTA _[JTA/RAC[ FUKOKA [OKAMMY| 26,800 52%
JTA/RAG| JTA |MMYOKA[ OKAFUK|  26.900 52%  7K:26.400, £:26.800
1B =h1E JTA_|JTA/RAC| FUKOKA | OKAISG | 27,100 57%  A1:27,000
JTA/RAC| _JTA | ISGOKA | OKAFUK| _ 27.100 57%
ES RN JAL JAL__|MMBHND[HNDKMQ| 23,200 70%  7K:25000, A:27,100, £:24,400,
JAL JAL _|KMQHND|HNDMMB| 23,300 70% __ 7K:26.500, A
Al =Rl JAL JAL _[MMBHND| HNDOKJ| 26,000 70% _ 7K:27,600, K:30,400.
JAL JAL _| OKJHND [HNDMMB| __27.900 68%  JK:31,400, #:33,900, £:31,700.
ES TN JAL JAL _|MMBHND[ HNDHIJ | 27,200 69% :27,300. 71 N . H:37,200
JAL JAL _| HIJHND [HNDMMB| 28,100 68%  H:28,300, JK: N . H:34,400
il =tHE JAL JAL _|MMBHND][ HNDIZO | 30,800 64% _ JK:31,000, A . £:35,300, H:36,401
JAL JAL _| IZOHND [HNDMMB| 31,500 63% _ JK:35,000, A
iRl =1l JAL JAL _[MMBHND|HNDMYJ| 30,300 66%  7K:30,800, A . 1:36,800, H:41,500
JAL JAL | MYJHND [HNDMMB| 29,200 68% :29,500., 71 . £:39,000, £:38,000, H:39.300
Zimpl=hiE ESTLES CRE)[ JAL JAL _[MMBHND| HNDISG 46,900 62%  7K:48,900, &' . H:51,300
AiEH (FE) | JAL JAL | ISGHND [HNDMMB| _ 47.200 62% _ JK:48.200, & . £:49,800. H:52,600
JEENEA FEIES CHED|  JAL JAL | AKJHND [HNDKMQ| 23,100 70%  7K:23,900, A 3,300, H:24,000
(FE) | JAL JAL _|KMQHND| HNDAKJ [ 22,200 7% JK:24.500, % . £:23,500, B:26.700
I =mfeEE CRE)[ JAL JAL | AKJHND |HNDSHM| 24,300 71% _ 7K:24,700, XK: N 25,300
(FE) | JAL JAL | SHMHND [ HNDAKJ [ 31.400 63% :31,800, 7k: N . £:32,300. H:35,400
EJIT=FE L CRE) | JAL JAL__| AKJHND [HNDOKJ| 26,300 69%  JK:26,700. A: . £:28,000, H:28,401
il (FE) | JAL JAL _| OKJHND | HNDAKJ | 26,600 69%  JK:28.400, & N
BII=HE JENIE: CRBE)| JAL JAL [ AKJHND | HNDIZO 28,900 66%  H:29,000, A
HE (FE) | JAL JAL | IZOHND [ HNDAKJ [ 30.200 64% _ JK:32,000, A H:34,700, %:35,
FEJI=#210 JEIES (RE) | JAL JAL__| AKJHND [HNDMYJ| 28,700 67%  7K:30,500, A:34,200, £:34,80!
[AIIE (FE)| JAL JAL | MYJHND [ HNDAKJ [ 29.100 67%  H:29.200, 7K:31,500, %:37.60 0. £:34,900. H:36.600
BNl=%1E JBIIFE CRE)| JAL JAL [ AKJHND | HNDISG 46,800 62% _ 7K:45,200, K:46,600, £:47,10
AiEF (FE) | JAL JAL | ISGHND [ HNDAKJ | 46.100 62% _ JK:45,900, #:44.800, £:47.90
SR =/ R 3 CRHE) | JAL JAL _[KUHHND [HNDKMQ[ 22,600 70% _ 7K:24,200, K:25,200, £:25,10
MRS (FE) | JAL JAL _|KMQHND| HNDKUH| 24,000 68% _ JK:24,900, #:27.800, £:28,00
$ll% =Fel L1 SR 3¢ CRE)[ JAL JAL | KUHHND | HNDOKJ| 24,900 71%  7K:25,800, A:28,700, %:28.90
G CRE)|[ JAL JAL _| OKJHND | HNDKUH| 28,800 66% _ 7K:29,800, A:31,900, £:32.60
fIR=1L5 SR CRE)| JAL JAL _[KUHHND | HNDHIJ 27,000 69% 126,900, 7k:28,100. 7:30,50 . H:32,500
LE% (FE) | JAL JAL | HIJHND [HNDKUH[ _ 29.000 66% | H:29,200. 7K:30,000, A:34.50 . B:32,700
flER=HE S8 3 CRBE)| JAL JAL _[KUHHND | HNDIZO 30,600 63% _ 7K:31,500, A:33,100, £:34,20
HE (FE) | JAL JAL | IZOHND [HNDKUH| _ 32.400 61%  JK:33.400, & . B:35,900
fllgg =421 FEE3 CRE)[ JAL JAL | KUHHND | HNDMYJ| 28,800 67%  7K:30,000, :35,300, £:35,200, £:34,700, H:36.700
[NITE CRE)|[  JAL JAL | MYJHND [ HNDKUH| 30100 66% :30,400, 7k:31,100, A:39,000, £:39,900, +:35,600, H:37,600
SR ="H1E SR 3 CRE) | JAL JAL _[KUHHND | HNDISG 45,800 62% _ 7K:44,900, K%:47.000, :45.400. H:48,000
AiEH (FE) | JAL JAL | ISGHND [ HNDKUH| _ 45.400 62% _ JK:44.700, #:45,300, £::46,900, £:47.400.
WIL=/M LS CRE)[ JAL JAL _|OBOHND|HNDKMQ[ 23,300 69% _ 7K:24,900, A:28,900, £:25,50 3,900,
IMAFE (FE) | JAL JAL _|KMQHND|HNDOBO[ 23,000 69%  JK:24.200, #:23,300, £:25,800, £:24.600.
L =FE Ll BLE CRE) | JAL JAL__|OBOHND[HNDOKJ| 26,100 69%  7K:28,300, A:31,300, £:29,301 8,600,
[EITE:S CRHE)| JAL JAL [ OKJHND [HNDOBO[  27.100 68%  JK7K:27,400, £:29,300 8,600, H:29,000
HLE=HE LS CRED[ JAL JAL__|OBOHND| HNDIZO | 29,600 64%  7K:31,500, A:36,400. £:34,600. £:35,300, H:35,100
HE (FE) | JAL JAL | IZOHND [HNDOBO|  30.700 63% _ JK:31,000, #:33,700, £ £:35,500, H:34,200
wL=H L CRED[ JAL JAL__|OBOHND|HNDMYJ| 29,100 66%  JK:31,300, A:38,300. :35,600, H:36,000
HALIFE (FE) | JAL JAL | MYJHND [HNDOBO| _ 28.400 67% 7K:28.700., #:34.500 . £:36.000, H:35.900
HLE=HAE BLE CRE) | JAL JAL__|OBOHND[ HNDISG | 47,000 61%  7K:46,800. A:50,700, £::48,100. 1:46,600, H:47.800
AiER (FE) | JAL JAL _| ISGHND [HNDOBO| 46,900 61%  7K:46,000, AK:45.400, £:48,500, +:47.800, H:50.100
EEE=/MR ENEER CRE) |  JAL JAL _[HKDHND [HNDKMQ[ 23,900 64% _ 7K:24,200, K:25,400, £:23,50
AT (FE) | JAL JAL _|KMQHND|HNDHKD [ 22,900 65% _ JK:25.200, A:24,600. :25,900.
EEE=FE Ll BEER CRE)[ JAL JAL | HKDHND | HNDOKJ| 26,700 65%  7K:27,500, K:27,800, £:27,300,
G CHE)|[ JAL JAL _| OKJHND [ HNDHKD | 26,900 65% :27,500, A:28,700, %:29,400,
HE=L5 AR CRE)[ JAL JAL _[HKDHND | HNDHIJ 27,600 64% :28,000,, 7K:27,700, 7:28,700. . H:32,200
LB% CRE)| JAL JAL [ HIJHND |HNDHKD [  27.100 65%  F:27,300, 7K:27.800. &:31,300, %:29,500, 1:27.900. H:30,800
HEE=HE B CRE)[ JAL JAL [ HKDHND | HNDIZO 29,700 60%  H JK:29,800, A:33,300, %:32,700. £ H:35,300
RER(BFD [ JAL JAL _| HKDITM | ITMIZO 23,800 67% _ H:25.700, 7K:24.900, A:27.400, £:26.500. H:31.900
HE SRR CHE) | JAL JAL | IZOHND |HNDHKD | 30,500 59%  7K:30,700, A:35,000, % H:35,300, £:35,100
ABR(FFH | JAL JAL [ IZOITM | ITMHKD 23,000 68%  JK:25.400, 7A:31,400. £:25,000, £:25,400, H:23,600
A= WEERE  [ER(RE)| JAL JAL | HKDHND | HNDMYJ| 28,900 63%  7K:29,200, K:34,800, £:33,900, +:35,500, H:36.400
RER(BFD [ JAL JAL | HKDITM [ ITMMYJ [ 25,200 63% _ 7K:26,300, A:28,900, +:28,000, H:31,400
WL  [ERCEE)| JAL JAL _[MYJHND | HNDHKD| 28,200 64% :28,500. 7K:28,900, 00, £:36,700, +:35,600. H:37,600
BRE =4t AL BEER [ERCHE)| JAL JAL _[HKDHND | HNDKKJ [ 28,600 66%
AMFE [ERCHAE)| JAL JAL | KKJHND | HNDHKD [ 28,600 66%  JK:28,500, £:28,300, £:28,000. H:26,800
HiE=K% WEX [ERCHE)| JAL JAL _[HKDHND | HNDOIT 21,900 73%  # 1 H:22,500
AER(EFFD [ JAL JAL | HKDITM | ITMOIT | 24,700 66%  F:27,300, 7/K:29,000, A:30,700, £:27,900, £:30,600. H:33,500
A% [ERCHE)| JAL JAL | OITHND |HNDHKD| 21,900 73% &+ H:22,500
KBR(FFH | JAL JAL [ OITITM | ITMHKD 23,900 67% _ 15:26,400, 7K:28,700, AK:33,900, £:28,300, +:28,700. H:27.000
iR =R R [EECRE)| JAL JAL _[HKDHND | HNDNGS | 22,400 74% £+ H:23,000
RER(FFD [ JAL JAL | HKDITM | ITMNGS | 24,200 70% :25,000, 7K:26,900, %:29,100, £:25,800, +:29,400, H:32,000
RIE%E [ERCHE)| JAL JAL _[NGSHND |HNDHKD | 22,400 74 £ 1 H:23,000
RER(FFD [ JAL JAL | NGSITM [ ITMHKD | 23,800 70% _7K:26,200, A:31,500., £:25,800, £:26,000. H:24.400
=K R [EECRE)| JAL JAL _[HKDHND | HNDKMJ [ 22,400 73% £+ H:23,000
KBR(FFH | JAL JAL [ HKDITM | ITMKMJ 27,400 64% _ JK:28,500, A:31,000, £:30,100. H:33,600
AR [ERCEE)| JAL JAL _[KMJHND | HNDHKD [ 22.400 73% £+ H:23,000
RER(FFD [ JAL JAL | KMJITM [ ITMHKD | 23,400 70% :26,600, 7K:29,400, :34,900, £:29,000, +:29,400, H:27,200
EE=E R [EECRE)| JAL JAL _[HKDHND | HNDKMI [ 22,400 73% £+ H:23,000
KBR(FFH | JAL JAL [ HKDITM | ITMKMI 24,200 69%  5:29,500, 7K:30,200, AK:32,700, £:29,100. £:31,800, H:35,200
BERE [ERCHE)| JAL JAL [ KMIHND |HNDHKD [ 22,400 73% £+ H:23,000
ABR(FFH | JAL JAL [ KMITM | ITMHKD 23,400 70% _ 5:27,800, 7K:30,200, A:35,200, £:29,800. £:30,200, H:28,400
EHEE=FER R [EECRE)| JAL JAL _[HKDHND | HNDKOJ[ 22,400 74% £+ H:23,000
ABR(FFH | JAL JAL | HKDITM | ITMKOJ 26,600 67% _ 5:26,900, 7K:28,800, AK:30,700, £:27,700. £:30,400. H:33,300
ERBR [ER(HH)| JAL JAL _[KOJHND | HNDHKD [ 22.400 74% £+ H:23,000
JAL JAL | KOJITM [ ITMHKD | 25,800 68%  F:26,100, 7/K:28,500, A:34,300, £:28,100, £:28,500, H:26,700
EiE=H1E BAESE JAL JAL _[HKDHND | HNDISG 47,600 57%  7K:46,100, #:47,200. £:46,200, £:45,000, H:47,700
BER JAL JAL | ISGHND [HNDHKD| 46,800 58%  7K:47,000. &:45,100, £:48,600, £:47,400, H:50,300




HH=/ (BE)| JAL JAL | AOJHND |HNDKMQ| 14,800 77% £+ H:15500
(FE) | JAL JAL _|KMQHND|HNDAOJ[  15.300 76% @+ H:16.500
EHR=miLEE CRE)[ JAL JAL _[AOJHND [HNDSHM[ 27,000 63%  7K:27,800, K:30,100, £:28,700, £:29,100, H:29,900
(FE) | JAL JAL | SHMHND [ HNDAOJ[  29.000 60% £:29,400, 7K:30.100, :29,100, %:28,800, H:30.100
HH=MEWL CRE) [ JAL JAL | AOJHND [ HNDOKJ| 22,300 70% _ A:21,100, JK: :26,300, %:25,700, 1:25.800. H:26,600
(FE) | JAL JAL | OKJHND [HNDAOJ[ 24,500 67% _ JK:24.700, & 5,300, H:25,800
EH=L5 CRE) | JAL JAL _[AOJHND | HNDHIJ 24,700 67%  H:24,500, K: 9,100, %:25,800, 1:28,100, H:28,900
(FE) | JAL JAL | HIJHND [HNDAOJ[  26.300 65% | H:26.200. 7K:26. 8,100, £:27,100, 1:27,700. H:28.500
HEHR=IUOFH CHED|  JAL JAL | AOJHND | HNDUBJ| 27,500 66%  H:25,600. JK: 7,300, #:26,500, :29,100, H:27,700
(FE) | JAL JAL | UBJHND [ HNDAOJ[  27.900 65%  7K:26,300, A: $:27,700, £:29.100, B
HEHR=HE = CRE) [ JAL JAL__|AOJHND [ HNDIZO | 28,300 61%  H:26,100, 7K:28,000, A%+ H:30,100
RER(BFD [ JAL JAL | AOJITM | ITMIZO 18,400 73% A H:20,300, A£:18,500
FE)| JAL JAL | IZOHND [HNDAOJ| 28,800 60% _ 5:28,700, 7K:28,900, A%+ H:30,100
D[ JAL JAL | 1ZOITM [ ITMAOJ [ 16.900 75% B
HEH=05 )| JAL JAL [ AOJHND | HNDTKS [ 20,300 2% &
FIE) [ JAL JAL | TKSHND [HNDAOJ[  20.300 1% &
HH=mh FE) |  JAL JAL [ AOJHND | HNDTAK|  20.200 7% &
FIE) [ JAL JAL | TAKHND [HNDAOJ[  20.200 73% &+ H:20.500
HH=mA FE) | JAL JAL [ AOJHND | HNDKCZ | 20,300 73 :21,300, 1 H:24,100
FIE) [ JAL JAL | KCZHND [ HNDAOJ[  20.300 73 3
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D[ JAL JAL | MYJITM [ ITMAOJ | 17.400 74 K.
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BEHR=KS FIE) [ JAL JAL _[AOJHND | HNDOIT 21,700 73% >+ H:22,500
| JAL JAL | AOJITM | ITMOIT 19,300 729 H:21,900. 7k:22,500. 7:21,800, #:22,500, £:22,600
FIERD [ JAL JAL | OITHND [HNDAOJ| 21,700 73% | ®= 1 H:22.500
| JAL JAL | OITITM | ITMAOJ 17.000 75% A H:19.500, 7K:19.400, %:20.200. £ 1:19.400
EHR=R& FIE) [ JAL JAL [ AOJHND |HNDNGS| 23,200 73% &1 H:24,000
| JAL JAL [ AOJITM | ITMNGS 18,800 76%  H:19.600, 7K:20,400. A:20.200. % H:20,400, 1:21,400
)| JAL JAL | NGSHND [HNDAOJ| 23,200 73% _ # 1 H:24.000
D[ JAL JAL | NGSITM | ITMAOJ [ 16.900 78% _ Ask£H:17,300, A £:17.000
BEHR=EX FIF) [ JAL JAL _[AOJHND | HNDKMJ[ 21,800 74% H:22,600
D[ JAL JAL | AOJITM [ ITMKMJ [ 22,400 70%
FIERD [ JAL JAL | KMJHND [HNDAOJ| 21,800 74%
[ JAL JAL | KMJITM [ ITMAOJ | 16,500 78% :
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JAL JAL | AOJITM | ITMKMI 18,800 75% A H:24,100, 7K:23,700, A 1£:23,800, £:23,700
JAL JAL | KMIHND [HNDAOJ[  21.800 74% %+ 0:22.600
JAL JAL | KMITM [ ITMAOJ | 16,500 78%  F:20,900, /KA £ H:21,800, £:21,600
EHR=-ERS JAL JAL _[AOJHND | HNDKOJ[  23.200 73% %1 H:24,000
JAL JAL | AOJITM [ ITMKOJ | 21,200 73%  F:21,600, /K:22,300, A:22,200, £:22,300, £:22,400, H:22,100
JAL JAL | KOJHND [HNDAOJ[ 23,200 73% &+ H:24.000
KER(FFH | JAL JAL | KOJITM | ITMAOJ 18,900 76%  Bk# 1 H:19,200, A:19,500
JAL JAL | AOJHND [ HNDISG | 42,000 62%  JK:41,700, A:44,800, +:42,100, B:44,300
JAL JAL | ISGHND [HNDAOJ| 43,700 60%  7K:42,100, 743,400, £:43,800, H:46,900
JAL JAL | MSJHND [HNDKMQ[ _ 14.800 77% %+ H:15.500
JAL JAL _|KMQHND|HNDMSJ| 15,300 76% 2+ H:16,500
JAL JAL | MSJHND [ HNDOKJ| 23,400 68%  4:25200, £:25,100. £:25.400. H:25,300
JAL JAL | OKJHND [HNDMSJ| 23,200 68%  H:19,900, 7K:21,600. A 1,800, £:22,200. H:25,300
JAL JAL | MSJHND | HNDHIJ | 24,300 67% _ F:24,700, A:26,000, 6.200
JAL JAL | HIJHND [HNDMSJ| 23,700 68% | 1:20,700. 7K:22,100. A -22,200, 1:22,500. H:25,400
JAL JAL | MSJHND [ HNDUBJ| _ 27.600 65%  /K:26,000, A%:27.100, £:29,100, H:27,300
JAL JAL | UBJHND [HNDMSJ| 28,000 65% A- :24,800, A:27,500, %:24,200, £:25,900. H:27,700
JAL JAL | MSJHND | HNDIZO | 26.400 63% A £ H:30.100
E JAL JAL | IZOHND [HNDMSJ| 26,400 63% A :24,800, A H:30,100, %:28,000, +:29.100
ABR(FFH | JAL JAL [ 1ZOITM | ITMMSJ 22,300 68% A . 7K:24,400, A:26,500. % +:24,400
ZiR=1& R CRE) | JAL JAL | MSJHND | HNDTKS [ 19,300 73% >
R CRE) | JAL JAL | TKSHND [HNDMSJ[ _ 19.300 FETE
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SRR CRE) | JAL JAL | KKJHND [HNDMSJ[ 19,800 76%
ZiR=K% FR(PHE)| JAL JAL [ MSJHND | HNDOIT 19,700 75% 4
B CRE) [ JAL JAL | OITHND [HNDMSJ| 19,700 75% ,
ABR(FFH | JAL JAL | OITITM | ITMMSJ 22,400 68% H:27,000. 7K:26,900, A:29,800, % +:26,900
ZR=Ri& EE JAL JAL | MSJHND |HNDNGS| 21,200 75% &+
b JAL JAL | NGSHND [HNDMSJ[ _ 21.200 75% &+ H:22.000
JAL JAL | NGSITM [ ITMMSJ | 21,900 72% | A7k H:24,800, £:26,600, F:24,500
ZIR=RX JAL JAL _[MSJHND | HNDKMJ| 19,800 76% &+ H:20,600
JAL JAL | KMJHND [HNDMSJ| 19,800 76% 2+ H:20,
D[ JAL JAL | KMJITM [ ITMMSJ | 25,500 66% B sk® .t H:27,600, £:29.700
ZIR=E )| JAL JAL [ MSJHND | HNDKMI 19,800 76% £+ H:22,600
D[ JAL JAL | MSJITM | ITMKMI | 21,900 71% A H:28,800, kA% 1:28.400
FIED [ JAL JAL | KMIHND [HNDMSJ| 19,800 76% =1 H:22,600
| JAL JAL | KMITM | ITMMSJ 21,900 71% _ H:26.900, 7K:29,300. A:31.400. % H:29,300, 1:29,100
)| JAL JAL | MSJHND [ HNDKOJ| 21,200 75% &1 H:22.000
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FR(HHE)| JAL JAL [ ISGHND |HNDMSJ[ 44,300 59% | F%:41.000, 7K:41.100, 7:43,700, £:41,400, H:46.400




FE=/ PREES CRE)|  JAL JAL | AXTHND |HNDKMQ| 17,200 70% £+ H:18,300
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ME=FaE RS CRHE) | JAL JAL [ AXTHND [HNDSHM[ 26,800 59%
Eol=h CRHE)| JAL JAL [ SHMHND | HNDAXT | 26,800 59%
FE =M PAEES CRHE) | JAL JAL | AXTHND | HNDOKJ| 22,800 66%  7K:23,300, K:25,500, £:23,800, £:23,900, H:24.400
[T (FE) | JAL JAL _| OKJHND | HNDAXT | 23,600 65% _ JK:25,300, #:26.800, £ £:23,800, H:23,700
ME=L5 PAEES CRE)[ JAL JAL [ AXTHND | HNDHIJ 25,900 62%  H:25800., /KK:28,500, £:27,600, 1:26,200. H:26,800
L& (FE) | JAL JAL _| HIJHND | HNDAXT | 25,400 63% _ A:25300, 7K:27.100. A:28,500, £::27,300, +:25,800. H:26,400
ME=WLAFE R 5 CRHE) | JAL JAL | AXTHND | HNDUBJ | 28,000 62% _ 7K:27,300, K:27,700, %:26,800. £:27,200, H:25,500
B JAL JAL | UBJHND [ HNDAXT [ 27.200 63% _ /K:28,100, A:28,900, £:26,900, H:25,700
ME=HE E JAL JAL [ AXTHND | HNDIZO 26,800 59%
JAL JAL _| AXTITM | ITMIZO 20,200 69% A H:21,500, kA% 1:20.900
JAL JAL | IZOHND [HNDAXT| 26,800 59%
JAL JAL [ 1ZOITM | ITMAXT 21,000 67% B H:20,200, 7K:21.700, %:20.400, £ 1:21.700
ME=FE5 JAL JAL | AXTHND [ HNDTKS | 20,200 70% &
JAL JAL | TKSHND [ HNDAXT [ 20.200 0% &
TE=5mk JAL JAL | AXTHND [ HNDTAK| 20,200 70% &
JAL JAL | TAKHND [ HNDAXT [ 20.200 0% &
HE=FH JAL JAL | AXTHND | HNDKCZ | 20,300 7% &
JAL JAL | KCZHND [ HNDAXT [ 20.300 P
FRE =10 JAL JAL | AXTHND [HNDMYJ| 20,400 7% &
JAL JAL | AXTITM | ITMMYJ | 20,600 67% 7}
JAL JAL__|MYJHND [ HNDAXT | 20,400 71% 2+ H:20,900
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FE=4tnM JAL JAL [ AXTHND | HNDKKJ 28,500 62% _ 7K:29,000, K:27,500, %:26,900. £:27,000, H:26,500
JAL JAL _| KKJHND [ HNDAXT | 26,100 65% :27,800, A:27.400, %:26,800, £:25,000, H:25.700
FRE=X% JAL JAL__| AXTHND [ HNDOIT | 28,500 62% :28,900, 7K:29,000, A:30,700, &
JAL JAL _| AXTITM | ITMOIT | 20,100 69% B H:22,700, 7K:23.800, 7:23,000,
JAL JAL | OITHND [HNDAXT | 28,600 61% | H:29,000. 7K:29,500, A:29,400. %
JAL JAL _| OITITM | ITMAXT | 21,100 67% A H:23,600, 7K:24,200, :23.800
E=RE JAL JAL [ AXTHND [HNDNGS| 28,400 64%  5:28,800, 7K:28,900, A:28,700, %:26,600, +:27,800. H:28,100
JAL JAL | AXTITM [ ITMNGS | 20,600 72%  F:20,800, 7K:22,100, A:21,800, £:22,100, +:22,600, B:21,200
JAL JAL__|NGSHND [ HNDAXT | 30,700 61%  F:31,000, /K:29,800, A:29,400, £ £:26,800, H:27.700
JAL JAL | NGSITM | ITMAXT | 20,600 72% A H:21,400, K:22,100, :20.500, %:22,100, F:21.800
ME=REX EPY:ES JAL JAL [ AXTHND | HNDKMJ| 29,200 61%  /5:29,600, 7K:29,300, A:29,900. £:26,800, +:27,200, H:27.400
JAL JAL | AXTITM | ITMKMJ | 23,800 66% A H:23,200, KA 124,500
BAR JAL JAL | KMJHND [ HNDAXT | 27,200 64% _ JK:30,500, 7:29,600, % +:26,400. H:29,100
JAL JAL | KMJITM | ITMAXT | 23,200 67% kA= £:23,700
ME==8 EPY:ES JAL JAL [ AXTHND | HNDKMI 26,800 65%  7K:28,600, A:29,900, % £:26,000, B:27,200
JAL JAL | AXTITM | ITMKMI | 20,600 70% H:24,900, KA £:26,200, £:25700
ECES JAL JAL | KMIHND [ HNDAXT | 25,600 66% _ JK:29,000, A:30,600, £:25,200, +:26,400. H:28.600
JAL JAL | KMITM | ITMAXT | 19,600 72% _ A:22,500, KA %:25,400. £:25200, H:24,900
HEH=ERS EPY:ES JAL JAL | AXTHND | HNDKOJ| 19,700 75% £ H:20,800
JAL JAL [ AXTITM | ITMKOJ 23,000 69%  H:22.800, 7K:24,800. A:24.600. % +:24,800, H:23,300
ERG3 JAL JAL | KOJHND | HNDAXT | 19,700 75% £ H:20,800
JAL JAL [ KOJITM | ITMAXT 23,000 69% B H:23.300, 7K:24,000, %:23,100. £ 1:24,000
ME=R1E FREF JAL JAL [ AXTHND | HNDISG 41,100 60%
AiEF JAL JAL _| ISGHND | HNDAXT | 41,100 60% _ H:41,500
TEE=HE EER JAL JAL [ HNAITM | ITMIZO 24,500 63% B AKH:29,600. 7K:26,700, % 1:29,00!
HER JAL JAL | 1ZOITM | ITMHNA | 26,200 61% A AH:30,100. 7K:28,800. £ +:29,
&=l EEH JAL JAL | HNAITM | ITMMYJ | 25900 60% B A+ H:30,500, 7K:30,400, %:30,40
[T JAL JAL | MYJITM | ITMHNA 25,800 60% B 7 H:30,500, /K:30,300, % +:30.30f
EE=K% EER JAL JAL [ HNAITM | ITMOIT 26,300 61% HAKA£F H:32,200
A5 JAL JAL | OITITM | ITMHNA 26,300 61% AKAE L H:32,200
EE=Rik EER JAL JAL | HNAITM | ITMNGS 25,800 66% _ 5:30,200. 7K:30,800, A:31,500, £:30,800. £:30,700. H:31,000
RIBFE JAL JAL | NGSITM | ITMHNA 25,300 66% A H:31,900, 7K:30.400, 7:32,300, :30,400, £:30.200
EE=RA EEX JAL JAL | HNAITM [ ITMKMJ | 29,000 60% B /K H:33,400. 7K:33,200, % 1:33,200
REAZ JAL JAL | KMJITM | ITMHNA | 28,500 61% Bl 33.400
EE=2k EER JAL JAL [ HNAITM | ITMKMI 25,800 64% _ BKA 33,400
JAL JAL | HNAFUK | FUKKMI | 25,400 68%  HIKA: 29,000
ST JAL JAL [ KMITM | ITMHNA 24,900 66% _ BKA 33,400
JAL JAL _| KMIFUK | FUKHNA| 24,100 70% A<+ H:29,000, 7k:28,200, A£:29,300
EE=ERS EER JAL JAL | HNAITM | ITMKOJ 28,200 63% _ H:33,800, 7k:33,500, £:34,300. % +:33,500. H:34.000
ERSR JAL JAL | KOJITM | ITMHNA | 28,200 63% B A H:34.600. 7k:33,700. £ 1:33.700
[IIAINA iz % JAL JAL [ GAJHND |HNDKMQ[ 15,200 68% _ JK:16.500, &: 117,700, £:16,700. H:17.600
IR FE JAL JAL _|KMQHND|HNDGAJ[  15.400 68%  JK:16.100, # 7,600, £:16,900, H:18.400
itz =Ml Wiz % JAL JAL [ GAJHND | HNDOKJ| 17,800 69%  A:21,500, % ,000
ENES JAL JAL | OKJHND [HNDGAJ[ _ 18.200 68% _ JK:18.400, # :21,100, £:20,900, H:21.400
WL =158 Iz JAL JAL | GAJHND | HNDHIJ | 21,500 63% 1400, :23,900, +:21,800, H:24,400
L& JAL JAL | HIJHND [HNDGAJ[ 18,500 68% 71 F:20,600. H:21,500
I A=ES] Iz JAL JAL | GAJHND [ HNDUBJ| 21,900 65% 7} 3,100, +:23,000, H:22,800
=33 JAL JAL | UBJHND [HNDGAJ[ 22,600 64% K 4,600, H:23,400
Wi =HE i} Z3 JAL JAL [ GAJHND | HNDIZO 21,000 63% 126,700, £:26,900. H:26.200
JAL JAL _| GAJITM | ITMIZO 22,800 64% A H:26,100, K:25,100, A:27.000, % +£:25,100
HE JAL JAL | IZOHND [HNDGAJ| 21,400 62%  7K:21,600, &:27,200, £:27,300, £:27,800, H:26.400
JAL JAL | 1ZOITM | ITMGAJ | 24,200 62% | A H:25,000, 7:24,700
WL =%#5 iz % JAL JAL | GAJHND | HNDTKS | 18,300 68%  :25500, £:25.200, £:23,000, H:23,500
EER JAL JAL | TKSHND [HNDGAJ| 18,700 67%  JK:18,900, A %:26,500, +:26,200, H:26,700
Wiz == Wiz % JAL JAL [ GAJHND | HNDTAK | 18,300 68% K<+ H:26,000
BIAE JAL JAL _| TAKHND [ HNDGAJ| 19,900 65%  /K:20,100, A% H:26,000, +:25.900
Witz =#ail i} Z3 JAL JAL | GAJHND | HNDMYJ | 20.200 66% K<+t H:26,800
JAL JAL | GAJITM [ ITMMYJ | 23,700 61% A H:26,500, 7k:25,600, :26.600, %:25,600, F:25.700
PTIES JAL JAL | MYJHND | HNDGAJ| 19,600 67%  7K:19,800, A%+ H:26,800
JAL JAL | MYJITM | ITMGAJ | 22,700 62% A H:24,900, 7K:25,500, A:25.700, % +:25,500




Wi =X% W% |[RECHE)| JAL JAL | GAJHND | HNDOIT 22,600 65% :21,900, A:26,400. :23,300, 1:23,100, H:24,000
KER(BFD [ JAL JAL | GAJITM | ITMOIT | 23.200 63% A H:28,600, K:28,300, :28.400, % +:28,300
A% [ER(EE)| JAL JAL | OITHND |HNDGAJ| 22,300 65%  15:22,400, 7K:22,600, A:24,500, £:23,900, £:23,800, H:24,800
RER(BFD [ JAL JAL | OITITM [ ITMGAJ [ 24.300 62% A H:28,400, K:27,500, :28.300, % +:27,500
itz =Ry W% [RECHE)] JAL JAL [ GAJHND [HNDNGS| 22,600 67% :21,800, :24,400. £:22,900, £:23,900. H:25,700
RER(BFD [ JAL JAL | GAJITM [ ITMNGS [ 23.200 67%  H7Kk£:26.300. A:27.900. £ H:27.10
REBEFE  [ER(RE)| JAL JAL [ NGSHND |HNDGAJ[ 26,700 61%  H:27,000. 7K:23,600, &:23,700, %:24,500, £:24,200, H:25,400
ABR(FFH | JAL JAL | NGSITM | ITMGAJ 23,800 67% B H:26.200, 7K:25.000, A& 1:24,800. £:25.000
iz =HeR W% [RECHE)] JAL JAL [ GAJHND [ HNDKMJ[ 22,600 66%  7K:21,800, K:25,600, £:22,500, £:23,100, H:24,400
ABR(FFH) | JAL JAL | GAJITM | ITMKMJ 26.400 61%  AsKk&+ H:28,700. &:30.600
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RER(BFD [ JAL JAL | GAJITM | ITMKMI [ 23.200 66% A H:30.800, 7K:30.400, 7:31,000, %:30,400, £:29,900
EEHE  [ERRE)| JAL JAL | KMIHND |HNDGAJ| 21,400 67% :22,900, K:24,900, £:22,90 2,600, H:25.80
RER(BFD [ JAL JAL | KMITM [ ITMGAJ [ 23.800 65%  5:28,400. 7K:29.100, A:29,700, £:29,100. £:29.000. H:30.700
W =ERE W% [RECHE)] JAL JAL [ GAJHND | HNDKOJ[ 20,600 70% _ §:22,300, 7K:21,500, &:27,200, £:23,700, +:23,500, H:25,300
D[ JAL JAL | GAJITM [ ITMKOJ [ 25,600 65% _ H:30.100, 7K:29,900, #:30,700, £ £:29,900, H:30.900
)| JAL JAL__| KOJHND [HNDGAJ| 21,000 69% B 1:24,200, 7K:23,700, 7:26,100, %:21,200, H:27.200
D[ JAL JAL | KOJITM [ ITMGAJ [ 26.200 64% A H:28,100, k:27,300, A:27,600, % +:27,300
Wiz =xia FE) |  JAL JAL | GAJHND | HNDISG 39,100 58%  7K:37,300, A:40,900. £:40,300. £:40,200, H:40,400
H)| JAL JAL [ ISGHND |HNDGAJ[ 39,300 58%  7K:37.900., #:39,700. £:40,300, £:40,100, H:42,500
le=HE FFD | JAL JAL [ SDJITM | ITMIZO 23,400 62% B T H:22,000. 7K:23,800. :26,100. £:23,800
A JAL JAL | 1ZOITM [ ITMSDJ [ 22,500 64% B ,200, :21,200
s =l FFD | JAL JAL [ SDJITM | ITMMYJ 20,400 65% B :22,300, A 1:22,400, £:22,300
A JAL JAL | MYJITM | ITMSDJ [ 20.800 65% A K:21,700
ie=X% W&z [XEREEM| JAL JAL | SDJITM | ITMOIT 22,600 63% B :25,000, A:26,200, % 1:25,000
AR KRB JAL JAL | OITITM | ITMSDJ | 22,600 63% A :25,000., A:24,500. £:25,000. 1:25.500
e =R WeFk [KERMUEER| JAL JAL | SDJITM | ITMNGS 22,100 68% A :22,900, K:24,900, %:22,900, £:23,800, H:23,300
RIS [ XBRUFF| JAL JAL [ NGSITM | ITMSDJ 23,000 67% B H:24,200, 7k:23,800, 7:21,300, %:23,800, £:23 500
s =% meEFE (KU JAL JAL [ SDJITM | ITMKMJ 25,300 62%  F:24,500, K:25,700, H:25400
BEARE | KRUEE| JAL JAL | KMJITM | ITMSDJ 23,800 64% B H:24,400, 7K:24,900, K:27,300. £:24,900, £:25,000
e =2 WeFk [KERMUEER| JAL JAL [ SDJITM | ITMKMI 22,100 67% B /K£H:27,000, £:28,200, £:26,500
EESE [ KBRUFF| JAL JAL | KMITM | ITMSDJ 22,200 67%  F:25,900, 7K:28,300. A:28,800. &+ H:28,300
WeE=ERS WaEFE (KU JAL JAL | SDJITM | ITMKOJ 24,500 66%  H:24,900. 7K:25,600, :26,700, % +:25,600. H:25,700
BERES [XBRUFF| JAL JAL [ KOJITM | ITMSDJ 26,200 63% B H:27.000, 7K:27.300, X:26.100. £ 1:27.300
HB=HE p AR JAL JAL | KUITM | ITMIZO 24,300 59%  H:20,700, 1:22,400, H:19,500
RERFFD [ JAL JAL | 1ZOITM | ITMKIJ 21,200 64% A H:20,300, 7K:21,100, :20.800, % £:21,100
FB=H1l AR JAL JAL [ KIUITM | ITMMYJ 20,500 64% _ 5:20,200, 7K:19,200, A +:19,300, H:18,900
ABR (| JAL JAL [ MYJITM | ITMKIJ 21,700 62%  Hk&+ H:21,600. &:21,500
HB=K5 AR JAL JAL | KITM | ITMOIT 21,800 63% _ 5:22,300, 7K:23,800, AK:24,600, £:24,200, £:23,800, H:22,200
ABR(FFH | JAL JAL [ OITITM | ITMKIJ 21,300 64% B H:23,700, 7K:23.600, A:24,100. £ 1:23,600
HB=RE AR JAL JAL | KIJITM | ITMNGS 19,500 71% _ B:20,000, 7K:19,000. A+ H:18,700, £:20,300
ABR(FFH | JAL JAL [ NGSITM | ITMKIJ 20,800 69% B K< H:21,500, A:20,900, F:21,200
RER(FFD [ JAL JAL | KIJITM [ ITMKMJ | 24,500 62%  5:22,400, /KA +:24,100. H:23,100
RER(FFD | JAL JAL | KMJITM | ITMKIJ 22,900 65% A H:22,400, 7k:23,100, :23,600, % +£:23,100
RER(FFD [ JAL JAL | KIJITM | ITMKMI 19,500 70% B H:24,700, /K K 1:23,600, %:24.400
ABR (| JAL JAL | KMITM | ITMKIJ 20,800 68%  F:23,600, 7K:26,000. A:25,700. &+ H:26,000
RER(FFD[ JAL JAL | KIJITM [ ITMKOJ | 23,700 66%  F:22,600, 7/K:24,400, A:25,100, £:24,800, £:24,400. H:23,400
ABR(FFH | JAL JAL [ KOJITM | ITMKIJ 23,200 66%  F:23,600, kA%t H:23.400
A =FE L RCEE) [ JAL JAL _|KMQHND|HNDOKJ| 19,500 70% _ 7K:20,000, K:21,200, £:21,700, £:21,400, H:22,70f
(FE) | JAL JAL | OKJHND [HNDKMQ[ _ 20.200 69% _ H:20.100, 7K:21,000, A:22,700, £:21,400., £:20.700. H:21.700
IME=IEE CHED|  JAL JAL _|KMQHND| HNDHIJ | 21,800 67%  7K:22,400, 7:24,900, £:23,301 3,700, H:25.00
(FE) | JAL JAL | HIJHND [HNDKMQ[  21.100 68%  H:21,000. 7K:21,900, A:25,300, £:23,000, £:22.900. H:24.200
MME=ILOFE IMAFE CRE) | JAL JAL _[KMQHND|HNDUBJ| 22,200 68%  JK:21,100, A:22,900, +:24,300, H:23,400
=3¢ CRE)|  JAL JAL | UBJHND [HNDKMQ[ 22,800 67%  7K:21,400, K:24,500, £:23.,100, £:24,000, F:22.900
IMA=HE IMAFE CRE)[ JAL JAL _[KMQHND| HNDIZO 22,900 63% 123,200, 7K:23,500. A% T H:26.400
HE (FE) | JAL JAL | IZOHND [HNDKMQ[ 23,600 62% _ /K:23,800, & 6,400
IME=TEE INEAZE ()| JAL JAL _|KMQHND| HNDTKS| 19,700 69% _ JK:20,300, A 5,500
[ (FE)| JAL JAL [ TKSHND |HNDKMQ[ 18,500 7% JK:19,600, & .500
IME=E IS CRE) | JAL JAL _[KMQHND|HNDTAK| 21,700 66% :22,600. 7 900
BINE CRE)|[  JAL JAL | TAKHND [HNDKMQ[ 21,700 66% :21,500, 7k: A% 1 H:24.900
A=A INRFE CRE) [ JAL JAL _|KMQHND| HNDKCZ | 20,000 70%  B:19,800, K- A%+ H:27,300
B CRE)|[  JAL JAL | KCZHND [HNDKMQ[ _ 20.400 69% _ [:20,200. JK: A£ £ H:27.300
M=#210 INRFE CRE) [ JAL JAL _|KMQHND|HNDMYJ[ 22,500 66%  JK:23,400, K3 800
[NITE CHE)|[ JAL JAL | MYJHND [HNDKMQ[ 22,100 67%  H:22,200, JK: A% 1 H:26.800
A=A I CRE)|  JAL JAL _[KMQHND| HNDKKJ 22,700 69% £ . H:24,800
EAMFE CRHE)| JAL JAL | KKJHND |HNDKMQ| 21,900 70% . 1:22,000, H:22.900
IMA=K%H IMAFE CRE)[ JAL JAL _[KMQHND| HNDOIT 23,300 67% . 1:24,300, H:25700
AR%E (FE) | JAL JAL | OITHND [HNDKMQ[ _ 24.200 66% 500, %:24,400, 1:23,600
IMA=RilE IMAFE CRHE) | JAL JAL _[KMQHND|HNDNGS| 24,900 67% 00, H:25,900
RIG% CRE)|[ JAL JAL | NGSHND [HNDKMQ[ _ 26.300 65% _ J:26.600. J . £:24,400, £:23,600, H:24,900
IMNA=FER INMAFE CRE)[ JAL JAL _[KMQHND|HNDKMJ[ 22,600 69%  7K:23,700, K:26,100, % 4,300, H:25,400
REAR CRE)|[  JAL JAL | KMJHND [HNDKMQ[ 22,800 68% _ JK:24,000, A H:26,300, %:24, 3,200
IMNA=E IMAFE CRHE) | JAL JAL _[KMQHND| HNDKMI 21,000 71% _ 7K:22,900, K:25,300, £:22,700. £:22,300, H:24,800
L CRE)|[  JAL JAL | KMIHND [HNDKMQ[ _ 21.200 71% _JK:23,300, A:25,100, £:22,800, +:23,200, H:25.800
MA=ERE INMAFE CRHE) | JAL JAL _[KMQHND|HNDKOJ[ 17,500 77% _ #1+H:19,700
BRES CRE) [ JAL JAL _[KOJHND [HNDKMQ[ 18,500 75% £+ H:20,500
IMA=EH MR [ChEE(FRER) | JTA [JTA/RAC[KMQOKA[OKAMMY| 32,000 56%  7K:35.000, K:35,100, £ H:35,400, 1:36.300
Ea% | F# ) [JTA/RAC[ JTA [MMYOKA|OKAKMQ|  32.800 54%  JK:35.100, A:31.700, £ £:32,000, H:36.300
MA=F1E M [ERCRE)| JAL JAL _[KMQHND| HNDISG 39,100 61%  7K:37,800, A:39,500, F H:39,20
@B | JTA |IJTA/RAC|KMQOKA| OKAISG | 32,700 58%  JK:35.200, 7 H:35.300, %:35,400, £:35.200
BER S (HE)| JAL JAL | ISGHND [HNDKMQ[ 39,100 61%  7K:37,700, A:39,000, +:39,300, H:41,500
JTA/RAC| _JTA | ISGOKA |OKAKMQ| 32,800 58%  JK:35,900, #:32,900. H:36.200
mAl=2d& JTA__|JTA/RAC| OKJOKA [OKAMMY| 29,800 53% JK:33,500. A:35,000, £:34,900. 1:35,700. H:34.700
JTA/RAC| _JTA _|MMYOKA| OKAOKJ| 29,800 53% 7:30,200, 7K:31,600, +:30,600, H:36,000
BAl=aE JTA_|JTA/RAC| OKJOKA | OKAISG | 31,400 56%  JK:35,000, A:35,300, £:35,900, 1:35,600. H:35.000
JTA/RAC| _JTA | ISGOKA | OKAOKJ| 31,700 55% 1,500, %:31,800, H:36,200
BH=2=k =% &R JAL JAL [ KCZFUK | FUKKMI 22,500 58% 22,600
B 5@ JAL JAL | KMIFUK [ FUKKGZ [ 22,500 58%  Ask#®+ H:22,600. £:22.900




REGRE) =FFK [MEE® R i-a(:ﬂ&) JAL JAL | OKAHND | HNDAOJ| 29,900 66%  7K:30,400, K:25,900, £:30,500, £:30,700, H:37,700
PN D[ JAL JAL | OKAITM | ITMAOJ [ 20.200 77% __7K:20.100, H:22.600
HHRR )| JAL JAL_| AOJHND [HNDOKA| 28,300 68%  K:27,400, :36,400, 4:29,800, +:27,600. H:29,000
B )| JAL JAL | AOJITM | ITMOKA [ 22,500 74% __ A:24,200, 1
PR GRE) ==IR [hE (| R ) JAL JAL [ OKAHND | HNDMSJ[ 30,000 65% 126,700, JK:: . #:27,000, £:27,100, H:35,300
R )| JAL JAL | MSJHND [HNDOKA[ 25,500 71% __ 7K:27.400, K: . 8:26,400
HEGIRER) =TRE |4 (BRER) F [ )| JAL JAL | OKAHND | HNDAXT [ 29,000 64% _ 7K:31,000, K:27.400, & +:28,800, H:35.600
7 )| JAL JAL | OKAITM | ITMAXT [ 24.300 7% JK:24.900, & 000, H:26,700
TEFE )| JAL JAL__| AXTHND [HNDOKA| 29,400 64% :27,400, K £:30,100, H:27.400
PN )| JAL JAL | AXTITM [ ITMOKA [ 24.300 71% H:23.700. 600, &£
PR GRE) =76 (| R )| JAL JAL [ OKAITM | ITMHNA 29,500 66%  H:35,800, K: R
JTA JAL _| OKAFUK| FUKHNA| 32,500 64%  F1:36.300. K:37.100. A:36.000. &
TEER JAL JAL | HNAITM | ITMOKA [ 28,600 67% B H:33,100, 7K:31,900, :35,300, % +£:31,900
JAL JTA__| HNAFUK | FUKOKA| 34,200 62% _ 7:37.800, 7K:37.100. A:38,300, £::37,600, +:38,400. H:37,900
SPEE (BT =1LR2 R E[RE(HE) [ JAL JAL | OKAHND | HNDGAJ| 25,000 65%  7K:25,500, K:21,700, £:26,300, £:25,800, H:32,500
RER(BFD [ JAL JAL | OKAITM | ITMGAJ [ 27.500 66% _ A:29,100, 7K:27.400, A:26,700, H:31,500
WIf%E  [RRCHE)|[ JAL JAL | GAJHND [HNDOKA| 25,700 64% :22,100, A:32,500, %:28,600, £:26,200, H:25,300
RER(BFD [ JAL JAL | GAJITM [ ITMOKA [ 26.900 67% A H:28,300, 7K:29,200, A:32, 700, ﬁ:t 29,200
PR GRE) =E IR X8R JTA JAL [ OKAFUK | FUKSDJ 32,400 63% _ H:30,400, 7k:30,300, :30,700. £:31,300, +:31,900, H:32,000
RER(BFD [ JAL JAL | OKAITM | ITMSDJ | 25.800 68%  F:26,600, 7K:25,700, A:24,500, +:26,300, H:29,000
(=3 ] JAL JTA | SDJFUK | FUKOKA | 31,300 64% _ 7K:30,600, K:33,600, £:31,100, £:32,100, H:31,400
ABR(FFH | JAL JAL | SDJITM | ITMOKA 25,800 68%  H H:24,200, K:27.400
R GIRER) =/IMa P4 GRER) SR CRIE) [ JAL JAL | OKAHND [HNDKMQ[ 26,500 66%  7K:27,800, A:22,300. £:28,200. £:25,600, H:32,800
RS [RRCPHE) | JAL JAL _[KMQHND|HNDOKA| 25,600 67%  7K:27.400, A:32,200. £:27,700, £:25,500, H:24.800
HRBE =8 #ﬁ(%ﬂﬁ)% FE JTA JAL | OKAFUK | FUKKGZ | 26.400 58%
15¢ ] JAL JTA [ KCZFUK | FUKOKA [ 26.400 58% B A +:26,300
R GIRER) =l #ﬁ(%ﬂﬁ)% el JTA JAL | OKAFUK | FUKMYJ | 24,500 59% | BKASF H:24.600
[T =] JAL JTA [ MYJFUK | FUKOKA| 24,500 59%
R (NE) =BEXE[RR(NE) %[ ERE JAL JAL | HNDKOJ[ KOJASJ| 26,500 65% :28,000, A:31,200, %:26,200, £:27,100, H:27.90!
ABR(FFH | JAL JAL [ HNDITM | ITMASJ 26,000 64%  F:21.600, 7K:22,600. X:23,200, %:21,700, £:21,900, H:21,300
BEXBE | ERE JAL JAL | ASJKOJ |KOJHND |  27.100 65% _ H:30,300, 7K:28,800, £:30,400. £:28,800, H::
RER(BFD [ JAL JAL | ASJITM [ ITMHND [ 27.600 62% A H:23,200, 7K:23,000, 7:22,700, %:22,800, 00
RRECHR) =ERB|RRCAB) X[ _ERE JAL JAL | HNDKOJ | KOJKKX | 27,600 65% _ 7K:25,000, A:29.900, £:25.400, £:25,800, H:
EEKRS | JAL JAL [ HNDASJ | ASJKKX 28,600 58%  7K:28.300, £:26,700. 1:29.30
ERGR RS JAL JAL | KKXKOJ | KOJHND| 27,700 64% _ 5:30,900, 7K:27,500, A:29,100, £:26,100, £:26,900. H:29,300
EBERE [ JAL JAL | KKXASJ | ASJHND | 28,600 58%  H A:29,300, £:25.400
RRECHR) =#2B|RRCABE) X[ _ERE JAL JAL | HNDKOJ| KOJTKN| 28,500 65%  H:30,000. 7K:27,700. A:30,900. £:29,300, F:27,000
&= JAL JAL | HNDASJ [ ASJTKN [ 31.000 58%  #:29,100, £:31,700
JAL JAL | TKNKOJ[KOJHND| 29,100 64% | H:32,300. 7K:28,500, A:30,100. £:30,800. +:28,500, H:30,900
RR CRHE) =k RE JAL JAL _| HNDKOJ| KOJOKE | 29,700 65% | B A£:31,200, 7k:27.200. £:28,000. H:29.600
JAL JAL | OKEKOJ[KOJHND| 30,300 64% | H:33,500. 7K:28,800, A:30,400. % H:31,200, +:28,800
BR(CHB) =5 JAL JAL [ HNDKOJ | KOJRNJ 29,800 65%  7K:29.000. 7#:32,200. £:27,600, £:28,100, H:28,900
i JAL JAL | RNJKOJ [ KOJHND | 30,400 65% | H:33,600. 7K:20,800, A:31,400, £:28,800, +:29,800. H:32,200
KR () =BEXS| AR (75 %[ E) JAL JAL [ ITMKOJ | KOJASJ 23,500 62%  Fk&+ H:24.000. &:24.400
A% | ) JAL JAL [ ASJKOJ | KOJITM 23,500 62% B+ H:24.200, 7k:24,500. 7:23,800, £:24,500
KR () =BRB| KR (7 %|__E) JAL JAL [ ITMKOJ | KOJKKX [ 24,600 61%  H:25.100, 7K:23,300. A:24,000, £:25,700, £ H:23,300
BEXE | JAL JAL | ITMASJ [ ASJKKX | 24,000 57% A £:19,600, KA X H:19.800
ERBR ERE JAL JAL [ KKXKOJ | KOJITM 25,700 59%  7K:23500, A:22,800. £:26,000, £:23,500, H:23,200
BEXS | JAL JAL | KKXASJ [ ASJITM | 24,000 57%  H%:19,600, /KA L H:19.800
AR (P =B2B|XARFM %] ERE JAL JAL [ ITMKOJ | KOJTKN | 25,500 61%  H:26.000, 7K:24,300. A:25,000, £:26,600, £ H:24,300
wzER ERE JAL JAL [ TKNKOJ | KOJITM 25,500 61% 5 %:27.100, 7K:24,800, %:23,800. £ H:24,800
BEAE [ JAL JAL | TKNASJ | ASJITM 26.400 57% B #:22,000, kA1t H:22.200
KR (5 = ok R & KRBk (A | Fe! JAL JAL | ITMKOJ [KOJOKE| 26,700 61% | H:27,200. 7K:24,600, A:25,300. £:27,800. + H:24,600
JAL JAL [ OKEKOJ| KOJITM 28,300 59%  7K:25.400. #:24,100. £:28,600, £:25,400, H:25,100
KR () =5 JAL JAL | ITMKOJ | KOJRNJ 26,800 62% _ F5:27.300, 7K:25,600, A:26,300. £:27,900. £ H:25,600
JAL JAL | RNJKOJ | KOJITM | 26.800 62% | H:27.300, /KA £:24,800. £:27.100. H:25.000
EE=EXXE JAL JAL | FUKKOJ | KOJASJ| 18,400 64%  1:17.900
JAL JAL | ASJKOJ | KOJFUK| 20,200 61%  +:19,700
BE=ERE JAL JAL | FUKASJ | ASUKKX | 19,800 61%  JKAL H:17.800
JAL JAL | KKXASJ | ASJFUK | 19,800 61% KA+ H:17,800
BE=EZ8 JAL JAL | FUKKOJ | KOJTKN | 22,200 60% /KA H:19,900, £:19.400
JAL JAL | FUKASJ | ASJTKN | 22,200 60% _ sKA+ H:20,200
JAL JAL | TKNKOJ [ KOJFUK| 22,200 60% JKAH:19.900, £:19.400
JAL JAL | TKNASJ | ASJFUK | 22,200 60% _ sKA+ H:20,200
1Bk =55 ERE JAL JAL [ RNJKOJ | KOJFUK [ 23,500 62% /KK H:21,200, £:20,700
HRCAR) =53 /%E(%KE) JAL RAC _|HNDOKA|OKAOGN| 35,300 59%  7K:31.900, A:41,100, £:37,500, £:35,600, H:33,300
JAL RAC | HNDISG [ ISGOGN | 39,200 55% | A:41,100, +H
/%E(%KE) RAC JAL [OGNOKA|OKAHND| 33,400 61%  7K:29,700, A N 1:34,200, H:39,200
RAC JAL | OGNISG [ ISGHND | 39,100 55%  A:41,100, %
AR () =5E| SHEHR /%E(%KE) RAC JAL _[OGNOKA| OKAITM 37,600 52% :37,000, 7K:
RBR (1) [ 44 (BE) [ JAL RAC | ITMOKA [OKAOGN| 37.600 52% _ F5:37.000. JK:
AR (BEE) =5 3E | KB (RF) % :¢ﬁ(§ﬂ§) JTA RAC | KIXOKA [OKAOGN| 38900 50%  J§:38.200. K:
JTA RAC | KIXISG |ISGOGN | 33,500 54%  F:33.800. 7k35,600 7 39 400, %:38.400. H:37.400
SIREFE /%E(%KE) RAC JTA [OGNOKA| OKAKIX 37,600 52%  :37.000, 7K:33,700. %:38,300. & H:39.400
RAC JTA__| OGNISG | ISGKIX 33,500 54%  F:33,800, 7K:35,600, A £:39.400, £:38,400, H:37.400
2HE (P =5HE|&HE (PH) %[ ﬁ(%ﬂﬁ) JTA RAC__|NGOOKA|OKAOGN| 31,200 63% | H:31,300, 7K:29,600, A £:40,400, H:33,100
#(BB:;) | RAC JTA _[OGNOKA|OKANGO[ 40,400 52%
L =58E EORE) | JTA RAC | OKJOKA [OKAOGN|  37.800 52%  JKA%+ H:39,400
(T | RAC JTA _|OGNOKA|OKAOKJ|  37.800 52% KK+ H:39,400
18fE =5 3E P R [ JTA RAC | FUKOKA [OKAOGN|  36.300 48%
SMESE |[4#E(IFH)| RAC JTA _[OGNOKA| OKAFUK| 33,000 53%  JK:31,500, K:31,600, £:31,700. £:32,400, H:35,800
%R () = 50 E | E3E__|JTA/RAC| RAC | OKAISG | ISGOGN | 13,400 68%  JK7K:12,900, £:13,900
aiE RAC _|JTA/RAC| OGNISG | ISGOKA | 13,700 67%  JK7K:13,500, %:13,800, H:13,900
HRCPB)=AKE ;P48 (B | JAL [JTA/RAC|HNDOKA|OKAUEO| 25,200 60%  7K:27,500, A:31,400. %:27,600, £:25,600.
%8 (Ih%p) [AvTarac] JAL | UEOOKA[ OKAHND| 25,200 60%  7K:25.800, A:20,100, £:26,50! 4,900,
KR () =AKE #(FF) | JAL |JTA/RAC| ITMOKA [OKAUEO| 21,700 61%  7K:23,200, A:29,200. %:22,600, £:21,200,
8 (I%p) [Avowrac] JAL | UEOOKA[ OKAITM | 21,700 61% :24,600, A:23,900, £:23,400, £:26,000,
AR () =AKE (W) [ JTA [JTA/RAC| KIXOKA | OKAUEO| 29,600 47% :28,900, 7K:26,400, 7:33,000, %:28,500, 1:32,800. H:27,700
|48 (BRF) [avvramec]  JTA | UEOOKA[ OKAKIX | 27,500 50%  F:26,900, 7K:23,800, A:28,000, £:27,000, +:31,500, H:32,400
AHE(PH) =AKE 548 ()| JTA |IJTA/RAC|NGOOKA| OKAUEO| 21,900 64% | H:22,000, 7K:20,400, A& T:33,600, %:21,300, H:23.400
S8 (FRF) [avTavrac] JTA | UEOOKA[OKANGO| 33,300 45%  7K:33,400, A:33,600, £:33,400, + H:34,000
BE=AKE 2 %8 (BB [ JTA [JTA/RAC| FUKOKA | OKAUEO| 27,900 41%  7K:27.300, £:27,300. B:27.50
S8 (FRF) [aviavrac]  JTA |UEOOKA[ OKAFUK| 27,900 41% _ F:25500, 7K:25,600, A:25,800, £:25,600, £ H:26.100




FR(HA) =Rk [RRCAE) | XRED | JAL JAL | HNDITM | ITMOKI 21,000 62%  §:21,200, 7k K:21,600, % +:20,200, H:19,900
HE JAL JAL | HNDIZO | 1ZOOKI 22,000 57% _ H:22,100, J % +:24,900, H:24,500
fRigs (KR JAL JAL [ OKITM | ITMHND 20,400 63%  H:20,600, J} 1:20,200, H:21.400
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KB (D == [ KRR JAL _[JTA/RAC| ITMOKA [OKAMMY| 24,000 65% |7K:26.900. A:27,300, % +:29,900, H:25.400
BHE JTA/RAC| JAL _|MMYOKA| OKAITM | 24,000 65% | :24.200, JKA:26,900, % +:27,500. H:30,100
KBz (BFE) == | ABR (BAFE) JTA _[JTA/RAC| KIXOKA [OKAMMY|  31.100 54%
EHE JTA/RAC| JTA |MMYOKA| OKAKIX | 30,900 55% | H:31.,000, £:30,800. £:31,900, +:31,100, H:31.600
KB (FFH =FR1E [ KR {FE”) JAL _[JTA/RAC| ITMOKA | OKAISG 25,500 66% [H:25.100, 7k A:28,800, #:31,200, +:30,900, H:26.700
RIEH JTA/RAC| JAL | ISGOKA | OKAITM 25,500 66% | /KA%1:24,300, H:28,100
KBz (BS7E) =F1E | AR (RFE) JTA _[JTA/RAC| KIXOKA | OKAISG 28,500 62% | HA:28.200. £:30,300. 1:29,300, H:28,300
aER JTA/RAC|  JTA | ISGOKA | OKAKIX | 31,100 58% |H:31,700
ZEE(PEH) =K H3 [ BEE (PE) R JAL JAL | NGOSPK|SPKMMB| 25,000 68% | A:26,000, %:30,000, +:25,100. H:21,100
JAL JAL _|MMBSPK|SPKNGO| 25200 67% | A:27.200, %:28,700, +:22,100, H:23,600
EHGCEEE JTA _[JTA/RAC|NGOOKA[OKAMMY| 24,600 66% | 7KK:24,300, %:25,100, + H:25,200
JTA/RAC|  JTA |MMYOKA|OKANGO| 35,700 51%
AHE (P =FR1E JTA [JTA/RAC|NGOOKA| OKAISG 26.200 67% [H:25.800, 7k A:25,500, %:26,400, 1+:26,100, H:26.500
JTA/RAC|  JTA | ISGOKA [OKANGO| 35,900 55%
LR (FF ) = /i JAL JAL | SPKHND [HNDKMQ| _ 26.800 64% | H:26.600. £ 1:27.800. H:27.400
IMAFE JAL JAL_|KMQHND| HNDSPK| 24,900 66% | A:26.300, & 7,300, H:27.400
FLIR G F %) =R LU [4LIR B F) % JAL JAL | SPKHND [ HNDOKJ| 28800 66% | H:28.500. A: :32.600. +:31,300, H:30.600
B JAL JAL | OKJHND [ HNDSPK| 29,800 64% [ H:29.400. £:30,400. £:32,800. +:30,500, H:31.000
IR G = L8 LR F TR % JAL JAL | SPKHND | HNDHIJ 33.400 60% | H:33.300, A& 1:33.500, £:33,600. H:32.100
LE% JAL JAL | HIJHND [ HNDSPK|  31.400 63% [H:30.900, A:32,100, £:33600. +:32,300, H:31.300
AR GRT ) = WO FH[ ARG TR JAL JAL | SPKHND [ HNDUBJ| 33,300 63% | /:33.100, %+ H:35.200
ME=ESE B JAL JAL | UBJHND [ HNDSPK| 32,000 64% | A:31,800, A:32,900, £ +:35.200. H:33500
FIRGRFR) =HEHREG TR X[ HRCHE)|  JAL JAL | SPKHND | HNDIZO 31,500 62%
HER CRA)| JAL JAL | IZOHND | HNDSPK| 31,500 62%
IR T FR) =KH ARG T [ /RTCHE) | JAL JAL | SPKHND | HNDOIT 34,800 62% | H:34.600, &:34.900, £+ H:35.200
A% CRA)| JAL JAL | OITHND | HNDSPK| 34400 62% | H:34.800. £+ H:35.200
AIRGHFR) =R LREF TR %[ HRCHE)|  JAL JAL | SPKHND |HNDNGS|  36.400 62% |+ H:36.900
RIG% CRE)| JAL JAL _[NGSHND [ HNDSPK| 36,000 62% | K:35,800. £+ H:36.900
FLIR G Fi%) =REA *Lm}i(%ﬁ%—ﬁ)% R CRIE) | JAL JAL | SPKHND | HNDKMJ|  35.400 61% | H:35.200. £+ H:36.100
REARSE CBE) | JAL JAL | KMJHND [ HNDSPK| 33700 63% |2t H:36.100
IR (BT F%) =SB ARG T X[ /RTCHE) | JAL JAL | SPKHND | HNDKMI 33,800 63% | H:33.600, % 1:36,900, H:36,500
G CBE) | JAL JAL | KMIHND [ HNDSPK| 32,000 65% | 9:32,300, JK:31,200. A:32,500, %:36,900. +:36,500. H:36.200
ARFFR) =—ERB[ARFGETHR[HRCARA) | JAL JAL | SPKHND [ HNDKOJ| 33,400 65% | F:36.100, :34,800, £:39,000. +:40,600. H:38.800
ERBE CBE)| JAL JAL | KOJHND [ HNDSPK| 34,000 64% | 9:35.400, JK:32,500, A:33,200, %:39,100. +:37,300. H:38,900
LR (3 ) =0 OB | ALIR (37 F 2% Fe S CRIED | JAL JAL | SPKHND [HNDOKA|  37.400 61% | H:37.200, A: %:42,300, £:42,000, H:37.300
& JAL JTA | SPKFUK | FUKOKA | 33,400 67% | H:33.700, & 5,500, H:35,800
BB (FRER) S [ R (PIE) | JAL JAL | OKAHND|HNDSPK|  35.300 64% | H:34.900. & :42.300, 1:36.100, H:39.200
RER (A | JTA JAL | OKAKIX | KIXSPK | 33,900 66% | £::38,700, . H:32,300
= JTA JAL | OKAFUK | FUKSPK | 32,000 69% | £::35400, . H:34,000
FIRGIFR) =REHRETH X[ HRCHE)|  JAL JAL | SPKHND | HNDISG 51,900 57%
AEX HE)| JAL JAL | ISGHND | HNDSPK| 51,900 57%
1Bk =% m Al EHEES CRE)| JAL JAL | FUKHND |[HNDMMB| 34,600 66% |£:38,900, £:35,700, H:37.600
LIREFTFR)|  JAL JAL | FUKSPK [ SPKMMB| 28,200 70% | A:29.200. #:30,800. £ H:26.100
ZimB % |[RRECHE)| JAL JAL _|MMBHND| HNDFUK |  33.800 67% |£:38,900. £:32,800, H:36.400
FFR|  JAL JAL | MMBSPK| SPKFUK | 26,600 72% :26,700, K:27,600, £:27.500, £:21,100, H:25.400
EE RN a5 CRE)| JAL JAL | FUKHND | HNDAKJ 32,700 67% :32,200. %::37,400, 1:35,300, H:35,600
B JAL JAL | AKJHND [ HNDFUK| 33,200 67% | /9:32,200, %:37,400, +:32,000, H:35200
1B =4I JAL JAL | FUKHND [HNDKUH|  36.100 63% | H:35.600. A£1:36.900. H:36.300
JAL JAL | KUHHND [ HNDFUK| 32,500 67% | /3:32,000, %:36,900. +:33,700. H:35,000
BE =K JAL JAL | FUKHND [HNDOBO| 32300 67% £ H:36.500, +:32,700
JAL JAL | OBOHND| HNDFUK| 32,700 67% :36,500., £:34,200, H:35,800
1aRE =BfE JAL JAL | FUKHND [HNDHKD|  31.900 64% 4,700, B:37,100
JAL JAL | FUKITM | ITMHKD | 23,200 71% : :28,600. +:25.200
JAL JAL | HKDHND [ HNDFUK | 32,000 64% [ A:32.400, £ H:36.900, 1:34.900
JAL JAL | HKDITM | ITMFUK | 24,000 70% | A:30,000, %:30,800. +:25,800. H:26,.800
BE=F% JAL JAL | FUKHND [HNDAOJ| 23,000 74% £+ H:23.800
JAL JAL | FUKITM | ITMAOJ | 22,600 71% | A:24,300, %:31,600. +:23,600. H:24,200
JAL JAL | AOJHND [ HNDFUK| 23,000 74% |% 1 H:23.800
JAL JAL | AOJITM | ITMFUK | 21,800 72% __[7K:22.300, :24,300. £:30.200, +:23,700, H:22.800
JAL JAL | FUKHND [ HNDMSJ| 21,000 76% |&+ H:21.800
JAL JAL | MSJHND [ HNDFUK| 21,000 76% |&+ H:21.800
REREFD] JAL JAL | MSJITM | ITMFUK | 23,100 71% | A:27.400, 32,800, + H:24,300




1B =@ EEFE |RRCAE)| JAL JAL | FUKHND | HNDAXT| 32,100 60% |%:35.200, £:27,000, H:29.600
MERE [ERCEHE)| JAL JAL | AXTHND | HNDFUK| 31,800 61% |£:35,500 8,900, H:29.400
RERF]  JAL JAL | AXTITM | ITMFUK | 24,000 67% | 3:22,200, JK:24,500, A:27,900, %:27,200. +:26,600. H:25700
B8R =% wEER% [RRERCHAE)| JAL JAL | FUKHND |HNDGAJ| 24400 66% |£:28,900. £:25.800, H:28.200
RERF]  JAL JAL | FUKITM | ITMGAJ | 28,600 60% | A:30,300, %:30,000. H:29.200
s [RE(EE)| JAL JAL | GAJHND [ HNDFUK| 24,600 65% | A:24,800, %:28,400, +:27.500. H:24.200
RERF]  JAL JAL | GAJITM | ITMFUK | 26.900 63% |7k:27.400. 7:29,900. £:31,000, £:28,300
1R =/ 1EmE 5 R(EA)|  JAL JAL | FUKHND [HNDKMQ| _ 26.900 65% | AK:27.100, £:27,900, 1:25.600. H:27.000
FE)| JAL JAL _|KMQHND| HNDFUK| 27,200 65% |£::29,800, £:25800
BE=2% #(GBF) | JTA [JTA/RAC| FUKOKA [OKAMMY|  26.800 55%
# (BB¥) | J)TA/RAC| JTA |MMYOKA| OKAFUK| 26,800 55%
BRE=AE ;P %8 (¥ | JTA [JTA/RAC| FUKOKA | OKAISG | 27,000 59%
] 548 (BR¥) [JTA/RAC| JTA | ISGOKA | OKAFUK| 27,100 59%
SR i B ¢ R(EA)|  JAL JAL _|MMBHND|HNDKMQ|  23.400 72% _|£H:24.200
INEASE HE)| JAL JAL _|KMQHND|[HNDMMB| 24,200 71% |#£::26.300, £:24,100, H:26.400
2 Bl = R L ESFIES CRA)| JAL JAL _|MMBHND| HNDOKJ| 26,900 71% | H:26,500. A& 1:26,600. £:27,900, H:28,500
i LY 5 CRA)| JAL JAL | OKJHND [HNDMMB| 27900 70% |#£:30,500, £:29,300, H:29.200
Zibhl=h8 i Bl 3¢ CRE)| JAL JAL _|MMBHND| HNDHIJ 27.400 71% | A:27,700, K:27,200, %:28,600, 1:27.500., H:29,100
NS HE)| JAL JAL | HIJHND [HNDMMB| 28,700 69% | A:28500, £:31,500, £:29,600, H:29,300
Zimhl=HE i B 5 CRA)| JAL JAL _|MMBHND]| HNDIZO 30,800 66% |7K:31.100, %:31,500, 1:29.900. H:32.600
HE CBE)|[  JAL JAL | 1IZOHND [HNDMMB| 31,500 66% | H:31,200, 7K:31,600. 7 . £:33,800, +:33,500, H:32,600
A =l i Bl 3¢ CRA)| JAL JAL _|MMBHND|HNDMYJ| 31200 67% | H:30.300. &:30,700,
[NITE:S CRE) | JAL JAL | MYJHND [HNDMMB| 30,300 68% | FH:29.500, 7:29,900.
Zinhl=Fh1E i B ¢ CRE)| JAL JAL _|MMBHND]| HNDISG 54,000 58% |£:54,800. £:54,500,
AER HE)| JAL JAL | ISGHND [HNDMMB| 54,700 58% | £::56,800, £:56,100.
JEVTEINN JENIES CRA)| JAL JAL | AKJHND |[HNDKMQ| 23300 71% _|£:25.100, £:23,600, H:22,600
IMAFE HE)|  JAL JAL _|KMQHND| HNDAKJ| 23,100 72% :22,700, %:25,300, +:25,100. H:24,400
BIl=mfaE JENIES CRA)| JAL JAL | AKJHND |HNDSHM| 24,300 73% |£:24.400. H:25,600
BftEES CRA)| JAL JAL | SHMHND | HNDAKJ 31,400 65% [H:32,100, 7k A:31,600, %$:34,000, +:32,300, H:34.300
FEJI=RW JEIES CBE)|  JAL JAL | AKJHND [ HNDOKJ| 26,800 71% | AA:26,500, £:27,600, H:27.500
[ENES HE)| JAL JAL | OKJHND [ HNDAKJ | 25,000 73% _[H:24.600, £:25,100, £:28400. +:28,300, H:27.200
BINI=HE ENIES CRA)| JAL JAL | AKJHND | HNDIZO 29,700 67% | A:29.400. £:30,400, 1:30.100. H:29.800
HE CBE)|  JAL JAL | 1IZOHND [ HNDAKJ| 30,200 66% | H:29.900, 7K:30,300. ¥:32,300, £:30,600. H:31,700
FBJI=#2L JEIE HE)| JAL JAL | AKJHND [ HNDMYJ| 30,600 67% | /:28,700, A:30,100. & 28,800, H:31,800
[NITE:S CBE) | JAL JAL__| MYJHND [ HNDAKJ | 30,700 67% | /:29.200. £:30.400., £: 33,700, H:31,000
fBI=RE JEIIE HE)| JAL JAL | AKJHND | HNDISG | 53,900 58% |&+ H:54.200
AER GHE) | JAL JAL | ISGHND | HNDAKJ| 53200 58% |/KA:53.400, & H:54,2i
SRR =/ SR 3 (FE)|[ JAL JAL | KUHHND [HNDKMQ| 235500 71% _[H:23.000, £:24.400.
IMAFE HE)| JAL JAL _|KMQHND|HNDKUH| 25,000 69% | /:24,500, £:26,000, £:
gliEg =Ml SIpR 3 CRE)| JAL JAL | KUHHND [ HNDOKJ| 27700 69% | H:27.300. K:27,500. 4
[N CBE)|  JAL JAL | OKJHND [ HNDKUH| 29,400 68% | FH:28,900, 7:30,400.
SIR=LE8 EllEa (FE)|[ JAL JAL | KUHHND | HNDHIJ 27,700 70% | H:27.200. £:27,500, £:
N HE)| JAL JAL | HIJHND |HNDKUH| 30,200 67% | H:29.700, 7:31,000, %
SR =HE SR 3 CRE)| JAL JAL | KUHHND | HNDIZO 29,200 67% | H:28.700. &:28,900, 30,500, H:29,600
HE CBE) | JAL JAL | IZOHND [HNDKUH| 33,000 63% | 9:32,200. 7K:33,100, A:33,600, %:35,600. +:36,400. H:31,500
SR =HA1L FlEa CRE)| JAL JAL | KUHHND [HNDMYJ| 29,900 68% | H:28.800. &:29,700, %:31.600, £ H:31,400
[NITES CBE)|  JAL JAL | MYJHND [ HNDKUH| 31,800 66% | H:30.500, £:32,400, £:35,100. +:36,100, H:30.700
fi="A18 FllEa CRE)| JAL JAL | KUHHND | HNDISG 53.400 58% | H:52.900. %:54,400, 1:54.900. H:53.500
AER HE)| JAL JAL | ISGHND |HNDKUH| 52900 58% | /9:52,500, %:53,900, +:54,400, H:55800
HLE=/MA HLE CBE) | JAL JAL _|OBOHND|HNDKMQ| 23700 70% | /3:23,500, %:25,400, +:25,800, H:23,200
INASE GHE)| JAL JAL _|KMQHND|HNDOBO| 23500 71% |£:25.100, £:22,200. H:27.800
HIE=RW HLE HE)| JAL JAL | OBOHND| HNDOKJ| 27,200 70% _[H:26.600. 7:26,900. £:29.100. +:29,000, H:27.800
BN GHE)| JAL JAL | OKJHND [HNDOBO| 27,100 70% |#::28,800, £:27,400, H:30.600
HhR=HE Hh%E CRA)| JAL JAL _|OBOHND]| HNDIZO 30.100 66% | H:29.900. &:29,800 2,400, 1:32,300, H:32,000
HES HE)| JAL JAL | IZOHND [HNDOBO| 30,700 65% | H:30.400, 7K:30,800. +:31,600, H:34,000
wmR=H X3 CRA)| JAL JAL _|OBOHND|HNDMYJ|  30.100 67% | H:29.100. :29,600, £ 31,000, H:32,400
W% HE)| JAL JAL | MYJHND [HNDOBO| 29,500 68% | H:28,700, :29,100, 30,100, H:33.400
HLE=R1E IR GHE) | JAL JAL _|OBOHND| HNDISG | 54,300 57% | /3:54,100, %:56,000, +:56,700, H:53,700
AER GHE)| JAL JAL | ISGHND [HNDOBO| 54,000 57% [£:55600, +:54,100, H:56.700
A=/ EAESE CRE)| JAL JAL | HKDHND |[HNDKMQ| 24400 66% | A:24,800, %:25,200, £:25,500, H:24,500
INASE HE)| JAL JAL _|KMQHND|HNDHKD| 23400 67% |£::26.900, £:24,200, H:25,900
EAE=ML HAESE CRA)| JAL JAL | HKDHND [ HNDOKJ|  27.900 66% | H:27,500, 7:28,000, £:29,000, 1:28,700, H:27,600
[ENES HE)| JAL JAL | OKJHND [HNDHKD| 27,000 67% |£:31,200, £:29400, H:28,700
EHE=TRE EEER CBE)|[  JAL JAL | HKDHND [ HNDHIJ | 28,300 66% | A H:28,700, A:28,400, £:29,700, £:29,600
JAL JAL | HIJHND |HNDHKD |  27.800 66% | A:27.600. £:32,200. +:29,700, H:29,000
EEE=HE JAL JAL | HKDHND | HNDIZO | 30,800 61% |A:30,900, %:31,800, +:32,000, H:33,300
D[ JAL JAL | HKDITM | ITMIZO 23,800 69% | A:26,000, %:27,500, +:25,600, H:26,600
RE) | JAL JAL | IZOHND [HNDHKD| 30,600 61% | H:30,300. 7K:30,700. A:30,200, £:34,500, +:33,600, H:32,100
D[ JAL JAL | IZOITM | ITMHKD | 23,000 70% | A:23,900, %:25,400. 1:25,800
AR =L RED | JAL JAL | HKDHND [ HNDMYJ| 30000 64% | :20,200, %:30,800, +:30,300. H:32,400
D[ JAL JAL | HKDITM | ITMMYJ | 25300 66% | H:25.200, :27,000, £:28,600. +:27,100, H:28.100
)| JAL JAL | MYJHND [ HNDHKD| 29,400 65% | H:28,600, 7:29,000, £:34,000, £:32,100, H:31,500
EAE=dL A )| JAL JAL | HKDHND | HNDKKJ 28,600 68%
FE) | JAL JAL | KKJHND [HNDHKD| 28,600 68%
EWEE=X% FE) | JAL JAL | HKDHND | HNDOIT | 21,900 75% |&+ H:22,500
D[ JAL JAL | HKDITM | ITMOIT 24,700 68% | A:26,400, %:30,800. +:26,500. H:31,400
A% |[RERCEE)| JAL JAL | OITHND |HNDHKD| 21900 75% |+ H:22,500
RER(F]  JAL JAL | OITITM | ITMHKD | 23,900 69% | A:24,800, %:29,600. +:20,400. H:27,400
AR =RIA EWAER [RECHE)| JAL JAL _|HKDHND |HNDNGS| 22400 76% |+ H:23.000
RER(F]  JAL JAL | HKDITM | ITMNGS | 25,500 70% | A:27.200, %:32,900, +:27,300. H:32,700
R [RERCHAE)| JAL JAL | NGSHND |HNDHKD| 22400 76% |+ H:23.000
RER(F]  JAL JAL | NGSITM | ITMHKD | 24,700 71% [ AK:25600, £:30,500. 1:30.900
EAE=FEA EWEER [EEEE)|] JAL JAL | HKDHND [HNDKMJ|  22.400 75% &+ H:23,000
RER(F]  JAL JAL | HKDITM | ITMKMJ | 28,000 66% | H:27.700, £:29,900, £:31,200. +:29,800, H:31.600
AR [ERECEE)| JAL JAL _|KMJHND |HNDHKD| 22400 75% |+ H:23.000
RER(F]  JAL JAL | KMJITM | ITMHKD | 27,200 67% | /3:26,500. 7:28,100. £:20,800, £:29,200
HAE=E15 EHEER [EEEE)|] JAL JAL _|HKDHND | HNDKMI | 22,400 75% £+ H:23,000
RER(F]  JAL JAL | HKDITM | ITMKMI | 24,200 71% | A:25,900. %:33,400. +:26,000. H:33,000
=ER  [RECHEE)| JAL JAL | KMIHND |HNDHKD| 22400 75% |+ H:23.000
RER(F] JAL JAL | KMITM | ITMHKD | 23,400 72% | A:24,300, %:33,300, +:31,000, H:28,100
HE=ERE EWEER [EECHE)|] JAL JAL _|HKDHND [ HNDKOJ|  22.400 76% £+ H:23,000
RER(F]  JAL JAL | HKDITM | ITMKOJ | 26,600 69% | A:28,300, :32,100. +:28,400. H:29,400
BERER [RR(HHE)| JAL JAL | KOJHND |HNDHKD| 22400 76% |+ H:23.000
D[ JAL JAL | KOJITM | ITMHKD | 25900 70% _[7K:26.900. :27,800. £:32,200. +:29,300, H:26.400
HE=FIE EAER FIE) | JAL JAL | HKDHND | HNDISG 50,300 57%
RER JAL JAL | ISGHND [HNDHKD|  50.300 57%




BFHR=IML EHR CRE)| JAL JAL | AOJHND |HNDKMQ| 14800 79% &£+ H:15.500
INASE HE)|  JAL JAL _|KMQHND|HNDAOJ| 15300 78% |&+ H:16,500
EAR=miaE EHR (FA)|[ JAL JAL [ AOJHND [HNDSHM| 27,000 66% | A:28,100, %+ H:30.100
Bt EES CRA)| JAL JAL [ SHMHND|HNDAOJ| 29,000 63% | A 1:29,700. A:29,300, £ H:30,100
EHR=[WL EHR CRE)| JAL JAL [ AOJHND[HNDOKJ| 23100 71% [ H:21.600. A:23,500, £:24,500, +:23,900, H:24.200
[ CBE)|  JAL JAL | OKJHND [ HNDAOJ| 24,800 69% [ A1:24.700, £:26,000, H:25.400
EHR=ILB EHR (FE)|[ JAL JAL | AOJHND | HNDHIJ 24,900 69% | H H:24,800, :26,800, £:27,100, £:25,000
LE% CBE)|  JAL JAL | HIJHND [HNDAOJ| 26,400 67% | /9:26,300, %:27,800. +:25,000. H:25900
EHR=LOFH R (FE)|[ JAL JAL | AOJHND [ HNDUBJ| 27,500 68% [H:25600., £:28,400. H:30.300
WO FERFE GHE)| JAL JAL | UBJHND [HNDAOJ| 27,900 67% |£:29,300, £:27,800, H:30.200
ER=HE EHRE  |[ERHE)| JAL JAL | AOJHND | HNDIZO 28,300 64% | H:26,300. 7k:28,600, £:29,200, F:29,500, H:29,000
RER(F]  JAL JAL | AOJITM | ITMIZO 19,800 73% | A:20,300, #:26,700. £ H:20.800
HERX [ERERE@H)| JAL JAL | 1ZOHND [HNDAOJ|  29.100 63% | K1:28900. £ H:30,100
RERF]  JAL JAL | 1IZOITM [ ITMAOJ | 20600 72% |#:28,200, & H:21,600
EAh=ge | _BE&Rx [ERCHA)] JAL JAL [ AOJHND|[HNDTKS|  20.300 74% &t H
mER |ER(CHA)| JAL JAL | TKSHND | HNDAOJ|  20.300 ZEE
EH=mh = JAL JAL [ AOJHND [ HNDTAK|  20.200 ZE :
JAL JAL | TAKHND [ HNDAOJ| 20,200 4% |4 :20,500
'H=" JAL JAL [ AOJHND[HNDKCZ|  20.300 75% |#:21.300, F H:24.100
JAL JAL | KCZHND [ HNDAOJ| 20,300 75% |&+ H:24,000
BHR=L JAL JAL | AOJHND [ HNDMYJ| 20,000 76% |%+ H:20,500
D[ JAL JAL | AOJITM [ ITMMYJ | 21,300 70% :21,200, %:27.800. + H:22,300
FED | JAL JAL | MYJHND [ HNDAOJ| 20000 76% |2+ H:20,500
D[ JAL JAL | MYJITM [ ITMAOJ | 21,300 70% |£:29.400, £ H:22,300
BEHR=IAM FE) | JAL JAL | AOJHND | HNDKKJ| 21,800 75% |4 2
)| JAL JAL | KKJHND [HNDAOJ| 21,800 75% |4
EHR=Xn FIE) | JAL JAL _[AOJHND[ HNDOIT | 21.700 75% |4
D[ JAL JAL | AOJITM | ITMOIT 20,700 72% |4
FED | JAL JAL | OITHND [HNDAOJ| 21,700 75% |&+ H:22,500
D[ JAL JAL | OITITM [ ITMAOJ | 20,700 72% |£:32,000, F:25200. H:25,600
EHR=RA FIE) | JAL JAL [ AOJHND [HNDNGS|  23.200 4% |4
D[ JAL JAL | AOJITM [ ITMNGS | 21,500 4% |4
FE) | JAL JAL | NGSHND [ HNDAOJ| 23200 74% %+ H:24.000
D[ JAL JAL | NGSITM | ITMAOJ | 21,500 74% [£:32,900, £:26,700, H:22,500
FED | JAL JAL | AOJHND [ HNDKMJ| 21,800 75% |&+ H:22,600
D[ JAL JAL | AOJITM [ ITMKMJ | 24,000 70% :23,800, K:24,200. £:31,000. £:25,000, H:25.800
)| JAL JAL | KMJHND [HNDAOJ| 21,800 75% |&+ H:22,600
)| JAL JAL | KMJITM [ ITMAOJ 4,000 70% :23,300, :24,200, £:32,200, + H:25,000
BEHR=E5 )| JAL JAL | AOJHND | HNDKMI 1,800 75% £ H:22,600
)| JAL JAL | AOJITM | ITMKMI 0,200 75% 3,400, £:21,200, H:27,200
)| JAL JAL | KMIHND | HNDAOJ 1,800 75% H:22,600
)| JAL JAL [ KMIT ITMAOJ 0,200 75 5700, +:26,800, H:25.900
EH=ERE )| JAL JAL | AOJHND | HNDKOJ ,200 74% H:24,000
)| JAL JAL [ AOJI ITMKOJ ,100 72% K:24,100, £:32,500, £:25,100, B:25,200
)| JAL JAL | KOJHND | HNDAOJ ,200 74% £ B:24,000
KR ()| JAL JAL [ KOJITM [ ITMAOJ [ 22,700 73% K:23,700, £:34,600., :25,100, H:24,200
EH=FIE EHRE  |EREE)| JAL JAL | AOJHND | HNDISG 49,000 58%
CHE)|[ JAL JAL | ISGHND [HNDAOJ| 49,000 58%
(HE) | JAL JAL | MSJHND [HNDKMQ ,800 79% ]
(AE) | JAL JAL__|KMQHND | HNDMSJ ,300 78% £ H:16,500
(HE) | JAL JAL | MSJHND | HNDOKJ ,900 68% | 9:24,500, 7:24,000, 00,
(HE) | JAL JAL | OKJHND | HNDMSJ ,200 69% | /3:19,900, 7:23,600 00, ;
(RE) | JAL JAL | MSJHND | HNDHIJ ,300 68% | :25700, A:24,800, % 00, £ H:25,500
(HE) | JAL JAL | HIJHND | HNDMSJ ,700 69% | 4:20,800, 7:24,000, £ F:21,400
(HE) | JAL JAL | MSJHND | HNDUBJ ,200 67% | A: 0,300
)| JAL JAL | UBJHND | HNDMSJ ,600 66% | :24,700. :28,000, £:25,800. £:25.100. H:30,200
)| JAL JAL | MSJHND | HNDIZO ,800 64% | A:28,400, %:29,200, + H:27,900
)| JAL JAL | 1IZOHND | HNDMSJ 7,800 64% | H:23900, :26,900 4,400, £:24,100, H:28,000
)| JAL JAL | 1ZOITM | ITMMSJ ,700 68% : :30,100, £ H:24,900
)| JAL JAL | MSJHND | HNDTKS ,300 N
)| JAL JAL | TKSHND | HNDMSJ ,300 75% |4
)| JAL JAL | MSJHND | HNDTAK ,200 75% |4
)| JAL JAL | TAKHND | HNDMSJ ,200 75% |4 )
)| JAL JAL | MSJHND | HNDKCZ ,300 76% |4 £ H:23,100
)| JAL JAL | KGZHND | HNDMSJ ,300 76% 2 ,000
)| JAL JAL | MSJHND | HNDMYJ ,000 7% 4 500
)| JAL JAL | MYJHND | HNDMSJ ,000 7% 4 ,500
)| JAL JAL [ MYJr ITMMSJ ,400 67% 0. %:32,200, + H:25,600
)| JAL JAL | MSJHND | HNDKKJ ,800 7% 4 :20,600
)| JAL JAL | KKJHND | HNDMSJ ,800 7% 4 0,600
)| JAL JAL | MSJHND | HNDOIT ,700 7% 4 0,500
FIED | JAL JAL | OITHND |HNDMSJ ,700 77% |% + H:20,500
)| JAL JAL | orTr ITMMSJ ,800 69% 4,300, £::34,600, £ H:28,500
)| JAL JAL | MSJHND [ HNDNGS ,200 76% |#+ H:22,000
)| JAL JAL | NGSHND | HNDMSJ ,200 76% £ H:22,000
)| JAL JAL | NGSITM | ITMMSJ ,600 71% 100, £::35,800, & H:25,800
)| JAL JAL | MSJHND | HNDKMJ ,800 77% :20,600
)| JAL JAL | KMJHND | HNDMSJ ,800 77% :20,600
)| JAL JAL [ KMJI ITMMSJ ,900 67% 1400, %::34,600, £ H:28,100
)| JAL JAL | MSJHND | HNDKMI ,800 77% |#&+ H:22,600
)| JAL JAL | MSJr [TMKMI ,300 71% _|£:35.200, £ H:30,300
)| JAL JAL | KMIHND | HNDMSJ ,800 77% |%+ H:22,600
)| JAL JAL | KMIT ITMMSJ ,300 71% 3,800, £::36.400, £ H:24,500
)| JAL JAL | MSJHND | HNDKOJ ,200 76% t B:22,000
)| JAL JAL [ MSJr ITMKOJ ,900 68% K:27,700. %:34,100. & H:28,900
)| JAL JAL | KOJHND | HNDMSJ ,200 76% H:22,000
)| JAL JAL [ KOJI ITMMSJ ,700 70% :26,200, %:36,600, :29.200, H:26.900
=3 )| JAL JAL | MSJHND | HNDISG | 49,000 57%
RIEFE [EZERCHAB)| JAL JAL | ISGHND |HNDMSJ| 49,000 57% | F:48,100, %:48,500, 1:48,600




ME =/ ES CRE)| JAL JAL | AXTHND |HNDKMQ@| _ 17.200 73% &+ H:18.300
INASE HE)|  JAL JAL _|KMQHND|HNDAXT|  17.100 73% |+ H:17.500
ME=FLAE RESE CRE)| JAL JAL | AXTHND [HNDSHM| _ 26.800 63%
Bt EES CRA)| JAL JAL | SHMHND| HNDAXT|  26.800 63%
ME=REL RS CRE)| JAL JAL | AXTHND | HNDOKJ| 23,600 68% | A:24,000, %:25,000, +:21,200, H:21,500
[EIES CRA)| JAL JAL | OKJHND [ HNDAXT| 24,600 66% | A:25,000, %:26,800, £ H:22,000
HB=LE PR CRE)| JAL JAL | AXTHND | HNDHIJ 28,100 62% | HA:28.200, %:28,500, + H:22.300
N HE)| JAL JAL | HIJHND [ HNDAXT | 27.700 62% | A:27.500, £:28500, +:22,300, H:23,200
WE=LAOFH RS CRE)| JAL JAL | AXTHND [HNDUBJ| 28,600 63% |£:29,900, 1:24.800, H:26,900
WO FERFE HE)| JAL JAL | UBJHND [ HNDAXT| 29,700 62% |£:30,500, £:25,600. F:26.800
ME=HZE BEFX [EmCEE)| JAL JAL [ AXTHND | HNDIZO 26,800 62% | +:24,500. H:25,600
RER(F]  JAL JAL | AXTITM | ITMIZO 22,000 68% :20,200, A% H:23.900, £:23,700
HERX [EER@H)| JAL JAL | IZOHND | HNDAXT|  26.800 62% | 1:26.200
RER(F]  JAL JAL | IZOITM | ITMAXT | 22,800 67% :21,000, :23 400, £:24,200. £:24,900, H:25:800
HE=#8 EHE [RRCHAE)| JAL JAL [ AXTHND [ HNDTKS|  20.200 72% &t H
mEFH |ER(CHA)| JAL JAL | TKSHND | HNDAXT| 20200 72% %
ME=ER kS = JAL JAL | AXTHND [ HNDTAK|  20.200 72% |4
W JAL JAL | TAKHND [ HNDAXT | 20,200 72% 4
nE=7 kS JAL JAL | AXTHND [ HNDKCZ|  20.300 73% |4
A5 JAL JAL | KCZHND | HNDAXT|  20.300 73% |4 ;
ME=HIL N 5 JAL JAL | AXTHND [HNDMYJ|  20.400 73% |4 :20.90(
D[ JAL JAL | AXTITM [ ITMMYJ | 22,300 67% :20,600, :24,900. £:25,000. +t H:24,600
EYITES FED | JAL JAL | MYJHND [ HNDAXT | 20.400 73% |£+ H:20,900
D[ JAL JAL | MYJITM | ITMAXT | 22,300 67% | 3:20,700, 24,100, %+ H:24,900
#ME=JtAM GES FIE) | JAL JAL | AXTHND | HNDKKJ 28,500 65% |2 1:24.100. H:27,000
EIZBIE: )| JAL JAL | KKJHND [ HNDAXT|  27.200 66% |4 . £:31,000. £:23,800. H:27.000
MBE=X% ES FE)|  JAL JAL [ AXTHND [ HNDOIT | 30.100 62% | A:30,200, £:31,000, +:26.400, H:28,000
D[ JAL JAL | AXTITM | ITMOIT 21,700 69% [H:20.100, £:24,300, £:27.200, +:24,000, H:27.900
K5 FED | JAL JAL | OITHND | HNDAXT| 30,600 62% |£:31,000, £:27,200, H:27.000
D[ JAL JAL | OITITM | ITMAXT | 22,900 67% |3:21,100, :23,500, % +:27,800. H:29,800
HBE=R& ES ) uAL JAL | AXTHND [HNDNGS|  30.100 64% |£:32.100, 1:26.400, H:28.700
)| JAL JAL | AXTITM [ ITMNGS | 23,700 70% | A:21,900, :25,100, £:29,300, +:25.400, H:29,200
RiggE |[EZERCHAB)| JAL JAL | NGSHND | HNDAXT 1,700 62% | AK:32 £:32,700, 1:28,400. H:29,200
)| JAL JAL | NGSI ITMAXT 3,700 70% |21, 4,300, £:27.800, 1:29,300, H:26,700
ME=REX )| JAL JAL | AXTHND | HNDKMJ 0,100 63% :30 :32,700, +:27,200, H:28,800
)| JAL JAL [ AXTT ITMKMJ 6,400 65% | F:24, 7800, £ H:28,100
)| JAL JAL | KMJHND | HNDAXT 0,500 62% A% 7,000, H:28,400
)| JAL JAL [ KMJI ITMAXT ,200 65% |A: K:27.000, £:27,600, :28,300, H:29,200
ME=2 )| JAL JAL | AXTHND | HNDKMI ,500 65% |2 =+ H:26.400
)| JAL JAL | AXTT ITMKMI ,400 70% | A: :23,800, £:30,200, +:24,100, H:29,500
)| JAL JAL | KMIHND | HNDAXT ,700 63% | A: :28,900, £:30,200, 1:26,400. H:27.600
)| JAL JAL | KMIT ITMAXT ,200 72% | F:19,600, £:23,000, £:29.300, + H:23,800
ME=ER )| JAL JAL | AXTHND | HNDKOJ 700 76% &+ H:20.800
)| JAL JAL | AXTT ITMKOJ ,300 68% :23,500. 7K:26,300, A:27,700. %:28,900, F:28,000, H:28,100
)| JAL JAL | KOJHND | HNDAXT ,700 76% £+ H:20,800
)| JAL JAL [ KOJI ITMAXT ,800 69% | H:23000, A:25,400, £:28,600, £:28,500, H:27,800
TEE=HE )| JAL JAL | HNAITM | ITMIZO 700 61% | A:28,200, %:30,900, H:28,500
)| JAL JAL | 1ZOIT MHNA ,500 60% |#£::33900, H:29,400
EE=RL )| JAL JAL | HNA MMYJ 200 58% | H:29.100. £:30,900
)| JAL JAL YJIT MHNA ,400 58% |AH:29,900, £:32,900
EE=X2 )| JAL JAL | HNA ITMOIT ,600 61%  [7K:31,900, A:31,600, £:32.900, H:32,200
)| JAL JAL ITIT MHNA ,000 60% | JKA:28,600, %:33,900, +:32,100. H:32,200
EE=RIE )| JAL JAL | HNAI MNGS 400 64% :34,600, H:33,800
)| JAL JAL GSITM | ITMHNA ,800 63% | AJK:29,600, & B:30,100, %:34,600, +:33600
TEE=REAX )| JAL JAL | HNA MKMJ 100 59% | H:32,000, £:33,400, H:32,700
)| JAL JAL JIT MHNA ,300 59% | AJK£:31,900, A:32,400, £:33,900, H:32,800
A== )| JAL JAL | HNA ITMKMI 100 64% | & H:33400
JAL JAL | HNAFUK | FUKKMI ,000 65% |7K:30.400, 7:30,100, £:36,100, £:30,500, H:31,200
JAL JAL | KMITM | ITMHNA ,500 3% | A7K:28,300, 4:28.800, £:33,900, £:33.400, H:32,800
JAL JAL | KMIFUK | FUKHNA ,300 7% K :29,700, £:36,100, +:29.900, H:28,800
EE=RR )| JAL JAL | HNAITM | ITMKOJ .000 b IKA £:34,600, H:32,100
)| JAL JAL [ KOJI ITMHNA ,000 » A 34,600, 1:33,000, H:31.400
ILF =M )| JAL JAL | GAJHND [HNDKMQ 500 X 116,600, H:15,400
)| JAL JAL _|KMQHND | HNDGAJ ,900 70% :17,000
Witz =Fa Ll )| JAL JAL | GAUHND | HNDOKJ ,200 71% :19,700, H:19,200
)| JAL JAL | OKJHND | HNDGAJ ,600 70% :19.400, H:19,800
W =5E8 )| JAL JAL | GAJHND | HNDHIJ 1400 66% :20,900, H:20,500
)| JAL JAL | HIJHND |HNDGAJ ,000 70% £:20,400, +:19.600, H:19,900
Lz =L AFER )| JAL JAL | GAJHND | HNDUBJ ,900 68% :23,200
)| JAL JAL | UBJHND | HNDGAJ 600 7% ,400
Wiz =H%E )| JAL JAL | GAJHND | HNDIZO 800 4% ,100, ,700
)| JAL JAL | GAJI ITMIZO ,100 3% ,400, ,900
)| JAL JAL | 1ZOHND |HNDGAJ ,200 4% 800, 200
)| JAL JAL | 1ZOITM | ITMGAJ ,600 60% :
=188 )| JAL JAL | GAJHND | HNDTKS ,000 70% :18,300. :18,800, £:22,000.
)| JAL JAL | TKSHND | HNDGAJ 9,400 69 H:18,700. A:19,200, %:20,600. .
L=/ )| JAL JAL | GAJHND | HNDTAK 9,300 69 F:18,300, A:19, :21,500, £:20,
)| JAL JAL | TAKHND | HNDGAJ 0,800 67% | /3:19,900, Z:20 000, £:21,
Witz =41l )| JAL JAL | GAJHND | HNDMYJ 2,600 65% | H:21,300, A&:22 800, 1:24,400, H:23,400
)| JAL JAL | GAJI ITMMYJ 6,600 60 H:26,500, %:26
)| JAL JAL | MYJHND | HNDGAJ 0,600 68% | /3:19,600, 7:20,300, £:23,000, £:21,500, H:22,600
)| JAL JAL [ MYJr [TMGAJ ,800 59%
I =X% )| JAL JAL | GAJHND | HNDOIT ,400 66% | A:23500, 224,200, T:25000, H:24.300
)| JAL JAL | GAJI ITMOIT ,000 62% |£:30,100, H:29,900
)| JAL JAL | OITHND |HNDGAJ ,800 66% | F:23900, & +:24,300, B:25,600
KRR JAL JAL | OITITM | ITMGAJ 700 61% |7K:27.100, €+ H:30,100




iz = R W s [RE(EE)| JAL JAL | GAJHND | HNDNGS|  23.400 68% |%£:24,800. £:25,000, H:25.400
RERF]  JAL JAL | GAJITM [ ITMNGS | 26,800 65% |£:32,700, £:27,100. H:31,200
RIS [RRERCHAE)| JAL JAL [ NGSHND|[HNDGAJ| 27,000 63% | 7K:26.800. £:28,700, £:26.600, H:27.800
RERF]  JAL JAL | NGSITM | ITMGAJ | 27,500 64% | A:27.900, #:31,500. £:31,700
Wifiz =R W [REGEE)| JAL JAL | GAJHND | HNDKMJ|  23.400 67% |£:23,800, £:25.800, H:24.200
RERF] JAL JAL | GAJITM | ITMKMJ | 29,300 60% [ H:29.200. £:29,500, £:31,000., +:29,800, H:30.100
BAZR  [EmEE)|] JAL JAL | KMJHND [ HNDGAJ| 23800 67% |£::24,.800, £:24,200, H:27.000
RERF]  JAL JAL | KMJITM [ ITMGAJ | 30000 59% | /3:20,800, :30,200. £:30,400
\if == \nf%  [EECHE)| JAL JAL | GAJHND | HNDKMI | 21,800 69% |£:23700, £:24,300, H:22,600
RER(F]  JAL JAL | GAJITM | ITMKMI | 25500 65% |4 H:31,000. £:25,800
=ER  [RECHEE)| JAL JAL | KMIHND |HNDGAJ| 22,200 69% |£:23.700, £:22,600, H:24.200
RER(F]  JAL JAL | KMITM | ITMGAJ | 26,200 64% | A:26.600, % +:31,000, H:30.900
Wi =ERE s [REGEE)| JAL JAL | GAJHND | HNDKOJ|  21.400 71% »:24,700, 1:25.100, H:25.800
ABR(FH | JAL JAL | GAJITM | ITMKOJ 28,900 63% | 7KA:30,200, %:32,700, + B:29,700
BERER [RR(HHE)| JAL JAL | KOJHND |HNDGAJ| 21,800 70% | H:25.200, %:25,400, 1:23,000, H:27.300
RRF] JAL JAL | KOJITM [ ITMGAJ | 28700 63% |7K7:29,700. £:32,700, £:30,100. H:29,200
e=HE W& [ RXRUERFR[ JAL JAL | SDJITM | ITMIZO 23,400 64% | JkA:23900. £:26,800, +:25,400. H:21,700
HER [KREFFD] JAL JAL | 1IZOITM | ITMSDJ 22,400 66% |7K:22.800, %:25,500, 1:24.100. H:24.400
& =H1l W& [ RXRAERFR[ JAL JAL | SDJITM | ITMMYJ 22,100 66% :22,000, £:25,100, £:22,600. H:22,400
HILE  [XIR(FD|  JAL JAL | MYJITM | ITMSDJ | 22,300 65% | £::25500, £:25700, H:23,900
s =X W& [ RXRAERFR[ JAL JAL | SDJITM | ITMOIT 22,600 66% |7K:25.900. :25,600, £:30.000. £:23.200. H:26.200
A% | RRURFR[ JAL JAL | OITITM [ ITMSDJ 22,100 67% |£:28,800, £:27,700, H:28.400
W& =RE W& [ RXRAERFR[ JAL JAL | SDJITM | ITMNGS 25,500 66% :32,700, +:27.500, H:25.900
RIS [ RXRUFA[ JAL JAL | NGSITM | ITMSDJ 24,600 67% 0,100, H:29,500
& =H.x W& [ RXRAERFR] JAL JAL | SDJITM | ITMKMJ 26.100 64% »:30,600, +:26.700. H:27.600
BAZE [ KR@FD] JAL JAL | KMJITM | ITMSDJ | 25,400 65% K:25.600, £:31.000, 1:28.200, H:27.800
e == W& [ RXRAERFR[ JAL JAL | SDJITM | ITMKMI 22,400 69% t:27,600, H:28.800
=EE [ KRAEFD] JAL JAL | KMITM | ITMSDJ | 22,200 69% . £:30,700. H:28.800
WeE=ERE AR JAL JAL | SDJITM [ ITMKOJ 25,300 67% 7K:26,300. %:32,700, 1:27,800, H:27.400
RRF]  JAL JAL | KOJITM | ITMSDJ | 26,200 66% K:27.100. £:32,700, +:27.600. H:29.300
FR=HE KB R JAL JAL | KUITM | ITMIZO 24,300 62%
RRF] JAL JAL | 1IZOITM | ITMKIJ 21,300 66% _ £.22,600. H:21.800
FiB=tl KB R JAL JAL | KIJITM [ ITMMYJ 21,700 65% . £:23500, £:21.200, H:23.100
RRF]  JAL JAL | MYJITM | ITMKIJ 22,000 65% |2 . +:23,000, H:22.500
FR=Kn KR (B JAL JAL | KWITM | ITMOIT 23,200 64% [7K: . 7K:26.200
RRF]  JAL JAL | OITITM | ITMKIJ 21,400 67% & . £:26,200
FR=RE KR (R JAL JAL | KIUITM [ ITMNGS | 21,900 70% |3 . £:21.400,
RERF]  JAL JAL | NGSITM | ITMKIJ 23,800 67% |£::28,000, £:23.200
FiR=HX KB R JAL JAL | KIJITM | ITMKMJ 26.700 62% H:26.600, £:27.300
RRF]  JAL JAL | KMJITM | ITMKIJ 24,700 65% | H:24.000, 7:24,900, £:27.300. +:26,000, H:25.200
FR=E5 KERFFD| JAL JAL | KIITM | ITMKMI 20,600 71% _[£:29.000, +:25,900, H:27.800
RRF] JAL JAL | KMITM | ITMKIJ 22,500 68% |£:30.100, £:27,800. F:29,600
HR=ERE KB (R JAL JAL | KIITM | ITMKOJ 26,300 65% [7kK+:27.100, £:29,200, H:26.400
[RER(FA]  JAL JAL | KOJITM | ITMKIJ 25,000 66% |7KA:26,000, £:29,700, £:26,100. H:28,200
ANA=FE L INEASE R(EA)|  JAL JAL _|KMQHND|HNDOKJ| 20,100 71% H:20,200. A:19,900, £:20,800. +:18,600
G HE)| JAL JAL | OKJHND [HNDKMQ| 20,700 0% %
IMA=IEE MR FE CRA)| JAL JAL _|KMQHND| HNDHIJ 22,700 68% |2
LE% HE)| JAL JAL | HIJHND [HNDKMQ| 22,100 69% |4
MA=ILAFE IMAFE HE)| JAL JAL _|KMQHND|HNDUBJ| 22700 70% |2
WO FERFE A JAL JAL | UBJHND [HNDKMQ| 23,000 69% |2
IME=HE NEASE CRA)| JAL JAL _|KMQHND| HNDIZO 24,200 64% | A:23.900. £:24,300, 1:23.400. H:22.400
HER FE)| JAL JAL | 1IZOHND [HNDKMQ| 24,200 64% | A1:24,000, £:24,900, H:23,500
IMA=E8 IMAFE FE)| JAL JAL _|KMQHND|HNDTKS| 20,800 70% :20,400. :20,600, £:22, 17,900, H
BEZE CBE) | JAL JAL | TKSHND [HNDKMQ| 20,300 71% | A:19.600, 7:20,400.
IMNA=FH IR FE CRA)| JAL JAL _|KMQHND|HNDTAK|  23.400 66% | §:22.400. :23,000
BINEE CBE)| JAL JAL | TAKHND [HNDKMQ| 23,300 66% | H:22,300, 7:22,900.
IMNA=TEH IMAFE HE)| JAL JAL _|KMQHND|HNDKCZ| 21,300 70% | H:20.600, 7:21,200,
BAE CBE) | JAL JAL | KCZHND [HNDKMQ| 21,800 69% | /:20,900, A:21,500, £: B:20,
INA=HAL N CRA)| JAL JAL _|KMQHND|HNDMYJ| 23,900 67% | H:23,000, :23,400, £:25,100, 1:22,400. H:24,600
[NITES CBE) | JAL JAL | MYJHND [HNDKMQ| 24,300 66% | 9:23,300, A +£:24,000, £:24,700. H:22,200
MR=E A INEASE CRA)| JAL JAL _|KMQHND| HNDKKJ 23,200 70% |#:26.000. £:20,700, H:25.200
B[R0 HE)| JAL JAL | KKJHND [HNDKMQ| 22,200 71% _[£:25300, +:21,900, H:23.600
IMR=K5 ANEASE CRA)| JAL JAL _|KMQHND| HNDOIT 24,700 68% | 7K:26.000. £:27,600, £:25.100, H:26,600
Ro5E GHE)| JAL JAL | OITHND [HNDKMQ| 25500 67% | /:25,900, %:28,100, +:25,800, H:26,000
IME=RIG N CRA)| JAL JAL _|KMQHND|HNDNGS|  26.300 67% |£:28,500. H:26,900
Rk 5E HE)| JAL JAL | NGSHND [HNDKMQ| 27,100 66% | A:26,900, %:29,200, +:25,400. H:25800
INA=FER INMAFE CBE) | JAL JAL _|KMQHND|HNDKMJ| 24,700 68% |2:25.100, £:24,600. H:25.200
REASE HE)| JAL JAL | KMJHND [HNDKMQ| 24,700 68% |£:26.700, £:26,600. H:25,000
INA=EE IMAFE HE)| JAL JAL _|KMQHND| HNDKMI | 22,700 71% | /:23,100, JK:22,300, A:23,500, %:24,000. +:23,000. H:24,200
G CBE)|[ JAL JAL | KMIHND [HNDKMQ| 22,700 71% :23.400, 7k:22,300, A:23,600, £:24,400, £:23,100, H:24,200
IME=ERE INEASE CRE)| JAL JAL _[KMQHND|[HNDKOJ| 17500 78% £+ H:19.700
JAL JAL | KOJHND [HNDKMQ| 18,500 77% |%+ H:20,500
IMA=EH JTA_|JTA/RAC|KMQOKA|OKAMMY| 32,200 58% |£:37.700, & H:35,900
JTA/RAC| JTA |MMYOKA|OKAKMQ| 33,300 56% +:33,600, £:37,500, H:37,000
INA=F1E JTA _|JTA/RAC|KMQOKA| OKAISG | 33,200 60% |7K:33,500, %:38,600. +:36,600. H:36,.900
JTA/RAC|  JTA | ISGOKA |OKAKMQ| 33,700 59% | A1:33,600. £:36,900, H:36.500
BL==% JTA_|JTA/RAC| OKJOKA |OKAMMY| 31,500 54% [AH:31.700, £:36,000, 1:34.200
JTA/RAC| JTA |MMYOKA| OKAOKJ| 31,500 54% [ +:31.700, £:36,000, H:34.200
El=Fh1E E E: JTA _|[JTA/RAC| OKJOKA| OKAISG | 33,000 56% | H:32.600, £:38,800, 1:35.100
AiE%  |##8(GBE) [JTA/RAC| JTA | ISGOKA [ OKAOKJ| 33,000 56% |£:38,800, H:35500
EH== 5 ISk 12 JAL JAL | KGZFUK | FUKKMI 22,500 62% | A1:23,000, & H:23.700
B 15 JAL JAL | KMIFUK | FUKKCZ | 22,500 62% |AH:23,000, £:23,700, F:24,100




AR =FK JAL JAL | OKAHND | HNDAOJ|  30.300 67% |%£:34.700, £:31,500, H:33.600
JAL JAL | OKAITM | ITMAOJ | 23,900 74% _|£:31,500, £ H:24,900
JAL JAL | AOJHND [HNDOKA| 28,700 69% | A:30.700, £:33,900, +:34,500, H:30,100
JAL JAL | AOJITM | ITMOKA | 23,900 74% |£:31,100, & H:24,900
8 (IRER) R JAL JAL | OKAHND|[HNDMSJ|  31.000 66% | H:27,100. :30,400, £:29,500, 1:28,300. H:33,600
JAL JAL | MSJHND [HNDOKA| 27,100 71% | A:28,200, %:31,900, +:27,900, H:27,700
SR (R =RE |7 JAL JAL | OKAHND|[HNDAXT|  30.100 65% | A:30,600. %:35,800, 1:28.800. H:30.200
JAL JAL | OKAITM | ITMAXT | 26,100 70% _[H:24,300, :26,700, £:27.500, +:28,200, H:29.100
JAL JAL | AXTHND [HNDOKA| 32,100 63% | A:32,500, %:34,500, +:30,000, H:27,200
JAL JAL | AXTITM | ITMOKA | 26,100 70% | /:24,300, A %:27,500, & H:27.800
B (RE) =1eB JAL JAL | OKAITM | ITMHNA 31,800 65% | £:36.400. H:32,700
JTA JAL | OKAFUK | FUKHNA| 36,900 61% |/KA:37.800. £:38,400, £:37,400. H:37,100
JAL JAL | HNAITM | ITMOKA | 30,900 66% | £::36.400
JAL JTA | HNAFUK | FUKOKA | 38,400 60%
8 (IRER) =1L JAL JAL | OKAHND|HNDGAJ|  25.400 67% |£:29.500, £:27,000, H:28.800
JAL JAL | OKAITM | ITMGAJ | 29,900 66% | A:30.300
JAL JAL | GAJHND [HNDOKA| 25,400 67% | A:25,800, %:28,300. :28,600
JAL JAL | GAJITM | ITMOKA | 29,000 67% |£:33,800, £:29,500
SR (GRER) =l& JTA JAL | OKAFUK | FUKSDJ 35,300 62% | H:34.500. £:36,400, £:37.100, H:34,800
JAL JAL | OKAITM | ITMSDJ | 25,300 70% [£:26.700, :
JAL JTA | SDJFUK | FUKOKA| 36,100 61% :35,600,
JAL JAL | SDJITM | ITMOKA | 26,100 70% [£:28,700,
R (GIRER) = /M JAL JAL | OKAHND |HNDKMQ|  26.200 68% |£:29.100.
JAL JAL _|KMQHND|HNDOKA| 26,600 68% |£::31,900, 3
48 (RER) == 40 JTA JAL | OKAFUK | FUKKCZ 26.400 61%
JAL JTA | KCZFUK | FUKOKA | 26,300 61%
A8 (IRER) =HAl JTA JAL | OKAFUK | FUKMYJ 24,500 62%
JAL JTA_ | MYJFUK | FUKOKA| 24,500 62%
RR(PH) =BEAS JAL JAL | HNDKOJ| KOJASJ| 32,000 61% [H:32.900, £:32,100, £:34,300, +:36,400, H:33.600
JAL JAL | HNDITM | ITMASJ | 30,200 61% |A:29,000, £:30,100, H:28,700
JAL JAL | ASJKOJ [KOJHND | 32,800 60% | /:33,600, K A:30,300, :34,300, +:34,100, H:35.400
JAL JAL | ASJITM | ITMHND | 30,200 61% |7k:29,900, :28,700. + H:29,300
RR(PBE) =ERE JAL JAL | HNDKOJ | KOJKKX 29,000 64% | A H:30.600. 7:30,700. £:33,000, £:34,600
JAL JAL | HNDASJ [ ASUKKX | 28,600 60% |% +:29,300
JAL JAL | KKXKOJ [KOJHND | 31,500 61% | /:31.800, JKA:28,500. #:31,600, £:32,300, H:33,600
JAL JAL | KKXASJ [ASJHND | 28,600 60% | A H:29.300
RR(CPB) =#28 JAL JAL | HNDKOJ | KOJTKN 30,700 65% | H:32,000, :30,800, £:32.400, +:35,100, H:32,700
JAL JAL | HNDASJ | ASJTKN| 31,000 59% | 1:31,700
JAL JAL | TKNKOJ [KOJHND | 30,800 64% | A:33200, kA +:29,900, £:33,000, H:35,000
R (FH) =HKRE JAL JAL | HNDKOJ| KOJOKE | 31,100 64% | H:33,200. 7:32,800, £:35,100, £:36,700, H:33,900
JAL JAL | OKEKOJ [KOJHND | 32,000 63% | F:34.400, kA £:31,100, £:34.200. H:36,200
HR(HB) =5 JAL JAL | HNDKOJ | KOJRNJ 31,200 65% | A H:32.800. :32,900, £:35,200, 1£:36,800
JAL JAL | RNJKOJ [KOJHND | 31,200 65% |£:33,600, H:35400
KR () =BERS JAL JAL | ITMKOJ [ KOJASJ| 27,900 58% | A H:28.400, 7k AK:28,500, £:29.400, +:29,500
JAL JAL | ASJKOJ | KOJITM | 27,500 59% |7k7k:28,400. %:29,300, + H:28,700
AR (R =ERE JAL JAL | ITMKOJ | KOJKKX 25,800 61% [7kAK1:26.600. £ H:26.200
JAL JAL | ITMASJ [ ASUKKX | 26,600 55% | A:25.400
JAL JAL | KKXKOJ | KOJITM | 25,700 61% [7kK:26.600, £:26,500, + H:26.900
JAL JAL | KKXASJ | ASJITM | 26,600 55% | A:25.400
AR (R =E2 B JAL JAL | ITMKOJ | KOJTKN 27.500 62% |7k A%:28.100, £:29,100
JAL JAL | TKNKOJ | KOJITM | 27,100 62% |7k K+:28,000, £:27.900, H:28.300
JAL JAL | TKNASJ | ASJITM | 29,000 55% | A:27.800
KIR () =k BER JAL JAL | ITMKOJ | KOJOKE| 27,900 61% [/KAKRE ® H:28,300
JAL JAL | OKEKOJ | KOJITM | 28,300 61% 7} 9.100. H:29,500
KB () =5 JAL JAL | ITMKOJ | KOJRNJ 28,000 62% |71 e 6:28,400
JAL JAL | RNJKOJ | KOJITM | 28,400 62% )} $:29,200. H:20,600
BE=EXXE JAL JAL | FUKKOJ [ KOJASJ| 22,600 60%
JAL JAL | ASJKOJ | KOJFUK | 22,600 60% |£:23,500, H:22,100
BE=ERE JAL JAL | FUKASJ | ASUKKX | 26700 51% |A:24,600
JAL JAL | KKXASJ | ASJFUK | 26,700 51% | A:24,600
# s JAL JAL | FUKKOJ [ KOJTKN| 22,200 64% | H:21.700
JAL JAL | FUKASJ [ ASJTKN | 29,100 50% | A:27.000
JAL JAL | TKNKOJ | KOJFUK | 22,200 64% [H:21,700
JAL JAL | TKNASJ [ ASUFUK | 29,100 50% | A:27.000
o CRE) =5E JAL RAC | HNDOKA|OKAOGN| 36,200 60% |%::38,700, £:39,000
JAL RAC | HNDISG [ ISGOGN| 50,100 44%
RAC JAL | OGNOKA[OKAHND| 34,400 62% |£::36.800, £:35600. H:37.000
RAC JAL | OGNISG | ISGHND | 50,100 44%
AR (D) =5 RE RAC JAL | OGNOKA| OKAITM 38,900 53% | H A:38.800, % H:39.400
JAL RAC | ITMOKA [OKAOGN| 38,900 53% | 738,800, % H:39,400
KR (FF) =5 3E E JTA RAC | KIXOKA [OKAOGN|  39.400 52% | H:39.100
JTA RAC | KIXISG | ISGOGN|  37.100 52% |+ H:37.600
RAC JTA_|OGNOKA[ OKAKIX | 38,900 53% :
RAC JTA | OGNISG | ISGKIX 38,900 49% K:38,800.
£EE(PEH) =5HE JTA RAC _|NGOOKA|OKAOGN| 32,700 63% £:34,900,
RAC JTA_|OGNOKA[OKANGO| 40,400 54%
i L= 5AE JTA RAC | OKJOKA | OKAOGN|  39.400 52%
E RAC JTA_|OGNOKA[ OKAOKJ| 39,400 52%
12 =5RE E JTA RAC | FUKOKA [ OKAOGN|  36.300 51%
K RAC JTA_|OGNOKA[ OKAFUK| 33,200 55% | +:33,800, H:33,500
W (WE) =51E JTA/RAC| RAC | OKAISG | ISGOGN | 13,900 68% |/ +:13,500. %:13,700
RAC__|JTA/RAC| OGNISG | ISGOKA | 13,900 68% |£:14,000




FRCRE) =AKE|HR CHE) %[44 GBF) | JAL |ITA/RAC| HNDOKA | OKAUEO|  27.000 60% |A:27,700. £:32,000, £:30,800, H:26,600
AkEFE @ GBE) [avarsc]  JAL  [UEOOKA[OKAHND| 26,200 61% |%:28,600, +:27,400, H:29.600
KR (D) = A K8 | KR (F#FH) %[ 948 GBER) | JAL |JTA/RAC| ITMOKA | OKAUEO| 23500 60% | 7KA:26,200, 5 +:29,700, H:25,000
AXES #8 GB#R) [oavuramac]  JAL  [UEOOKA[ OKAITM 23,500 60% | 7KA:26,200, % +:27,300, B:29,700
KB (A7) = A KB | KBk (BA78) % |48 (RF)| JTA [JTA/RAC| KIXOKA | OKAUEO 31,200 47% A:31,000, %:33,100. 1:32,200. H:30.900
AKEFE |48 (FRFR) [avvtarac] JTA | UEOOKA | OKAKIX 29,100 51% | H7K:29,000. £:30,400, +:29,500, H:30,000
AEE (FH) =AKS p#f) %[ 548 (IB¥R) | JTA |JTA/RAC|NGOOKA|OKAUEO| 36,600 43%
38 GR¥R) [aurarac]  JTA [UEOOKA[OKANGO[ 27,800 57%
BE=AXE E #(RH) | JTA [JTA/RAC| FUKOKA [ OKAUEO| 27,700 45% | kA% H:27.800
AkEFE [#EGBE) [avarc]  JTA [UEOOKA[| OKAFUK| 27,900 45%
FR (PE) =Rk | 3R CRE) $ (KR (FEF | JAL JAL | HNDITM | ITMOKI 21,000 64% | A:22,100, %:22,200, £:21,100, H:20,000
= JAL JAL | HNDIZO | IZOOKI 22,200 58% | A:22,000, %:23,200 22,500
fRk% [ KEROFRD] JAL JAL | OKITM | ITMHND | 20,400 65% |7K:20,100. 7:20,300, £:20,600, & H:19,500
HE JAL JAL | OKIIZO [ IZOHND | 22,100 58% | A:21,800, &+ H:22,300
8 (RER) = 8 (ARER) 5| RBR (71 | JAL JAL | OKAITM | ITMKIJ 24,600 71% |£:26,900, £:25,600, H:25.100
% [ KR@FD] JAL JAL | KIJITM [ ITMOKA | 24,300 71% _|£:26.100, £:23,800. H:25,700
18R = LI T F5%) = RCPA)| JAL JAL | FUKHND [ HNDSPK| 35,600 61% | H:35.300, £:37,900, +:37.400. H:35.200
AREFTR E[RR(PHE)| JAL JAL | SPKHND | HNDFUK| 38,200 58% |£::41,300, £:40,100, H:40,300
2HE(PER) =Fk[4E <V-P%I3)%:‘F R CRIE) | JAL JAL _[NGOHND[HNDOBO[ 21,300 72% £ +:22,200. H:22,400
HLE HE)| JAL JAL _|OBOHND|HNDNGO| 20,700 72% | /:20,600. % H:23,200
ZEE (P =E)I|aEE (pi) %[ Rm (E) | JAL JAL _|NGOHND| HNDAKJ 21,700 72% | B:21.200. £:23,300
BJI% HE)| JAL JAL | AKJHND [HNDNGO| 21,200 72% | H:20,200, £:22,800
S]] BIRF CRE)| JAL JAL | TAKHND [HNDMMB| 29,100 69% | H:28.600. £:28,900, #:
Sk CRE)| JAL JAL _[MMBHND|HNDTAK| 28,300 69% | H:27.300. &:28,000, 4
mE=%im5| BB CRE)| JAL JAL | TKSHND [HNDMMB| _ 27.700 70% | B:27.000. &:27,500,
Sk CRE)| JAL JAL _[MMBHND|HNDTKS| 28,100 70% | H:27.400. K:27,900, £:
K==l Ao %E CRA)| JAL JAL | OITHND |[HNDMMB| _ 23.400 77% |1 H:24.400
ESES HE)|  JAL JAL _|MMBHND| HNDOIT | 23400 7% |3 4,400
R =%m5] IG5 CRE)| JAL JAL | NGSHND |[HNDMMB| 23,900 77% |4 :25,000
ZHAI R HE)| JAL JAL _|MMBHND|HNDNGS| 23,900 7% |3 5,000
REA=%im5 REA 3¢ CRE)| JAL JAL | KMJHND [HNDMMB| 23,900 76% |3 5,000
ESES HE)| JAL JAL _|MMBHND|HNDKMJ| 23,900 76% |4 5,000
B =% w5 =I5 5 CRE)| JAL JAL | KMIHND [HNDMMB| 23,900 76% |3 :25.000
ZHBIE HE)|  JAL JAL _|MMBHND| HNDKMI | 23,900 76% |4 5,000
ERE=%i%5 BERES (FE)|[ JAL JAL | KOJHND [HNDMMB| 23,900 ITE 5,000
ESES HE)| JAL JAL _|MMBHND| HNDKOJ| 23900 77% |%+ H:25.000
ER=EXKE EHR (FE)|[ JAL JAL [ AOJHND [ HNDASJ| 33,900 66% | A:35.000, % +:36,200, H:35.500
FEFN-E CBE)|  JAL JAL | ASJHND [ HNDAOJ| 35,500 64% [H:36.200, £:36,300. H:36.900
ME=EXXE ES CRE)| JAL JAL | AXTHND | HNDASJ 36.900 60% |#£:38.400, £:33,500, H:32.800
EEAESR CRE)| JAL JAL | ASJHND [ HNDAXT|  35.300 62% | H:36,000, :35,800, £:37,300, 1:32,800, H:33,500
IMA=EEXE INEASE CRE)| JAL JAL _[KMQHND| HNDASJ| 30,600 66% |:31.300. +:30,100, H:29.400
EEPN-E CBE)|  JAL JAL | ASJHND [HNDKMQ| 30,600 66% | /3:31,300, %:31,100, +:20,400. H:30,100
=4I BiFE CRE)| JAL JAL | TAKHND [ HNDKUH|  30.200 66% | H:29.600, A:31.100. +:35,300,
BIERSE CBE) | JAL JAL | KUHHND [ HNDTAK| 28,600 68% | H:27.100, 7:28,300,
EE=2I% EE%R (FE)|[ JAL JAL | TKSHND [ HNDKUH| 28,600 68% | H:27.700, 7:29,400, %
BIERSE CBE)|  JAL JAL | KUHHND [ HNDTKS | 28,400 68% [H . A:28,200, %
R =HIEk A% CRE)| JAL JAL | OITHND [HNDKUH|  22.400 7% :23.400
BIERSE CHE)| JAL JAL | KUHHND | HNDOIT | 22,400 7% :23,400
RE=4I% EIE% CRE)| JAL JAL [ NGSHND[HNDKUH| 22,900 7% 3,900
BIERSE HE)| JAL JAL | KUHHND [HNDNGS| 22,900 7% 3,900
REA=HI% AR CRE)| JAL JAL | KMJHND [HNDKUH| 22,900 7% 3,900
HIERSE HE)| JAL JAL | KUHHND [ HNDKMJ| 22,900 7% 23,900
EE=4I% EEES CRE)| JAL JAL | KMIHND [HNDKUH| 22,900 7% 3,900
FlEE3 HE)| JAL JAL | KUHHND | HNDKMI | 22,900 7% 3,900
ERE=8I% ERER CRE)| JAL JAL | KOJHND [HNDKUH| 22,900 7% 3,900
BIERSE FE)| JAL JAL | KUHHND [ HNDKOJ| 22,900 7% 3,900
LEB=%K NEEA CRE)| JAL JAL | HIJHND [HNDOBO| 27,900 69% #:29,000, H:30,700
=% HE)| JAL JAL__|OBOHND| HNDHIJ | 27,600 70% :27,800, :27.300, #:29,800. £:29,900, H:27,400
BR=%k [N CRE)| JAL JAL | TAKHND [HNDOBO|  28.400 68% | H:27.800, 7:28,200, £:31,200, . B
% HE)| JAL JAL _|OBOHND|HNDTAK| 27500 69% | /9:26,400, 727,300, %:30,800.
BE=FK e CRE)| JAL JAL | TKSHND [HNDOBO| _ 27.000 70% | H:26.300. 7:26,800. £:28,800.
HLE CBE) | JAL JAL | OBOHND| HNDTKS|  27.300 69% 6,400, A:27,100, £:30,500.,
Aa=%Ik A% CRE)| JAL JAL | OITHND [HNDOBO| 22,000 7% |4 :
% GHE) | JAL JAL _|OBOHND| HNDOIT | 22,000 7% 4
RIBE=%FK U 5 CRE)| JAL JAL [ NGSHND [HNDOBO| 22,500 78% |4
% CHE)|  JAL JAL _|OBOHND|HNDNGS| 225500 78% |4
BA=FK AR CRE)| JAL JAL | KMJHND [HNDOBO| 22,500 7% |3
w3 CRA)| JAL JAL _|OBOHND|HNDKMJ| 22,500 TE
BB=FK ELES CRE)| JAL JAL | KMIHND [HNDOBO| 22,500 7% |3
R 3 CRA)| JAL JAL | OBOHND| HNDKMI 22,500 ITE
ERBE=%k BERES (FA)|[ JAL JAL | KOJHND [HNDOBO| 22,500 78% |4 .
HIRSE HE) | JAL JAL _|OBOHND|HNDKOJ| 225500 78% :23,500
JEVTESE=TN JENIES CRA)| JAL JAL | AKJHND | HNDTAK| 30,100 67% :28,100. A:29,700, H:31.300
BIE CBE)| JAL JAL | TAKHND [ HNDAKJ | 27,600 70% | F:26.700, 7K:27,800.
T EAESE (FA)|[ JAL JAL | HKDHND [ HNDTAK| 28,200 65% | H:27.300, :28.400.
BIAE CBE) | JAL JAL | TAKHND [ HNDHKD | 28,300 65% | H:27.700, 7:28,100.
HEE=HE EAESE (FE)|[ JAL JAL | HKDHND [ HNDTKS| 28,000 65% | H:27.300. £:28,200, #:
BEZE CRE) | JAL JAL | TKSHND [ HNDHKD | 26,900 67% | /:26.200, 7:26,700. £:30,
FHR(PE)=RR KRB % HiE JAL JAL | HNDHKD | HKDOIR 21,100 65% |£:23,500, £:22,800, H:18.700
BRE AR JAL JAL | OIRHKD |HKDHND| 21,200 65% | 1:17.800. H:22,100
KB (F#51) B3 5 JAL JAL | OIRHKD | HKDITM 22,800 67% | A:24,500, %:25,600, £:22,500, H:23,800
8 (RER) ShHE(RER) F|  1ER JTA JAL | OKAFUK | FUKTKS 27.800 59% |#£:29,300. £:28.400, H:28.800
R & JAL JTA | TKSFUK | FUKOKA| 28300 59% |JKA H:28.400, £:28,800




BN=1E8 JENIES JAL JAL | AKJHND | HNDTKS | 27,500 70% | §:26,200. A:27,300, £:29,700, 1:26.900, H:28,700
JAL JAL | TKSHND [ HNDAKJ | 26,700 70% [ H:25.800. £:26,500, £:29.000. +:29.400, H:27.600
BII=X% JAL JAL | AKJHND | HNDOIT | 21,400 78% |2
JAL JAL | OITHND | HNDAKJ| 21,400 78% |2
IR (BB =RR JAL JAL | OKDHKD | HKDOIR 17.600 56%
| BufE JAL JAL | OIRHKD [HKDOKD| 17,600 56%
ElEEE LR (35| JAL JAL | KUHOKD [ OKDHKD|  20.200 58%
LIR(E¥ | JAL JAL | HKDOKD | OKDKUH| 20,200 58%
flgg==R LIR (E3) |  JAL JAL | KUHOKD [ OKDMSJ 24,200 56% | H:18.000
LIR(E¥ | JAL JAL | MSJOKD | OKDKUH| 21,100 62% | A:24,200, £ £ H:23400
FIR =B LIR (E3) | JAL JAL | RISOKD [ OKDHKD 20,900 58% |£:22.800, £:23.000, H:24.200
[ALIE (3| JAL JAL _|HKDOKD | OKDRIS | 24,200 52% | H:23,000
FIR =4I LIR(E3)|  JAL JAL | RISOKD [OKDKUH|  19.100 66% |£:23,600. & H:13,400
LIR(E¥ | JAL JAL | KUHOKD | OKDRIS | 20,600 63% 117,500, A% +:24,200, H:22,700
ZIR=FF (3| JAL JAL | MSJOKD | OKDRIS 20,100 65% |£:21,600. £ H:24,500
ERE=18JI RCPA)| JAL JAL | KOJHND | HNDAKJ 21,900 79% |3 :22.900
RCAE)| JAL JAL | AKJHND [ HNDKOJ| 21,900 79% |4 2,900
RE=1BJII RCPA)| JAL JAL | NGSHND | HNDAKJ 21,900 79% |3 2,900
= JAL JAL | AKJHND [HNDNGS| 21,900 79% |4 2,900
REA=1BII JAL JAL | KMJHND [ HNDAKJ | 21,900 78% |4 22,900
JAL JAL | AKJHND [ HNDKMJ| 21,900 78% |4 2,900
EEEE JAL JAL | KMIHND [ HNDAKJ| 21,900 78% |4 2,900
JAL JAL | AKJHND | HNDKMI | 21,900 78% |&+ H:22,900
FR(PE)=XE [RKFCRE)F JAL JAL | HNDKMJ | KMJAXJ 21,600 64% |£:22,000. £:22,800
REF A JAL JAL | AXJKMJ [KMJHND| 21,600 64% £:22,000, 1:22,600, H:22.200
AT JAL JAL | HNDFUK | FUKAXJ | 27,100 59% |£:31,100, £:27,500, H:27.900
RES & JAL JAL | AXJFUK | FUKHND 28,500 57% | A:29.100, %:33,700, 1:27.400. H:30.700
KB (FFH=XE [ARUE [ X JAL JAL | ITMKMJ | KMJAXJ 17.200 60%
RES X JAL JAL | AXJKMJ | KMJITM 17.200 60%
PG I JAL JAL | ITMFUK | FUKAXJ 19,900 58% |7K:20.400. :22,400, £:21.100. +:20.800
RES & JAL JAL | AXJFUK | FUKITM 20,800 57% |KA£:21.100, £:22,000
R FR) =XEHREFG TR X BR JAL JAL | SPKFUK | FUKAXJ 27,500 67% |£:28.700. £ H:29,300
REF 1B JAL JAL | AXJFUK | FUKSPK | 27,500 67% |£:30.100, & H:29,300
BERE=/TKRE| EEAER | #25 JAL JAL | ASJUTKN [ TKNOKE|  11.900 60%
KRESE | @ELE JAL JAL | OKETKN | TKNASJ 11,900 60%
BeB="RBH) | BB | AR | JAL JAL | TKNOKE [ OKEOKA| 15,600 59%
hHE (FRER) F| Pk RER | JAL JAL | OKAOKE | OKETKN| 15,600 59%
RR(AB) =#FB(ER (PR %| BER JAL JAL | HNDKOJ | KOJTNE 26,000 61% | 7:27,000, % H:28,000, 1:30,000
JAL JAL | TNEKOJ [KOJHND | 26,000 61% | A:27.000, £ H:28,000
RR(PE) =EBAB JAL JAL | HNDKOJ|KOJKUM| 29,000 57% | 7K:30,000. £ H:31,000, £:33.000
JAL JAL | KUMKOJ|KOJHND | 29,000 57% | A% +:30,000, H:33,000
AR (R =BA B JAL JAL | ITMKOJ [KOJKUM| 25,000 53% [AH:26.000, %:27,000, 1:28,000
JAL JAL | KUMKOJ| KOJITM | 25,000 53% | /:28,000, % +:26,000, H:29,000
BE IR B = il GIR#R) JAL JAL | OKAASJ | ASJKOJ 35,200 43% |£$:36.100
BE=EAE JAL JAL | FUKKOJ [KOJKUM| 16,000 63% [AH:17.000, %:18,000, £:19.000
JAL JAL | KUMKOJ| KOJFUK | 17,000 60% | /:20,000, % +:18,000, H:22.000
BE=ETE JAL JAL | FUKKOJ [ KOJTNE| 15,000 64% |£:15,500, H:17.000
BERE JAL JAL | TNEKOJ | KOJFUK| 15,000 64% |£ H:16,000
EE=1mBI FRECRE)| JAL JAL | HIJHND | HNDAKJ 26.400 71% | H:25.900. :26,300, £:28,800. 1:30.200. H:27.600
R CRE)| JAL JAL | AKJHND | HNDHIJ | 27,200 70% _[H:27.600. 7:26,900. £:28,300, +:27,700, H:27.400
WIL=25 18 JAL JAL | MYJFUK | FUKKMI 19,100 66% | 7K:20,000. £:21,600, £:21,100, H:20,300
=ILE & JAL JAL | KMIFUK | FUKMYJ 19.100 66% | K:19.600, £ 0,700, B:20,000
RO =BEAL| BEABR | 5 JAL _[JAL/RAC| ASURNJ [RNJOKA [ 18,400 57%
B = BRE [REK] JAL JAL | OIROKD [OKDHKD| 18,000 61% |+ H:15.000
EAER  [ALIR(EER)[ JAL JAL _|HKDOKD | OKDOIR 18,000 61% |+ H:15.000
5% | (R%) [JAL/RAC| JAL | RNJOKA | OKAASJY 15,100 69%
*EF I JAL JAL | TSINGS[NGSHND|  27.100 60% | 7:27,500. % H:28.300, £:28,100
[l JAL JAL | TSJFUK [ FUKHND | 30,100 54% | A:30,300, %:31,700. +:20,400. H:30,600
"R CAE)E[__EB JAL JAL | HNDNGS|NGSTSJ|  27.100 60% [ A:27.500, £ H:28,300, 1:28.100
[l JAL JAL | HNDFUK | FUKTSJ | 30,100 54% | A:30,300, %:31,700. +:20,400. H:30,600
HR(FH) =28EI| BRI R JAL JAL | FUJNGS [NGSHND|  25.800 61% |£H:27.000. £:26,800
FEE JAL JAL | FUJFUK | FUKHND | 32,800 53% |£:32,700, +:32,300. H:32.400
RRCABE) [ RIG JAL JAL _|HNDNGS| NGSFUJ 25,800 61% |2 H:27,000. 1:26,800
FEE JAL JAL | HNDFUK | FUKFUJ | 32,800 53% |£:32,700, £:32,300. H:32,400
R (HE) =FIK EhE:3 5 JAL JAL | IKINGS [NGSHND|  23.800 62% | 7K:24,100, % H:25,300, 1:24,500
RRCRE) %] Rk JAL JAL _|HNDNGS| NGSIKI 24,100 62% |£:26,900. £:25.700, H:26.800
AR (BFH =3 5% pSEE S R JAL JAL | TSINGS | NGSITM 22,500 57% | H:22.000, A:22,900, £:23,000
(eI JAL JAL | TSJFUK | FUKITM | 21,500 54% [7K:21,800, K H:22,000, £:23,000, +:21,800
AR (R [ RIG JAL JAL | ITMNGS | NGSTSJ 22,500 57% | H:22.000, £:22,900, £:23,000
[ JAL JAL | ITMFUK | FUKTSJ | 21,500 54% [7K:21,800, K H:22,000, £:23,000, £:21,800
KR (FFH=E8EI| AERIH g JAL JAL | FUJFUK | FUKITM 21,700 58% | A%:24,700, 1:24,000
Rk JAL JAL | FUINGS | NGSITM | 19,100 61% |£:22,600, H:22,400
KR (FRFH %[5k JAL JAL | ITMFUK | FUKFUJ | 21,700 58% | A%:24,700. £:24,000
Rk JAL JAL | ITMNGS | NGSFUJ| 19,100 61% |£:22,600, H:22,400
KB (5 =E % El6E3 RI5 JAL JAL | IKINGS | NGSITM 17.100 64% | K+ H:17.400, £:20,600
ARRD ] R JAL JAL | ITMNGS | NGSIKI 21,000 55% | H:20,400, A:21,300, £:22,700, +:20,700, H:20,900
EE=X5 o B & JAL JAL | TSJFUK | FUKTKS 22.200 54% | AK:22.400. %:23,800, H:22.600
#ES 218 15 JAL JAL | FUJFUK | FUKTKS |  25.100 53% | %£:26,500, H:25.500
i & JAL JAL | TSJFUK | FUKMYJ 20,350 55%
[ JAL JAL | FUJFUK | FUKMYJ| 22550 55%
[ JAL JAL | TSJFUK | FUKKCZ | 22,150 54%
[ JAL JAL | FUJFUK | FUKKCZ | 24,400 54%
1B JAL JAL | TSUFUK | FUKHNA| 33,100 56% | 7K:34,000, 7:34,200, £:40,300
1B JAL JAL | FUJFUK | FUKHNA| 36,000 55% | 7KA:36.900. £:43,000
[ JAL JAL | TSJFUK | FUKKOJ | 18,100 57% |A%:18,300, B:17,600
[ JAL JAL | FUJFUK | FUKKOJ| 21,000 55% | H:20,500
[l JAL JAL | TSJFUK | FUKIZO | 23,100 54%
& JAL JAL | FUJFUK | FUKIZOo | 25300 54%
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BER(HE) =24 Rz CRE) X[ H#EGRH)| JAL [JTA/RAC| HNDOKA|OKAMMY| 34,800 2 H 0:34,900. £ +:35,300
= |3$48 (GRE) [UTA/RAC|  JAL | MMYOKA| OKAHND 35,000 1 7k AK:34,900, H:35,600
RRE(HE)=FHE |RRCRA) %448 JBHW | JAL [JTA/RAC| HNDOKA | OKAISG 36,600 4% | % +:37,200, H:36,800
ABR (B9FE) | JAL JTA | HNDKIX | KIXISG 38,000 7%
i s JTA/RAC|_JAL | ISGOKA | OKAHND| 36,800 3% | F£:36,900, kK +:36,700. H:37,600
KR () =2l | KBR (%) | RR CRE) | JAL JAL | ITMHND |[HNDMMB| 36,300 4%
FTFR| JAL JAL | ITMSPK [SPKMMB| 34,300 55%
ESETES RCRE) | JAL JAL _|MMBHND]| HNDITM 36,300 4%
FTFR|  JAL JAL _|MMBSPK| SPKITM | 36,300 3%
KB (BA#8) =ZcimAl | KR (B7E) S SR CRIE) [ JAL JAL | KIXHND |HNDMMB| 36,300 4%
2 i Bl 5 CRE)| JAL JAL _|MMBHND]| HNDKIX 36,300 4%
KB (D =Rl | KBR (A1) #|RECHAE) | JAL JAL | ITMHND | HNDAKJ 8,000 3% |£:28,400, 1 H:28,100
JEIE (HE) | JAL JAL__| AKJHND | HNDITM 7,800 4% | H:28,200
KB (B8#8) =he Il | KR (B87E) | R CHE)|  JAL JAL | KIXHND | HNDAKJ 8,000 % |£:28,400, 1 H:28,100
JEIED (HE) | JAL JAL__| AKJHND | HNDKE 8,300 H:28,700
KB (D) =8IEg | KBk (A #|RFECHAE) | JAL JAL | ITMHND | HNDKUH 5,300
$l3% ¢ CRE)| JAL JAL | KUHHND | HNDI 35,300
KPR (BE7E) =8IER | KRR (B7E) #| R CHE)|  JAL JAL | KIXHND |HNDKUH| 35,300
EEES CRE)| JAL JAL | KUHHND | HNDKL. 35,300 b
KB (D) =% [ KRR %[ FR(HEA) | JAL JAL | ITMHND [HNDOBO ,300 58%
L5 CRE)| JAL JAL _|OBOHND]| HNDITM .300 58%
KBR (B8TE) =#/k | KBk (B8F8) % | Bm (FH) | JAL JAL | KIXHND |HNDOBO ,300 58%
HILE CRE)| JAL JAL _|OBOHND]| HNDKIX .300 58%
KR (57 =BfE | KBR (A #|RECHAE) | JAL JAL | ITMHND |HNDHKD| 35,100 47% £ H:35,300, £:35,200
ERAESE CRE)| JAL JAL | HKDHND | HNDITM 35,000 47% | AA:35,200, % H:35,300, £:34,900
Kk (BAFE) =B8R URCHE)|  JAL JAL | KIXHND |HNDHKD| 34,000 49% | +:34,800
CHE)| JAL JAL | HKDHND | HNDKIX | 34,900 48% | H£1:34.400, 7k X:34,200, H:35.100
KB (FFH) = R CHE)|  JAL JAL | ITMHND | HNDMSJ 28,500 56% | £:28,200, +:28,400, H:27.700
RS GHE)|  JAL JAL | MSJHND | HNDITM | 28500 56% | A:28.400., £:29,600. +:28,800. H:28,000
PNAETS) RO KBR (B78) F|RECHE)|  JAL JAL | KIXHND | HNDMSJ 27.200 58% | 1:28,000
ZR% FE)|  JAL JAL | MSJHND | HNDKIX | 28,000 56% | HKAH:27.200
KBx () =pk | XBR(FEFD S| HE JAL JAL | ITMIZO | 1ZOOKI 19.300 50% |£:19.800. H:20,300
[E% 5 3 JAL JAL | OKIZO | 1ZOITM 19.500 50%
AR (R =BFB[AREDE| BERE JAL JAL | ITMKOJ | KOJTNE 24,000 51% | AH:25000, %:26,000, 1:27,000
JAL JAL | TNEKOJ | KOJITM | 23,000 53% | A:24,000, %:25,000. H:26,000
AR (BFH=8% JAL _[JTA/RAC| ITMOKA [OKAMMY[ 28,700 55% | A H:28.800, %:29,900, 1:30.300
JTA/RAC| JAL _|MMYOKA| OKAITM | 32,700 49%
KBz (B§FE) ==& JTA _[JTA/RAC]| KIXOKA [OKAMMY[ 28,700 55% | §:28,800. 7k:30,200, £:31,400, F:31,600, H:28,100
JTA/RAC|  JTA |MMYOKA| OKAKIX | 28,700 55% | /3:28,800, %:29,500, +:27,500, H:31,600
AR (#FH =H1E JAL _[JTA/RAC| ITMOKA | OKAISG 30,500 57% |+ H:30.700
b= JTA/RAC| JAL | ISGOKA | OKAITM | 33,200 53%
KBz (B87E) =FR1E | AR (BF) % JTA _[JTA/RAC| KIXOKA | OKAISG 30,500 57% |7K:32,000. &:30,700, % +:33,300, H:29.800
hLEX JTA/RAC|  JTA | ISGOKA | OKAKIX | 30,100 57% |£:30,800, +:29,200, H:33,300
ZEE(PE) =%H5 [ BEE (PE R[AREGTFE | JAL JAL | NGOSPK|SPKMMB| 25400 65%
RETR) |  JAL JAL _|MMBSPK|[SPKNGO|  14.700 80% | AskA:14.400, £+ H:14.800
EHCEEE #(GB#) | JTA [JTA/RAC|NGOOKA|OKAMMY|  31.200 55% | F:31,900, % H:31,600, 1:32,300
#8 (BB¥) | J)TA/RAC| JTA |MMYOKA|OKANGO| 31,900 54% | A%+ H:32.400. K:32,000
AHE(PE) =FR1E #E(AF) | JTA [JTA/RAC|NGOOKA| OKAISG 33,000 57% | H:33.600. A:33,200, % H:33,500, £:34,200
#8 (BB¥) | J)TA/RAC| JTA | ISGOKA [OKANGO| 33,700 56% | A% H:34,300, £:33,800, £:34.100
AR (FF ) = /i CRA)| JAL JAL | SPKHND |HNDKMQ| 26,800 61% | H:27.600
INASE HE)| JAL JAL _|KMQHND| HNDSPK| 26,800 61% [£:27.400
FLIR G F %) =R LU [4LIR &) % CRA)| JAL JAL | SPKHND | HNDOKJ| 31,800 59%
i L1y 5 CRA)| JAL JAL | OKJHND | HNDSPK| 31,800 59%
IR FFR) =LB[ALRFTFR) CRA)| JAL JAL | SPKHND | HNDHIJ 32,600 59%
NE HE)| JAL JAL | HIJHND [ HNDSPK| 32600 59%
LR BT &) = W[ AR G T8 %R CRE) | JAL JAL | SPKHND [ HNDUBJ| 34,200 59% | +:33,900
ME=ESE GHE) | JAL JAL | UBJHND | HNDSPK| 34,200 59%
ARG =HEHREG TR X[ HRCHE)|  JAL JAL | SPKHND | HNDIZO 30,500 60%
HESR CRA)| JAL JAL | IZOHND | HNDSPK| 30,500 60%
IR G =K2 [fLREFFR) % CRA)| JAL JAL | SPKHND | HNDOIT 34,200 60%
Ro5E HE)| JAL JAL | OITHND | HNDSPK| 34,200 60%
ARG TR =R [LREF TR %[ HRCHE)|  JAL JAL | SPKHND |HNDNGS| 35,900 60%
RIBSE CBE) | JAL JAL | NGSHND | HNDSPK| 35900 60%
FLIR G Fi%) =REA *Lm}i(%ﬁ%—ﬁ)% R CRIE) | JAL JAL | SPKHND | HNDKMJ| 35,100 59%
REARSE CBE)|[  JAL JAL | KMJHND [ HNDSPK| 35,100 59%
ARG TR =28 [LREF TR %[ HRCHE)|  JAL JAL | SPKHND | HNDKMI 35,900 58%
G CBE) | JAL JAL | KMIHND [ HNDSPK| 35900 58%
ARFFR) —ERB[ARGTHR[HRCARA) | JAL JAL | SPKHND [ HNDKOJ| 40,000 55%
ERBE CBE) | JAL JAL | KOJHND [ HNDSPK| 40,000 55%
LR (3 ) =0 (BB | ALIR (37 F2%) Fe S CRIED | JAL JAL | SPKHND [HNDOKA| 41,300 55%
& JAL JTA | SPKFUK | FUKOKA| 41,300 57% |+ H:41.200
hHE (FRER) SR (PIE) | JAL JAL | OKAHND | HNDSPK| 41,300 55%
RIR (BF)| JTA JAL | OKAKIX | KIXSPK | 41,300 56%
= JTA JAL | OKAFUK | FUKSPK | 41,300 57% |+ H:41.200
IR T FR) =RE ARG TR X[ /RFCHE) | JAL JAL | SPKHND | HNDISG 41,600 64% |£:41,700. H:41,900
AEX HE)| JAL JAL | ISGHND | HNDSPK| 42300 63% |2 H:42,600, £:42,500
1Bk =% m Al BE% CRE)| JAL JAL | FUKHND [HNDMMB| _ 41.400 57%
LR BT JAL JAL | FUKSPK [ SPKMMB| 41,400 53% | +:41,900
ZiGR% |RECHA)| JAL JAL _|MMBHND| HNDFUK |  41.400 57%
FFR|  JAL JAL _|MMBSPK| SPKFUK | 41.400 53% |+ H:41,900
1ERE =8l B % CRE)| JAL JAL | FUKHND [ HNDAKJ | 36.400 61%
BJIIFE HE)| JAL JAL | AKJHND [ HNDFUK|  36.400 61%
1B =4I BE%E CRE)| JAL JAL | FUKHND [HNDKUH| 35,900 61%
IR SE CBE) | JAL JAL | KUHHND [ HNDFUK| 35900 61%
BE =%k BE% CRE)| JAL JAL | FUKHND [HNDOBO| 35,500 62%
HIRSE CBE) | JAL JAL _|OBOHND| HNDFUK| 35500 62%
R BEE CRE)| JAL JAL | FUKHND [HNDHKD|  41.400 51%
AR (FFD| JAL JAL | FUKITM | ITMHKD | 16,800 78% | % H:17,500
EWAER [RECHE)| JAL JAL _|HKDHND | HNDFUK| 41,100 51% 1:41,300. % H:41.400
RERF]  JAL JAL | HKDITM | ITMFUK | 16,800 78% 7.200
BE=F% wEER% [RRCEE)| JAL JAL | FUKHND [HNDAOJ| 22,000 73% + H:22.800
RERF] JAL JAL | FUKITM | ITMAOJ | 38,200 47%
EHRE  |[ERBE)| JAL JAL | AOJHND | HNDFUK | 22,000 73% H:22.800
RERF]  JAL JAL | AOJITM | ITMFUK | 36900 49% 7,300, %:37,500, H:37.100
EEFE [RRCHAE)| JAL JAL | FUKHND | HNDMSJ| 20,000 75% 20,800
ZR%  [ERCEE)| JAL JAL | MSJHND | HNDFUK| 20,000 75% :20.800
REREF] AL JAL | MSJITM | ITMFUK | 36.900 50% £:37.300. H:36.500




1B =@ BEE |"EREE)| JAL JAL | FUKHND | HNDAXT| 34,500 54%
MERE [ERCEHE)| JAL JAL | AXTHND | HNDFUK| 34,500 54%
RER(F]  JAL JAL | AXTITM | ITMFUK | 34500 49%
B8R =Lf BEE [EERE)] JAL JAL | FUKHND [HNDGAJ| 30,000 54%
RERF]  JAL JAL | FUKITM | ITMGAJ | 30,000 55%
W% [ERCEE)| JAL JAL | GAJHND [ HNDFUK| 29,800 55% | FJKH:29.300, K :29,600, £:30,000
ABR(FH | JAL JAL | GAJITM | ITMFUK 29,700 55% | K£+ H:30,000
1R =/ EEFE [RRCHAE)| JAL JAL | FUKHND [HNDKMQ| 26,000 64% | A7KA:25,700, 1:25,300, B:25.800
MM |EFERCHE)| JAL JAL _|KMQHND| HNDFUK 26,000 64% | Bk H:25.700, K& +:25.900
BE=2% fEE% [P (FRE) | JTA [JTA/RAC| FUKOKA [OKAMMY| 25300 54% [ F:25400, £:25500. + H:25.700
EE% | P#(RER) |[JTA/RAC|  JTA [MMYOKA| OKAFUK| 25400 54% | A %:25,500, £ H:25700
BE=h1E BEFE [MEEGRE)| JTA [JTA/RAC| FUKOKA | OKAISG 26.100 58%
FiE%  [#8(FRE) [JTA/RAC] JTA [ ISGOKA [ OKAFUK|  26.100 58%
SR i B 3¢ RCPA)| JAL JAL _|MMBHND|HNDKMQ|  33.200 57%
IMAFE HE)| JAL JAL _|KMQHND|[HNDMMB| 33200 57%
2 Bl = R L ESIES CRA)| JAL JAL _|MMBHND| HNDOKJ| 36,700 58%
[GIE: CRA)| JAL JAL | OKJHND [HNDMMB| _ 36.700 58%
Zibhl=h8 ESEIES CRA)| JAL JAL _|MMBHND| HNDHIJ 39,000 56%
NS HE)| JAL JAL | HIJHND [HNDMMB| 39,000 56%
Zimh=HE ESEIES CRA)| JAL JAL _|MMBHND]| HNDIZO 35.400 59%
HE CBE) | JAL JAL | 1IZOHND [HNDMMB| 35400 59%
b A =l i B 3¢ CRA)| JAL JAL _|MMBHND|HNDMYJ| 40,500 55%
HALLISE CRA)| JAL JAL _|MYJHND |[HNDMMB| 40,500 55%
Zimh=Fh1E i B ¢ CRE)| JAL JAL _|MMBHND]| HNDISG 46,800 62% | 9:46.900
AER HE)| JAL JAL | ISGHND [HNDMMB| 47,500 62% | H:47.600
TBI= /I JENIES CRA)| JAL JAL | AKJHND |[HNDKMQ|  29.400 61%
IMAFE HE)|  JAL JAL _|KMQHND| HNDAKJ| 29,400 61%
BI=mfaE JENES CRA)| JAL JAL | AKJHND |HNDSHM| 32400 62% | H:32,300
BfLEES CRA)| JAL JAL | SHMHND | HNDAKJ 36.700 57%
FEJI=RW JEIE HE)| JAL JAL | AKJHND [ HNDOKJ| 36,700 57%
G CREA)| JAL JAL | OKJHND | HNDAKJ 36.700 57%
BIN=HE ENIES CRA)| JAL JAL | AKJHND | HNDIZO 35,400 58%
HE CBE)|[  JAL JAL | IZOHND | HNDAKJ| 35400 58%
JEVITEENTT] ENIES CRA)| JAL JAL | AKJHND |HNDMYJ| 40,500 54%
HALLISE CRA)| JAL JAL | MYJHND | HNDAKJ 40,500 54%
BN=%1E JENIES CRA)| JAL JAL | AKJHND | HNDISG 44,900 63% | 9:45.300
AER HE)| JAL JAL | ISGHND | HNDAKJ| 453800 62% | 1:45,900, H:45700
SIER =/ Bl CRE)| JAL JAL | KUHHND [HNDKMQ| 33,200 56%
IMAFE HE)| JAL JAL _|KMQHND|HNDKUH| 33200 56%
gliEg =Ml ElES CRE)| JAL JAL | KUHHND [ HNDOKJ| 35,900 58%
G CRA)| JAL JAL | OKJHND | HNDKUH| 35,900 58%
SIR=L8 ElES CRE)| JAL JAL | KUHHND | HNDHIJ 39,000 55%
NS HE)| JAL JAL | HIJHND [HNDKUH| 39,000 55%
glR=HE Bl CRE)| JAL JAL | KUHHND | HNDIZO 35,400 58%
HE CBE)|[  JAL JAL | IZOHND [HNDKUH| 35400 58%
glgg=#al ElES CRE)| JAL JAL | KUHHND [HNDMYJ| 40,500 54%
HALLISE CRA)| JAL JAL | MYJHND | HNDKUH| 40,500 54%
fi=A18 Bl ES CRE)| JAL JAL | KUHHND | HNDISG 45,900 62%
AER HE)| JAL JAL | ISGHND |HNDKUH| 46,600 61%
wR=/R BILFE CRA)| JAL JAL _|OBOHND|HNDKMQ| 31,300 58%
INASE HE)| JAL JAL _|KMQHND|HNDOBO| 31,300 58%
HR=FREW BILFE CRA)| JAL JAL _|OBOHND|HNDOKJ| 36700 57%
BN CBE)|  JAL JAL | OKJHND [HNDOBO| 36,700 57%
HhR=HE Hh%E CRE)| JAL JAL _|OBOHND]| HNDIZO 35,400 57%
HES HE)| JAL JAL | IZOHND [HNDOBO| 35400 57%
wmR=H =% CRA)| JAL JAL _|OBOHND|HNDMYJ| 40,500 53%
W% GHE)| JAL JAL | MYJHND [HNDOBO| 40,500 53%
wh=H1E I CRA)| JAL JAL _|OBOHND]| HNDISG 44,800 63% |£1:44.900. H:45,100
RIEH CRA)| JAL JAL | ISGHND |HNDOBO| 45,900 62% [7kA:45.800, %:46,600. 1:46.800
EAE=/MA AR CRE)| JAL JAL _|HKDHND [HNDKMQ|  27.900 58%
IMAFE HE)| JAL JAL _|KMQHND|HNDHKD| 27,900 58%
EAE=MRL AR CRA)| JAL JAL | HKDHND | HNDOKJ| 36,600 52%
G CRA)| JAL JAL | OKJHND |HNDHKD| 36,600 52%
HAE=IRE AR CRE)| JAL JAL | HKDHND | HNDHIJ 38,500 50%
N HE)| JAL JAL | HIJHND [HNDHKD| 38,500 50%
EHAE=HE S CRA)| JAL JAL | HKDHND | HNDIZO 34,300 54%
HE CBRE)|[ JAL JAL | IZOHND [HNDHKD| 34,300 54%
JAL JAL | IZOITM | ITMHKD | 16,000 78% |H:17.500
AR =L JAL JAL | HKDHND [ HNDMYJ| 38,300 51%
JAL JAL | HKDITM [ ITMMYJ | 21,900 68%
JAL JAL | MYJHND [ HNDHKD | 38,300 51%
EAE=dL A JAL JAL | HKDHND | HNDKKJ | 27,800 67% |[AKAZE+ H:27.600
JAL JAL | KKJHND [ HNDHKD | 27,600 67%
EWEE=X% JAL JAL | HKDHND | HNDOIT | 20,900 75% t 0:21,500
JAL JAL | OITHND [HNDHKD| 20,900 75% t H:21,500
JAL JAL | OITITM | ITMHKD | 13,300 81% A&+ H:13.200
W =RE JAL JAL | HKDHND [HNDNGS| 21,400 75% t H:22,000
JAL JAL | HKDITM | ITMNGS | 16,000 80% |#£:15900, £:16,200, H:15.100
JAL JAL | NGSHND | HNDHKD| 21,400 75% |&+ H:22,000
JAL JAL | NGSITM | ITMHKD | 15,500 81% |£:15900, £:16,200, H:15.100
EAE=FEA JAL JAL _|HKDHND [ HNDKMJ| 21400 75% &+ H:22,000
JAL JAL | HKDITM | ITMKMJ | 19,700 74%  [£:19.800
JAL JAL | KMJHND [HNDHKD| 21,400 75% |%+ H:22,000
JAL JAL | KMJITM | ITMHKD | 19,700 74%
HAE=E15 JAL JAL | HKDHND | HNDKMI | 21.400 75% £+ H:22,000
JAL JAL | HKDITM | ITMKMI 18,000 77% | £:18,300
JAL JAL | KMIHND [HNDHKD| 21,400 75% |&+ H:22,000
JAL JAL | KMITM | ITMHKD | 18,000 77% | H:18,300
HE=ERE JAL JAL | HKDHND [ HNDKOJ|  21.400 75% H:22.000
JAL JAL | HKDITM | ITMKOJ | 18,200 78% :18,500, H:19,000
JAL JAL | KOJHND [HNDHKD| 21,400 75% H:22,000
JAL JAL | KOJITM | ITMHKD | 18,200 78% |£:19,900, H:19.400
EWEE=R1E JAL JAL | HKDHND | HNDISG | 41,500 63% £1:41,700, H:42,400
REEX [EERE)] JAL JAL | ISGHND [HNDHKD| 42,000 62% | +:42,800




BFHR=IML EHR CRE)| JAL JAL | AOJHND |HNDKMQ| 13800 79% |+ H:14,500
INASE HE)|  JAL JAL _|KMQHND|HNDAOJ| 14,300 78% |&+ H:15,500
EH=MRAE EHRR CRE)| JAL JAL [ AOJHND [HNDSHM| _ 20.800 71% _[/kKK+:22.400. £:22,800, H:22.300
Bt EES CRA)| JAL JAL | SHMHND|HNDAOJ| 29,100 60%
EHR=[WL AR CRE)| JAL JAL [ AOJHND[HNDOKJ|  29.100 61%
[GES CRA)| JAL JAL | OKJHND | HNDAOJ| 29,100 61%
EHR=LB AR CRE)| JAL JAL [ AOJHND | HNDHIJ 30,000 60%
NS HE)| JAL JAL | HIJHND [HNDAOJ| 30,000 60%
EHR=LOFH R (FE)|[ JAL JAL | AOJHND [HNDUBJ| 25,800 68% | 7kA+:27,000, %:27,800, B:27,900
E3 B JAL JAL | UBJHND [ HNDAOJ| 25,400 68% |7k A £:25600, £:29,200, H:28.700
EAR=HE EH JAL JAL | AOJHND | HNDIZO 29,100 60%
JAL JAL | AOJITM | ITMIZO 27,900 60% |%+ H:28.400
JAL JAL | 1IZOHND [HNDAOJ| 29,100 60%
ER=EE JAL JAL [AOJHND|[HNDTKS|  19.300 74% |%+ H:20,300
JAL JAL | TKSHND [ HNDAOJ| 19,300 74%
EHR=mh JAL JAL [ AOJHND[HNDTAK|  19.200 74%
JAL JAL | TAKHND [ HNDAOJ| 19,200 74%
EHR=mH JAL JAL [ AOJHND|[HNDKCZ|  19.300 75% :
JAL JAL | KCZHND [HNDAOJ| 19,300 75% |%+ H:23,000
BEHR=HIL JAL JAL [ AOJHND[HNDMYJ| 19,000 75% £+ H:19.500
)| JAL JAL | AOJITM [ ITMMYJ | 32,800 50%
)| JAL JAL | MYJHND [HNDAOJ| 19,000 75% |&+ H:19,500
)| JAL JAL | MYJITM [ ITMAOJ | 32,800 50%
EH=dthm )| JAL JAL | AOJHND | HNDKKJ 20,800 75%
)| JAL JAL | KKJHND [HNDAOJ| 20,800 75%
EHR=Xn ) uAL JAL _[AOJHND[ HNDOIT | 20.700 74%
)| JAL JAL | AQJITM | ITMOIT 27,900 60%
)| JAL JAL | OITHND [HNDAOJ| 20700 74%
)| JAL JAL | OITITM | ITMAOJ | 33,600 51%
EHR=RE ) JAL JAL [ AOJHND [HNDNGS|  22.200 74% £+ H:23,000
)| JAL JAL | AOJITM [ ITMNGS | 35400 54%
)| JAL JAL | NGSHND [HNDAOJ| 22,200 74% |£ 1 H:23.000
)| JAL JAL | NGSITM | ITMAOJ | 35400 54%
EHR=RX ) JAL JAL [ AOJHND [HNDKMJ|  20.800 75% &1 H:21.600
)| JAL JAL | AOJITM [ ITMKMJ | 35400 52%
)| JAL JAL | KMJHND [ HNDAOJ| 20,800 75% |&+ H:21,600
)| JAL JAL | KMJITM [ ITMAOJ | 35,400 52%
EHR=E15 )| JAL JAL | AOJHND | HNDKMI 20,800 75% |+ H:21.600
)| JAL JAL | AOJITM | ITMKMI | 35400 52%
)| JAL JAL | KMIHND [HNDAOJ| 20,800 75% |21 H:21,600
)| JAL JAL [ KMIT ITMAOJ | 35,400 52%
EHR=ERE )| JAL JAL | AOJHND [ HNDKOJ| 22,200 74% |1 H:23,000
)| JAL JAL [ AOJI ITMKOJ | 36,600 53%
)| JAL JAL | KOJHND [HNDAOJ| 22200 74% _[£1 H:23,000
)| JAL JAL | KOJITM | ITMAOJ | 36,600 53%
EHR=RE EHE  |FRCHAE)| JAL JAL | AOJHND | HNDISG 33,300 70% | 7KA1:34,900, 35,300, H:33,700
] (HE) | JAL JAL | ISGHND | HNDAOJ 400 69% |7k £:35,600, £:36,000, H:35.900
ZiR=/R (HE) | JAL JAL | MSJHND [HNDKMQ ,800 78% |+ H:14,500
(HE) | JAL JAL _|KMQHND | HNDMSJ ,300 77% | &1 H:15500
CRE)| JAL JAL | MSJUHND | HNDOKJ 100 0%
CHB)|[ JAL JAL | OKJHND | HNDMSJ ,100 0%
CHB)|[ JAL JAL | MSJHND | HNDHIJ ,000 0%
CHB)|[ JAL JAL | HIJHND |HNDMSJ 0,000 0%
(HE) | JAL JAL | MSJHND | HNDUBJ ,600 66% |£:27,800, £:27,400, H:28,000
(HE) | JAL JAL | UBJHND | HNDMSJ ,600 66% |£:28400, £:27,400, H:28,000
ZIR=HZE CRE)| JAL JAL | MSJHND | HNDIZO 100 59%
)| JAL JAL | 1IZOHND | HNDMSJ ,100 59%
)| JAL JAL | 1ZOITM | ITMMSJ ,100 59%
ZR=EB )| JAL JAL | MSJHND | HNDTKS ,300 75% & ,300
)| JAL JAL | TKSHND | HNDMSJ ,300 75% & ,300
ZR=&#k )| JAL JAL | MSJHND | HNDTAK ,200 75% & ,500
)| JAL JAL | TAKHND | HNDMSJ ,200 75% & ,500
ZiR==4 )| JAL JAL | MSJHND | HNDKCZ ,300 76% % £ H:22,100
)| JAL JAL | KGZHND | HNDMSJ ,300 76% & ,000
ZIR=#l )| JAL JAL | MSJUHND | HNDMYJ ,000 76% & 500
)| JAL JAL | MYJHND | HNDMSJ ,000 e ,500
)| JAL JAL [ MYJr ITMMSJ 800 51%
)| JAL JAL | MSJHND | HNDKKJ ,800 S 600
)| JAL JAL | KKJHND | HNDMSJ ,800 e ,600
)| JAL JAL | MSJHND | HNDOIT ,700 e 500
)| JAL JAL | OITHND | HNDMSJ ,700 77% |%+ H:19,500
)| JAL JAL | orTr ITMMSJ ,600 52%
ZR=FI5 )| JAL JAL | MSJHND [ HNDNGS ,200 76% |21 H:21,000
)| JAL JAL | NGSHND | HNDMSJ 0,200 76% |21 H:21,000
)| JAL JAL | NGSITM | ITMMSJ | 35400 55%
ZIR=REX )| JAL JAL | MSJHND [HNDKMJ| 18,800 77% |+ H:19.600
)| JAL JAL | KMJHND [HNDMSJ| 18,800 77% £+ H:19,600
)| JAL JAL [ KMJIT ITMMSJ | 35,400 53%
ZIR=E& )| JAL JAL | MSJUHND | HNDKMI 18,800 77% |+ H:21.600
)| JAL JAL [ MSJI [TMKMI | 35,400 53%
)| JAL JAL | KMIHND [HNDMSJ| 18,800 77% £+ H:21,600
)| JAL JAL [ KMIT ITMMSJ | 35,400 53%
ZIR=ER )| JAL JAL | MSJHND | HNDKOJ 0,200 76% |+ H:21,000
)| JAL JAL [ MSJI ITMKOJ 8,400 64% |H:27,900
)| JAL JAL | KOJHND | HNDMSJ 0,200 76% |21 H:21,000
)| JAL JAL [ KOJI ITMMSJ 6,600 54%
ZR=%R1E ZR%FE |ERCHEB)| JAL JAL | MSJHND | HNDISG 34,500 68% | & +:35300
RIEFE [ERERCHAB)| JAL JAL | ISGHND |HNDMSJ| 35,200 68% | 1:36,000




ME =/ ES CRE)| JAL JAL | AXTHND |HNDKMQ| _ 16.200 72% |+ H:17.300
INASE HE)|  JAL JAL _|KMQHND|HNDAXT| 16,100 72% |#& 1 H:16,500
ME=FLAE RESE CRE)| JAL JAL | AXTHND [HNDSHM| 25,800 61% | 1:24.900, H:25.300
Bt EES CRA)| JAL JAL | SHMHND|HNDAXT|  25.800 61%
ME=REL RS CRE)| JAL JAL | AXTHND [ HNDOKJ|  25.800 62%
[EITES CRA)| JAL JAL | OKJHND | HNDAXT|  25.800 62%
HB=LE PR CRE)| JAL JAL | AXTHND | HNDHIJ 27,500 60%
LE&3 HE)| JAL JAL | HIJHND [HNDAXT| 27500 60%
WE=LAOFH GRS CRE)| JAL JAL | AXTHND [HNDUBJ| 30,000 59% [+:29,500
WO FERFE HE)| JAL JAL | UBJHND [ HNDAXT| 30000 59% | +:29,500
ME=HE ES CRE)| JAL JAL | AXTHND | HNDIZO 25,800 61% | H:26.300
RER(F]  JAL JAL | AXTITM | ITMIZO 25,800 60%
HE RCPA)| JAL JAL | IZOHND | HNDAXT|  25.800 61%
HE=#8 RES FCHE)|[  JAL JAL | AXTHND [ HNDTKS|  19.200 1% |4 9,700
BEZE RCAE)|[  JAL JAL | TKSHND [ HNDAXT| 19,200 7% |4 9,700
HE=FH kS RCHE)| JAL JAL | AXTHND [ HNDTAK|  19.200 1% |4 9,700
W RCRE)|  JAL JAL | TAKHND [ HNDAXT| 19,200 7% |4 9,700
HE=54 kS RCHE)| JAL JAL | AXTHND [ HNDKCZ|  19.300 72% |4 9,800
JE RCAE) | JAL JAL | KCZHND [ HNDAXT| 19,300 72% |4 9,800
BE=#10 AR [EECEAE)| JAL JAL [ AXTHND [HNDMYJ| 19,400 72% |4 9,900
RERF]  JAL JAL | AXTITM [ ITMMYJ | 29,100 53%
Wil%  [RERCEE)| JAL JAL | MYJHND | HNDAXT|  19.400 72% £+ H:19.900
RERF]  JAL JAL | MYJITM | ITMAXT | 21,900 64%
#ME=JthM EHE  [RRCHAE)| JAL JAL | AXTHND [ HNDKKJ | 30,000 60%
A [RRCABE)| JAL JAL | KKJHND | HNDAXT| 30,000 60%
ME=X5 MEFX [EmCEE)|] JAL JAL [ AXTHND | HNDOIT 30,000 60%
RERF]  JAL JAL | AXTITM | ITMOIT 16,100 75% | /:20,800, % H:21,300, £:18.100
A% |[EERCEE)| JAL JAL | OITHND | HNDAXT| 30,000 60%
RERF]  JAL JAL | OITITM | ITMAXT | 30,000 53%
HBE=RE TEFE [ERHE)| JAL JAL | AXTHND [HNDNGS|  31.700 60%
KER ()| JAL JAL | AXTITM | ITMNGS 26,500 63% | F:30,200, A:29,400, £:30,500, 1:28,600, H:29,900
Rigg |[EZERCHAB)| JAL JAL | NGSHND | HNDAXT 700 60%
KRR JAL JAL | NGSI ITMAXT 700 56%
ME=REX #EFE [ERCHAB)| JAL JAL | AXTHND | HNDKMJ 700 58%
KRR JAL JAL | AXTT ITMKMJ ,500 58% |AA#%+ H:31,700
AR |[EZERCHHB)| JAL JAL | KMJHND | HNDAXT 700 58%
KRR JAL JAL | KMJI ITMAXT 700 54%
HE=2 BEFE |[ERCHAB)| JAL JAL | AXTHND | HNDKMI 700 58%
KRR JAL JAL | AXTT ITMKMI ,100 60% | AA%+ H:31,700
EEFE |[EERCHAB)| JAL JAL | KMIHND | HNDAXT 700 58%
ABR(BFH | JAL JAL | KMII ITMAXT ,000 74% | H:18,300
ME=ER BEFE [EERCHAB)| JAL JAL | AXTHND | HNDKOJ 700 76% |+ H:19.800
P )| JAL JAL | AXTT ITMKOJ ,300 62% | H:32,500. A 1:32,400. & H:32,900
= )| JAL JAL | KOJHND | HNDAXT ,700 76% |21 H:19.800
)| JAL JAL [ KOJI ITMAXT ,900 55%
MEA=RIE )| JAL JAL | AXTHND | HNDISG 8,800 62% |+ H:37,400
)| JAL JAL | ISGHND | HNDAXT| 39,000 62% | £::39.300, & H:38,000
TEE=HE )| JAL JAL | HNAITM | ITMIZO 700 57% | AKA%+ H:28,600
)| JAL JAL | 1zOITl MHNA ,600 7%
EE=RL )| JAL JAL | HNA MMYJ 500 4%
)| JAL JAL YJIT MHNA 500 4%
EE=X2 )| JAL JAL | HNA ITMOIT 700 7% | A7KA:27,000, £ H:27.300, 1:26.400
)| JAL JAL ITIT MHNA ,200 4%
EE=RIE )| JAL JAL | HNAI MNGS 00 55% | +:32,700
)| JAL JAL GSITM | ITMHNA ,600 55¢%
TEE=REAX )| JAL JAL | HNA MKMJ 400 55%
)| JAL JAL JIT MHNA ,400 55¢%
A== )| JAL JAL | HNA ITMKMI 400 55%
JAL JAL | HNAFUK | FUKKMI ,100 61%
JAL JAL | KMITM | ITMHNA ,400 55%
JAL JAL | KMIFUK | FUKHNA ,800 71% | AJKA:20,500, £:21,100, £:18,900, H:21,000
EE=RR )| JAL JAL | HNAITM | ITMKOJ 600 56%
)| JAL JAL [ KOJI ITMHNA ,600 56%
Witz =/ )| JAL JAL | GAJHND |HNDKMQ ,900 50%
)| JAL JAL _|KMQHND | HNDGAJ ,700 52% | £:23000, 1:22.600. B:22,200
Witz =Fa Ll )| JAL JAL | GAUHND | HNDOKJ ,000 57%
E )| JAL JAL | OKJHND | HNDGAJ ,000 7%
W =5 E )| JAL JAL | GAJHND | HNDHIJ .300 3% | +:27.400
£ )| JAL JAL | HIJHND |HNDGAJ 7,400 3%
Wiz =1LAFER 3 )| JAL JAL | GAUHND | HNDUBJ 1,300 66% |%:21,600, £:22,000, H:23,200
OF &R )| JAL JAL | UBJHND | HNDGAJ 1,200 66% [£:24,700, £:21,100, H:24,300
W =H=E [ Z K )| JAL JAL | GAJHND | HNDIZO 7,400 1%
KRR JAL JAL | GAJI ITMIZO 7,400 7% % H:29.800, £:27.600
HER [ERCHHE)| JAL JAL | IZOHND | HNDGAJ 4,400 6% | 4:25100, £:25,200, H:24,900
KRR JAL JAL | 1ZOITM | ITMGAJ 7,400 7%
Wiz =f#8 W% [RRCEHE)| JAL JAL | GAJHND | HNDTKS 5,200 6% | 1:26,000
EmER |RRCHAE)| JAL JAL | TKSHND | HNDGAJ ,000 4%
Wi = W% [RE(EA)| JAL JAL | GAJHND | HNDTAK ,000 6%
=% |[RRCHE)| JAL JAL | TAKHND | HNDGAJ 000 6%
Wiz =41l Wik [ERERCEE)| JAL JAL | GAJHND | HNDMYJ 800 7%
ABR(2FH | JAL JAL | GAJI ITMMYJ 800 7% % H:29.800, £:27.600
WIL%  [EECHE)| JAL JAL | MYJHND | HNDGAJ ,000 7% | £:26,400, £:25,800, H:26,700
ABR(2FH | JAL JAL | MYJI ITMGAJ ,800 7% | 1:26,600
Wwg=XK% W% [ERERCEE)| JAL JAL | GAUHND | HNDOIT ,900 55% £+ H:29.100
KRR JAL JAL | GAJI ITMOIT .900 67% |£H:29.800, +:27,600
XoFE |[EZECHB)| JAL JAL | OITHND | HNDGAJ 9,100 55%
KBR(BFH | JAL JAL | OITITM | ITMGAJ 7,500 56% | 1:29.100. H:27,700




L =Rl W s [RE(EE)| JAL JAL | GAJHND | HNDNGS| 30,700 55% |£:31.700. H:30,600
AR (FFD| JAL JAL | GAJITM [ ITMNGS | 30,300 57% |%&+ H:31,700
RIS [RRERCHAE)| JAL JAL | NGSHND |HNDGAJ| 31,700 54%
RERF]  JAL JAL | NGSITM | ITMGAJ | 29,300 59% |£:29.600, & H:31,700
Wiz =ReX W% [ERCEE)| JAL JAL | GAJHND | HNDKMJ| 29500 55% | 1:30,000
RERF] JAL JAL | GAJITM [ ITMKMJ | 30,000 56%
AR [EECEE)| JAL JAL | KMJHND | HNDGAJ| 30,000 54%
RERF] JAL JAL | KMJITM [ ITMGAJ | 30,000 56%
Wi == s [RE(EE)| JAL JAL | GAJHND | HNDKMI 29,500 55% | 1:30,000. H:29,900
RERF]  JAL JAL | GAJITM | ITMKMI | 30,000 56%
=ER  [RECHAE)| JAL JAL | KMIHND |HNDGAJ| 30,000 54%
RERF]  JAL JAL | KMITM | ITMGAJ | 30,000 56%
W =ERE W% [ERCEE)| JAL JAL | GAJHND | HNDKOJ| 29,200 57% | 1:30.700
RER(F]  JAL JAL | GAJITM [ ITMKOJ | 31,700 56%
BERER [RRCEE)| JAL JAL | KOJHND |HNDGAJ| 31,700 54%
RER(F]  JAL JAL | KOJITM [ ITMGAJ | 31,700 56%
W =Fh1E \If % [RECHE| JAL JAL | GAJHND | HNDISG | 29,700 68% | +:31,200
REX |[RRCHE)| JAL JAL | ISGHND [HNDGAJ| 31500 66% | +:31,900
e=HE W& [ RXRUERFR|[ JAL JAL | SDJITM | ITMIZO 25,800 58%
HER [KREFFD] JAL JAL | 1IZOITM | ITMSDJ 25,800 58%
& =H1l W& [ RXRUEERFR|[ JAL JAL | SDJITM | ITMMYJ 27.500 53%
WILE [ RR@EFD] JAL JAL | MYJITM | ITMSDJ | 27,500 53%
a=xX% W& [ RXRAERFR] JAL JAL | SDJITM | ITMOIT 22,800 63%
A% | RRUEFR[ JAL JAL | OITITM | ITMSDJ 24,700 60% | H7kA:23.600, £:27,300. £:28,100, H:24,800
W& =RE W& [ RXRAERFR|[ JAL JAL | SDJITM | ITMNGS 31.400 55% |£:31,700. £:31,600
RIS [ RRUFA[ JAL JAL | NGSITM [ ITMSDJ 31,100 55% |£1:31,700. H:30,700
& =H.x WEE  [KER@EED] JAL JAL | SDJITM | ITMKMJ 30,000 55%
AR [ ARUEA[ JAL JAL | KMJITM | ITMSDJ 29,900 55% | H7K:29.300, A<+ H:30.000
e == WE%E  [KER@EED] JAL JAL | SDJITM | ITMKMI 31,700 53%
D[ JAL JAL | KMITM | ITMSDJ | 31,700 53%
WeE=ERE | JAL JAL | SDJITM | ITMKOJ 31,700 55%
D[ JAL JAL | KOJITM | ITMSDJ | 31,700 55%
FR=HE | JAL JAL | KIJITM | ITMIZO 23,300 61% [£:24,000
D[ JAL JAL | 1IZOITM | ITMKIJ 23,300 61%
FiB=tl | JAL JAL | KIJITM [ ITMMYJ 25,800 54%
D[ JAL JAL | MYJITM | ITMKIJ 25,800 54%
D[ JAL JAL | KITM | ITMOIT 22,400 62% |£::24,000
D[ JAL JAL | OITITM | ITMKIJ 27,500 54%
D[ JAL JAL | KIUITM [ ITMNGS | 30,000 55% | +:29,500
D[ JAL JAL | NGSITM | ITMKIJ 30,000 55%
D[ JAL JAL | KIITM [ ITTMKMJ | 29,100 55%
D[ JAL JAL | KMJITM | ITMKIJ 29,100 55%
D[ JAL JAL | KIJITM | ITMKMI | 29,100 55%
D[ JAL JAL | KMITM | ITMKIJ 29,100 55%
D[ JAL JAL | KIITM [ ITMKOJ | 30,000 56%
D[ JAL JAL | KOJITM | ITMKIJ 30,000 56%
ANA=FE L i JAL JAL _|KMQHND|HNDOKJ| 24400 62%
E JAL JAL | OKJHND [HNDKMQ| 24,400 62% |£::24,600
IMA=IEE % JAL JAL _|KMQHND| HNDHIJ 25,300 61% |+ H:25.000
5 JAL JAL | HIJHND [HNDKMQ| 25300 61% [/kAK £ H:25000
MA=ILOFE Ea B JAL JAL _|KMQHND|HNDUBJ| 27,300 61% |£:27,900, T:26,000. H:28.100
B3 CBE)|  JAL JAL | UBJHND [HNDKMQ| 27,000 61% |2 H:28,100, £:26,900
IMA=HE VL FE CRA)| JAL JAL _|KMQHND| HNDIZO 25400 59% | H:26.300
HER HE)|  JAL JAL | IZOHND [HNDKMQ| 25400 59% | +:27.100
IMA=TER N CRE)| JAL JAL _[KMQHND|[HNDTKS| 24,500 61%
BEZE CBE)|[ JAL JAL | TKSHND [HNDKMQ| 24,500 61%
INA=TFH IR FE CRE)| JAL JAL _|KMQHND|HNDTAK| 24,600 61% |£H:24.900. £:23,900
BINE HE)| JAL JAL | TAKHND [HNDKMQ| 24,800 61% |% H:24,900, £:24,100
INA=TEH IMAFE GHE) | JAL JAL _|KMQHND|HNDKCZ| 26,400 60% . H:26,700
BAE CBE) | JAL JAL | KCZHND [HNDKMQ| 26,400 60% |4 . £:26,300
INA=HAL N CRA)| JAL JAL _|KMQHND|HNDMYJ| 26,600 60% |4 . 1:25,800, H:27,000
[NITE:S HE)| JAL JAL | MYJHND [HNDKMQ| 26,000 61% |£:26.400, £:25,800. H:26.700
MR=JE A INEASE CRA)| JAL JAL _|KMQHND| HNDKKJ 29,100 60%
EIZRE: HE)| JAL JAL | KKJHND [HNDKMQ| 29,100 60%
IMR=K5 NEASE CRA)| JAL JAL _|KMQHND| HNDOIT 29,900 58%
Ro5E HE)|  JAL JAL | OITHND [HNDKMQ| 29,900 58%
M= RIG N CRA)| JAL JAL _|KMQHND|HNDNGS| 32,700 56%
Rk 5 CBE) | JAL JAL | NGSHND [HNDKMQ| 32,700 56%
INA=FER INEASE CRE)| JAL JAL _[KMQHND|HNDKMJ|  30.900 57%
3 CBE)| JAL JAL | KMJHND [HNDKMQ| 30,900 57%
A= INEASE CRE)| JAL JAL _|KMQHND| HNDKMI | 30.900 57%
G CBE) | JAL JAL | KMIHND [HNDKMQ| 30,900 57%
IME=ERE INEASE CRE)| JAL JAL _|KMQHND[HNDKOJ| 17500 77% £+ H:19.700
B JAL JAL | KOJHND [HNDKMQ| 18,500 75% |%+ H:20,500
IMA=EH /] E JTA [JTA/RAC|KMQOKA[OKAMMY[ 29,600 59% [ H:20.700, %:33,000, £:32,900
Eh% P8 (FRE) [JTA/RAC] JTA |[MMYOKA[OKAKMQ|  30.600 57% |H#£H:31.000, 1:34,300
INA=F1E MR [RECEE)|  JAL JAL _|KMQHND| HNDISG 36.800 63% |£:36,900. £ H:36,000
P#E (BT | JTA |[JTA/RAC|KMQOKA| OKAISG | 31,600 60% | % 1:34,900
BEX [ERGE)| JAL JAL | ISGHND [HNDKMQ|  37.100 63% H:36,700
340 (BR¥) [JTA/RAC| JTA | ISGOKA |OKAKMQ| 31,600 60% 4,900
El=2%& Bl  [AEEGRH)| JTA |JTA/RAC| OKJOKA|OKAMMY| 29,200 54% H:29,300. 7:35,700, £:35.800
JTA/RAC| JTA |MMYOKA| OKAOKJ| 29,200 54% | A %:29,300, £ H:35800
EL=F1E JTA _|JTA/RAC| OKJOKA| OKAISG | 31,000 56% | A%:37,700, £ H:31,200
JTA/RAC|  JTA | ISGOKA | OKAOKJ| 31,000 56% | A %:31.200, £:37,500, H:37.700
BH=E5 JAL JAL | KCZFUK | FUKKMI | 23,600 56%
JAL JAL | KMIFUK | FUKKCZ | 27,300 49% | +:27,600




SR (GIRER) =F T (I R JAL JAL | OKAHND | HNDAOJ| 39,000 55% |7k AR 1:39,200, 41,000, H:40,700
JAL JAL | OKAITM | ITMAOJ | 41,400 53%
EHRE JAL JAL | AOJHND [HNDOKA| 39,400 55% |2 1:41,000, H:40,100
JAL JAL | AOJITM | ITMOKA | 41,400 53%
AR ==IR JAL JAL | OKAHND |HNDMSJ| 40,000 54% | 1:40.800
5 JAL JAL | MSJHND [HNDOKA| 39,300 55% |£::39,800, £:40,600
B (GIRER) =FAE B8 (R R [Rm JAL JAL | OKAHND | HNDAXT| 37700 53%
JAL JAL | OKAITM | ITMAXT | 37.700 55%
FAESE JAL JAL | AXTHND [HNDOKA| 37,700 53%
JAL JAL | AXTITM | ITMOKA | 34,500 58% |AK£ 1t H:37.700
SRAE(GIRER) =TE5 | ihHE (FRER) R JAL JAL | OKAITM | ITMHNA 38,400 55%
JTA JAL | OKAFUK | FUKHNA | 30,600 66% | F7K:28,300, A:28,900. 30,000, +:29,800, H:31.900
&R JAL JAL | HNAITM | ITMOKA | 38,400 55% |[AKAZE+ H:37.700
JAL JTA_| HNAFUK | FUKOKA | 34,700 61% |£:35800, & H:36,200
AR (GIRER) = LFS | hHE (FRER) 5 )| JAL JAL | OKAHND |HNDGAJ| 36,500 48% |+ H:36.900
x O JAL JAL | OKAITM | ITMGAJ | 37,700 54%
IZ3 [ JAL JAL | GAJHND [HNDOKA| 35400 50% |%::35800, £:37,300
)| JAL JAL | GAJITM [ ITMOKA | 37,100 55% |2 H:37.700
SR GIRER) =1lE |hHE (R R JTA JAL | OKAFUK | FUKSDJ 34,700 60% | :35,300, %:36.500, + H:37,000
JAL JAL | OKAITM | ITMSDJ | 36,500 55% | A KA:35.900, % H:39,700, £:35.600
[TE=E3 JAL JTA | SDJFUK | FUKOKA| 33,500 62% |£:36.500. £:35,000, H:36.700
JAL JAL | SDJITM | ITMOKA | 39,700 51% | +:39.400
AR GIRER) =/ [IhE (FRER) 5 JAL JAL | OKAHND |HNDKMQ| 36,600 53%
IMAFE JAL JAL _|KMQHND|HNDOKA| 36,600 53%
SR#E (GIRER) == 40 [hHE (GRER) 5 JTA JAL | OKAFUK | FUKKCZ 26.400 58%
ISk JAL JTA | KCZFUK | FUKOKA|  26.400 58%
SRR GIRER) =#AL [Sh#E (FRER) 5 JTA JAL | OKAFUK | FUKMYJ 24,600 59%
HALLISE JAL JTA | MYJFUK | FUKOKA| 24,600 59%
RRCHE) =BXAS| R CHE) JAL JAL | HNDKOJ| KOJASJ| 35900 53% | A:36,300, %:37,500
JAL JAL | HNDITM | ITMASJ | 32,100 56% | +:32,400, H:32,200
BERESR JAL JAL | ASUKOJ [KOJHND|  38.400 50% | H:38.800
JAL JAL | ASJITM [ ITMHND | 31,300 57% |+:30,900, H:31,000
RR(PB) =ERB|FR(HA) % JAL JAL | HNDKOJ | KOJKKX 29,000 63%
JAL JAL | HNDASJ [ ASUKKX | 23,700 66% | A H:26.300
ERBR JAL JAL | KKXKOJ [KOJHND| 37000 53%
JAL JAL | KKXASJ [ ASUHND | 17.300 75%
RR(PB) =#2B|R"R(HB) % JAL JAL | HNDKOJ | KOJTKN 37.400 54% | F:38.200, H:38.400
JAL JAL | HNDASJ [ ASJTKN | 45,600 38%
BeBE JAL JAL | TKNKOJ [KOJHND| 39,700 51%
R (FH) =4k RE[RR CHR) % JAL JAL | HNDKOJ| KOJOKE| 29,300 65% | H:29,500
hok RARSE JAL JAL | OKEKOJ[KOJHND|  30.900 63% £ H:31.300
FHR(PE)=5# KRB % JAL JAL | HNDKOJ | KOJRNJ 30.900 64% |1:31.300
55R%E JAL JAL | RNJKOJ [KOJHND| 30900 64%
KB (FFH =BEKRS| KR (F) F JAL JAL | ITMKOJ | KOJASJ 28,100 54% | K:28,500, %:31,000, H:29,000
TEXER JAL JAL | ASJKOJ | KOJITM 31,200 49%
KR (R =ERB| KM (G % JAL JAL | ITMKOJ | KOJKKX 19.200 70% _|£:20,900. H:20,400
JAL JAL | ITMASJ [ ASUKKX | 23,600 58%
ERBR JAL JAL | KKXKOJ | KOJITM | 32,100 49%
JAL JAL | KKXASJ | ASJITM | 22,000 61%
KR (R =B B KR (FFH) F JAL JAL | ITMKOJ | KOJTKN 31,000 53% | A H:31.800
BeBE JAL JAL | TKNKOJ | KOJITM | 33400 50%
JAL JAL | TKNASJ [ ASJITM | 19,100 69%
KR (75 =k B E8 | KR (R FD % JAL JAL | ITMKOJ | KOJOKE| 20900 70% |£:22,200, H:22,600
ik BERSE JAL JAL | OKEKOJ | KOJITM 24,600 65%
KB (D=5 [ARUE % JAL JAL | ITMKOJ | KOJRNJ 23,100 68% |£:24.400, £:23,500, H:24.000
JAL JAL | RNJKOJ [ KOJITM | 23,000 68%
BE=EXXE JAL JAL | FUKKOJ | KOJASJ 8,900 83% |7kAR#£ H:9.400, 1:9.900
JAL JAL | ASJKOJ | KOJFUK | 27,300 47%
BE=ERE JAL JAL | FUKASJ | ASUKKX | 20.400 60%
JAL JAL | KKXASJ [ ASJFUK | 19,500 62%
BE=EZE JAL JAL | FUKKOJ [ KOJTKN| 22700 60% | A +:23,500, kA £:23,100, B:23,900
JAL JAL | FUKASJ [ ASJTKN| 33,000 41% |+ H:33.900
JAL JAL | TKNKOJ | KOJFUK 27.700 51% | 7KA#£:28,100
JAL JAL | TKNASJ | ASJFUK 9,900 82%
RR(CREB) =5BE|FRCHR) % JAL RAC _|HNDOKA|OKAOGN|  43.100 50%
JAL RAC | HNDISG [ ISGOGN | 43,700 49% |+ H:44.500
EX =R RAC JAL | OGNOKA|OKAHND| 41,200 52%
RAC JAL | OGNISG | ISGHND | 43,700 49%
KR () =5 5E RAC JAL__|OGNOKA| OKAITM | 38,300 51% . £:37,000, H:39.400
JAL RAC | ITMOKA [OKAOGN| 38,300 51% |£:39,000, £:37,000. H:39,400
KR (FF) =5 3E JTA RAC | KIXOKA [OKAOGN| 38,300 51% |7k:39.400, % +:39,400, H:37.400
JTA RAC | KIXISG | ISGOGN| 36,000 51%
EX =R RAC JTA | OGNOKA| OKAKIX 38,300 51% |#£:39,000, £:37,000, H:39.400
RAC JTA | OGNISG | ISGKIX 38,300 48% |£:39,000, £:37,000, H:39.400
LZEE(PEH) =5HE|2HE (PR JTA RAC _|NGOOKA[OKAOGN| 40,400 52%
JTA RAC | NGOISG | ISGOGN | 40,500 49%
EX =R RAC JTA | OGNOKA|OKANGO|  40.400 52%
RAC JTA | OGNISG [ ISGNGO | 40,500 49%
i L= 5= G JTA RAC | OKJOKA|OKAOGN|  37.800 52% | A%:39.400
SMES RAC JTA | OGNOKA| OKAOKJ|  37.800 52% | A%:39.400
B =5BE BE% JTA RAC | FUKOKA | OKAOGN|  35.200 50% |+ H:35.400
SHMEF | RAC JTA | OGNOKA| OKAFUK| 31,100 55% | K:31,700, %:32,900, + H:33,400
hHE (FRER) = S IE [k GRER) JTA/RAC| RAC | OKAISG | ISGOGN 13,000 69% £+ H:13.200
EX =R RAC _[JTA/RAC[ OGNISG [ ISGOKA 13,000 69% |A£H:13,200




FRCRE) =AKE|HR CHE) %[44 GBE) | JAL |ITA/RAC| HNDOKA | OKAUEO| 34,100 46% |£1:34,600, H:34,200
AKEFE |48 GBE) [urare]  JAL [UEOOKA|OKAHND| 34,300 46% | A7k A:34.200, H:35.000
KR (D) = A K8 | KR (FFH) %[ 948 GBER) | JAL |JTA/RAC| ITMOKA | OKAUEO| 29,000 48% |£:30.900. £:31,300. H:29.100
AXES #8 GB#R) [oavuramac]  JAL  [UEOOKA[ OKAITM 36,100 35%
KB (A7) = A KB | KBk (BA78) % |48 (RF)| JTA [JTA/RAC| KIXOKA | OKAUEO 29,000 48%  [7K:30,500, 1,700, £:33,000, H:28,200
KEFE |4 GBER) [avurare]  JTA | UEOOKA| OKAKIX 28,200 49% [£:29,100, 1:27,100. H:31,200
AEE (FH) =AKS p#f) %[ 548 (IB¥A) | JTA |JTA/RAC|NGOOKA|OKAUEO| 31,500 48% | FH:32.100. £ H:31,900. +:32.600
38 GR¥R) [ararac]  JTA [UEOOKA[OKANGO[ 32,200 47% | H:32.600. A:32,300, %+ H:32,700
BE=AXE E @ (RH) | JTA [JTA/RAC| FUKOKA [ OKAUEO| 25,900 45% _|%:26,000, + H:26.200
AKEFE |8 GBE) [wurar]  JTA [UEOOKA| OKAFUK| 25,700 46% _|£:25,800, 1 H:26.000
FR (PE) =Rk |FRFECRE) f (KR (FEF | JAL JAL | HNDITM | ITMOKI 19,800 64% | 7:20,300. %:20,000, H:19.300
" JAL JAL | HNDIZO | 1IZOOKI 24,800 51% [ A 1:25.200
IRk [ RBRURF|[ JAL JAL | OKITM | ITMHND 31,700 43%
HE JAL JAL | OKIIZO | IZOHND | 25300 50% 226,000, £:25600. H:25,400
8 (RER) = R IR S RMR (R FD | JAL JAL | OKAITM | ITMKIJ 40,700 48%
% [ KREFD] JAL JAL | KIJITM [ ITMOKA | 39,500 49%
18R = LI T T %) HEES RCPA)| JAL JAL | FUKHND | HNDSPK| 41,300 52%
AREFTR E[RR(FHE)| JAL JAL | SPKHND | HNDFUK| 41,300 52%
2HE(PER) =Fk[4E <m%ﬁ>§ri‘ R CRIE) | JAL JAL _|NGOHND|HNDOBO| 31,700 55% |&+:31,800
HLE HE)| JAL JAL _|OBOHND|HNDNGO| 30,500 56%
ZEE (P =E)I|aEE (pi) %[ Rm (E) | JAL JAL _|NGOHND| HNDAKJ 31,800 55% |£:32,300. H:32,100
JEIE HE)| JAL JAL | AKJHND [HNDNGO| 30,600 57%
B =%imA A% CRE)| JAL JAL | TAKHND [HNDMMB| _ 46.100 47% _[%:46.200, 1:45.700. H:46.300
ESihES HE)| JAL JAL _|MMBHND| HNDTAK| 46,000 47% % H:46,200, £:45,000
mE=%im5| BB CRE)| JAL JAL | TKSHND [HNDMMB| _ 44.100 49% 43,400, H:44,200
ESiES HE)| JAL JAL _|MMBHND| HNDTKS| 44,100 49% |3 00, £:43,300
K==l ARH CRA)| JAL JAL | OITHND |[HNDMMB| _ 23.400 75% |2+ H
i Bl 3¢ CRA)| JAL JAL _|MMBHND| HNDOIT 23.400 75% |3
R =%m5] RIG% CRE)| JAL JAL [ NGSHND [HNDMMB| 23,900 76% |4
i B 3¢ CREA)| JAL JAL _|MMBHND|HNDNGS| 23,900 76% |3
REA=%im5 REAR CRE)| JAL JAL | KMJHND [HNDMMB| 23,900 75% |4
i Bl 3¢ CRA)| JAL JAL _|MMBHND| HNDKMJ| 23,900 75% |4
B =% w5 e CRE)| JAL JAL | KMIHND [HNDMMB| 23,900 75% |4
2 i B ¢ CRA)| JAL JAL _|MMBHND| HNDKMI 23900 75% |4
ERE=%i%5 ERER CRE)| JAL JAL | KOJHND [HNDMMB| 23,900 76% |4
i Bl ¢ CRA)| JAL JAL _|MMBHND| HNDKOJ| 23,900 76% |4
ER=EXKE TR CRE)| JAL JAL [ AOJHND [ HNDASJ|  29.400 69%
BEXER CRE)|  JAL JAL | ASJHND [HNDAOJ| 22,600 76%
ME=EXXE ES CRE)| JAL JAL | AXTHND [ HNDASJ| 33,600 62%
BERER CRE)| JAL JAL | ASJHND [ HNDAXT| 28,500 67%
IMA=EEXE INEASE CRE)| JAL JAL _[KMQHND| HNDASJ|  31.300 63%
EEPNCE CRE)| JAL JAL | ASJHND [HNDKMQ| 24,900 70% _[£:25,000, F H:24.300
B =HIE EHASE CRE)| JAL JAL | TAKHND [HNDKUH| 45,200 46% | % H:45.300, 1:44.700
BIERSE HE)| JAL JAL | KUHHND [ HNDTAK| 45,100 47% % H:45300, £:44,100
EE=2I% EmER CRE)| JAL JAL | TKSHND [HNDKUH| 43,200 49% | +:42.400
BIERSE HE)| JAL JAL | KUHHND [ HNDTKS | 43200 49% |%:43300, 1:42,400
R =HIEk A% CRE)| JAL JAL | OITHND [HNDKUH|  22.400 76% | 2
BIERSE CHE)| JAL JAL | KUHHND | HNDOIT | 22,400 76% |4
RE=4I% EIE% CRE)| JAL JAL [ NGSHND[HNDKUH| 22,900 76% |4
BIERSE HE)| JAL JAL | KUHHND [HNDNGS| 22,900 76% |4
REA=HI% AR CRE)| JAL JAL | KMJHND [HNDKUH| 22,900 75% |4
HIERSE HE)| JAL JAL | KUHHND [ HNDKMJ| 22,900 75% |4
EE=4I% EEES CRE)| JAL JAL | KMIHND [HNDKUH| 22,900 75% |4
FlEE3 HE)| JAL JAL | KUHHND | HNDKMI | 22,900 75% 4
ERE=8I% ERER CRE)| JAL JAL | KOJHND [HNDKUH| 22,900 76% |4
BIERSE FE)| JAL JAL | KUHHND [ HNDKOJ| 22,900 76% |4
LRB=%k NEES CRE)| JAL JAL | HIJHND [HNDOBO|  43.800 49% 7]
=% HE)| JAL JAL _|OBOHND| HNDHIJ | 44,200 48% %
BR=%k [N CRE)| JAL JAL | TAKHND [HNDOBO| 44,500 47% 7]
% HE)| JAL JAL _|OBOHND|HNDTAK| 44,000 47% %
BE=FK e CRE)| JAL JAL | TKSHND [HNDOBO| 42,500 49% 7]
HIRSE HE)| JAL JAL _|OBOHND|HNDTKS| 42,100 50% |4
Aa=%Ik A% CRE)| JAL JAL | OITHND [HNDOBO| 22,000 76% |4
% GHE) | JAL JAL _|OBOHND| HNDOIT | 22,000 76% |4
RIBE=%FK U 5 CRE)| JAL JAL [ NGSHND [HNDOBO| 22,500 76% |4
% CHE)|  JAL JAL _|OBOHND|HNDNGS| 225500 76% |4
BA=FK AR CRE)| JAL JAL | KMJHND [HNDOBO| 22,500 76% |4
w3 CRA)| JAL JAL _|OBOHND|HNDKMJ| 22,500 76% |3
BB=FK ELES CRE)| JAL JAL | KMIHND [HNDOBO| 22,500 76% |4
R 3 CRA)| JAL JAL | OBOHND| HNDKMI 22,500 76% |3
ERBE=%k ERER CRE)| JAL JAL | KOJHND [HNDOBO| 22,500 76% |4
HIRSE HE) | JAL JAL _|OBOHND|HNDKOJ| 225500 76% |4
JEVTESE=TN JENIES CRA)| JAL JAL | AKJHND | HNDTAK| 43,500 49% |4
BINE HE)| JAL JAL | TAKHND | HNDAKJ| 44,400 48% |5
T B CRE)| JAL JAL | HKDHND [ HNDTAK| 40,000 47% |3
BINEE HE)|  JAL JAL | TAKHND [ HNDHKD| 40,600 46% | £:40,900, + H:40,700
HEE=HE EAESE (FE)|[ JAL JAL | HKDHND | HNDTKS| 38,100 49% +:38.200. £:38,400, H:38.900
BEZE CHE) | JAL JAL | TKSHND [HNDHKD| 38,600 49% | H:38,900
FHR(PE)=RR KRB % HiE JAL JAL | HNDHKD | HKDOIR 25,200 55% |7kA+ B:25,600
S 5 JAL JAL | OIRHKD [HKDHND| 25,300 55% [A+:25.700, %:25,500, H:25.900
SPGB =1EE [MEGRE) R EM JTA JAL | OKAFUK| FUKTKS | 29300 55%
& 15 JAL JTA | TKSFUK | FUKOKA| 25300 61% | £:26.400, & H:26,800




BI=%5 EIE JAL JAL | AKJHND | HNDTKS | 42,200 50% [#::42,300., £:41,400
JAL JAL | TKSHND [ HNDAKJ | 42,400 50% | £::42,700, £:42.200, H:42,500
BII=X% JAL JAL | AKJHND | HNDOIT | 21,400 (IERE
JAL JAL | OITHND | HNDAKJ| 21,400 7% |4
IR (BB =RR JAL JAL | OKDHKD | HKDOIR 17.600 53%
| BufE JAL JAL | OIRHKD [HKDOKD| 17,600 53%
ElEEE LR (35| JAL JAL | KUHOKD [ OKDHKD|  20.200 54%
LIR(E¥ | JAL JAL | HKDOKD | OKDKUH| 20,200 54%
BIEE==R LIR(EZ | JAL JAL | KUHOKD | OKDMSJ| 19,700 61%
LIR(E¥ | JAL JAL | MSJOKD | OKDKUH| 24,200 52%
FIR=EafE LR (E3)|  JAL JAL | RISOKD |OKDHKD| 18,200 61%
[ALIE (3| JAL JAL _|HKDOKD | OKDRIS | 18,200 61%
FIR =4I LIR(E3)|  JAL JAL | RISOKD | OKDKUH|  17.100 66%
LIR(E¥ | JAL JAL | KUHOKD | OKDRIS | 21,400 57%
ZIR=FF (3| JAL JAL | MSJOKD | OKDRIS 20,900 60%
ERE=18JI RCPA)| JAL JAL | KOJHND | HNDAKJ 21,900 ITRE 2,900
RCAE)| JAL JAL | AKJHND [ HNDKOJ| 21,900 7% 4 2,900
Rl =181l FE) | JAL JAL | NGSHND | HNDAKJ| 21,900 7% |4 2,900
L JAL JAL | AKJHND [HNDNGS| 21,900 7% |4 2,900
REA=1BII JAL JAL | KMJHND [ HNDAKJ | 21,900 7% |4 22,900
JAL JAL | AKJHND [ HNDKMJ| 21,900 7% |3 2,900
EEEE JAL JAL | KMIHND [ HNDAKJ| 21,900 7% |3 2,900
JAL JAL | AKJHND | HNDKMI | 21,900 77% |%+ H:22,900
FR(PHE)=XE [RKFCHRE)$ JAL JAL | HNDKMJ | KMJAXJ 38.200 32%
REF JAL JAL | AXJKMJ [KMJHND | 38,200 32% [7K:38,000, £:38,000. H:38,600
GRS JAL JAL | HNDFUK | FUKAXJ | 51,000 18%
RES JAL JAL | AXJFUK | FUKHND | 38,600 38% | /7K:38,400. A:38,700, % H:38,900. £:38,000
KB (FFH =XE [ARUFEH % JAL JAL | ITMKMJ | KMJAXJ 32,700 18%
RES JAL JAL | AXJKMJ | KMJITM | 32,700 18%
JAL JAL | AXJFUK | FUKITM | 19,900 55%
IR G =RE AR F TR % JAL JAL | SPKFUK | FUKAXJ 60.600 24% |+ H:63400
RES JAL JAL | AXJFUK | FUKSPK | 47,100 41% | +:49.900
BERE=/TKRE| EEABSR JAL JAL | ASJTKN [ TKNOKE|  11.900 60%
ok RARSE JAL JAL | OKETKN | TKNASJ 11,900 60%
BEZB=RBH) | BB JAL JAL | TKNOKE | OKEOKA| 15,600 58%
S IR 5 JAL JAL | OKAOKE | OKETKN| 15,600 58%
RRCPB) =#FB[HR(HR) % JAL JAL | HNDKOJ | KOJTNE 29,000 54% | 7K:30,000, % H:31,000, 1:33,000
BYREX JAL JAL | TNEKOJ [KOJHND| 29,000 54% | A:30,000, £ H:31,000
RR(PB) =BAB|H=R(HB) % JAL JAL | HNDKOJ|KOJKUM| 33,000 49% | A:34,000, % H:36,000. £:35,000
EAB% JAL JAL | KUMKOJ|KOJHND | 33,000 49% | H:35000, &
KR (R =BAB|XR(FFD) F JAL JAL | ITMKOJ [KOJKUM| 27,000 46% | A H:28,000,
EAB% JAL JAL | KUMKOJ| KOJITM | 27,000 46% | H:29.000. £ 1:28,000. H:31,000
=EBA5 JAL JAL | FUKKOJ [KOJKUM| 16,000 60% |AH:17.000, £:18,000, £:19.000
JAL JAL | KUMKOJ| KOJFUK | 20,000 50% | /:23,000, % +:21,000, H:24.000
BE=ETE JAL JAL | FUKKOJ [ KOJTNE| 15,000 61% |#£:15500, H:17.000
JAL JAL | TNEKOJ | KOJFUK| 17,000 56% |2 H:18,000
LEE=1BII JAL JAL | HIJHND | HNDAKJ| 44,000 49% |%:44,500, 1:43,900. H:44,200
JAL JAL | AKJHND | HNDHIJ | 44,300 49% |%:44,500, 1:44,100, H:44,200
BIL=E JAL JAL | MYJFUK | FUKKMI | 24,400 51%
JAL JAL | KMIFUK | FUKMYJ| 24,700 51%
WOABR) =FExXE| EEAEEK | 5 JAL _[JAL/RAC| ASURNJ [RNJOKA [ 17,550 58%
BR = BERFE [FIEER] JAL JAL | OIROKD [OKDHKD| 18,000 58% |+ H:15,000
BfER  [FIR(EE)| JAL JAL _[HKDOKD | OKDOIR 18,000 58% |+ H:15.000
5% | (R%) [JAL/RAC| JAL | RNJOKA | OKAASJY 15,100 67%
*EF I JAL JAL | TSINGS[NGSHND|  26.300 59% |7K:25.100. &:26,700,
[ JAL JAL | TSJFUK [ FUKHND | 27,600 55% |7K:26,200, 7:29,100.
"R CAE)E|__EB JAL JAL | HNDNGS| NGSTSJ| 26,300 59% |7K:25.100, 7:26,700.
[ JAL JAL | HNDFUK | FUKTSJ | 27.600 55% |7K:26,200, 7:29,100. H:29,400
HR(FH) =28EI| BRI R JAL JAL | FUINGS [NGSHND| 25,000 60% |7K:23.700. 4
(eI JAL JAL | FUJFUK | FUKHND | 30,200 54% :30,300. 7 2,400, £:33,000, £:33,100. H:34,600
RRCABE) [ __RIG JAL JAL _|HNDNGS| NGSFUJ 25,000 60% |7K:23.700, £ 4,600, B:26.200
[l JAL JAL | HNDFUK | FUKFUJ | 30,200 54% | A:30,300. 7K:30,400. A:32,400, £:33,000, +:33,100, H:34,600
R (HE) =FIK E6E3 R JAL JAL | IKINGS [NGSHND| 23,000 62% |7K:22,100, %:21,800, H:24,600
RRCRE) R Rk JAL JAL _|HNDNGS| NGSIKI 23,300 61% [7K:22.300, A% +:23.400, H:23,500
AR (BFH =3 5% R R JAL JAL | TSUNGS | NGSITM 20,400 58% |H £ H:21.700, 7K:21,600. K:21,500, £:21,600
[l JAL JAL | TSJFUK | FUKITM | 21,000 51% [H:21,600, k:19,700, A #:21,100, £:20,700, H:21,200
AR (R [ RIG JAL JAL | ITMNGS | NGSTSJ 20.400 58% |H £ H:21.700, 7K:21,600. K:21,500, £:21,600
[l JAL JAL | ITMFUK | FUKTSJ | 21,000 51% [H:21,600, k:19,700, K #:21,100, £:20,700, H:21,200
KR (D) =EBEI| ABEIR 1B JAL JAL | FUJFUK | FUKITM 21,700 54% | Ask£+ H:23.100. A:23.800
Rk JAL JAL | FUUNGS | NGSITM | 17.800 61% | H:18,600, 7K:18,100, £ H:18,100
AR (R %[ 1ER JAL JAL | ITMFUK | FUKFUJ 21,700 54% | Bsk%£+ 0:23.100. K:23,800
Rk JAL JAL | ITMNGS | NGSFUJ|  17.800 61% | F:18.600, 7K:18,100. £ H:18,100
KB (5 =E % TIFF R JAL JAL | IKINGS | NGSITM 15,800 64% | H:16.600. 7K:16,500, A £:16.200, £ H:16,500
KREFME] £B JAL JAL | ITMNGS | NGSIKI 16,100 63% | /:16,900, 7K:18,800, A:17.700, %:18,800. +:19,100. H:18.400
e ot B ¢ & JAL JAL | TSJFUK | FUKTKS 22,200 52% | H:23,600, 7K:22,300, A%+ H:23,300
[ JAL JAL | FUJFUK | FUKTKS | 22,800 55% | H:24,400
[ JAL JAL | TSJFUK | FUKMYJ| 20,350 51%
[ JAL JAL | FUJFUK | FUKMYJ| 22550 51%
[ JAL JAL | TSJFUK | FUKKCZ | 22,150 51%
[l JAL JAL | FUJFUK | FUKKCZ | 24,400 51%
1B JAL JAL | TSUFUK | FUKHNA| 26,600 63% | H:22,900., 7k:24,300, A +:28,100, %:28,700, H:25,000
1B JAL JAL | FUJFUK | FUKHNA| 23,000 70% | B7kA£:20.700, £:21,300, H:24.400
1af JAL JAL | TSJFUK | FUKKOJ | 18,000 54% | F:16.600. 7K:18,400, K %:22,200. +:18,800, H:17,000
1B JAL JAL | FUJFUK | FUKKOJ 14,400 67% |JKA% H:14,800, £:15.200
[l JAL JAL | TSJFUK | FUKIZO | 23,100 51%
& JAL JAL | FUJFUK | FUKIzOo | 25300 51%
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